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2.2

2.3

L7V

4.2

RESTRACT

THIS PROGRAM TESTS THE RM?Q IN TWE PDP11-7Q0 SUBSYSTEM.

IT USES ANY WORKING RM70 PERIPMERAL COINECTED TQ THE RH7O

UNDER TEST. 1T CAN TEST UP TG FOUR RH70S CONNECTEL M THE

égﬁ??ST M. FoTHOUGH T PERIPHEBQS CCNNECTEDC IS USEC, THE
PHERRL Is NOT TESTED By THIS PROGRAM.

REQUIREMENTS
EQUIPMENT

POP11-7C COMPUTER WITH CONSOLE TELETYPE, AND ANY ONE OF THE
mm%mwmswmnmgmwﬁymmw@.

THE PERIPHERAL M(ST BE COMPLETE AND WORKING. P#OR EXAMPLE
TUE RPO4,RSC3, RSCH MUST HAVE A SCRATCH PACK ON IT.

THE TU MUST HAVE R SCRATCH TRPE.

STORAGE
THIS PROGRAM HRS 16K WORDS CF MEMCRY.
PRELIMINARY PROGRAMS

Aol POP11-7C CPU DIAGNOSTICS MUST BE RUN ERRCF FREE BEFCRE
THIS DIAGNOSTIC IS RUN.

LoADING PROCEDURE

USE STRANOMRD LORCING PRUCECURES FCR .BIN TRPES.
STARTING PROCEDURE

OPERATIONAL SWITCH SETTINGS

SWITCH USE

15 HALT ON ERROR

14 LOOP ON TEST

i3 INHIBIT ERROR TYPEQUTS
11 INHIBIT JTERATIONS

13 BELL ON EPRCR

9 LOOP ON ERROR

8 LOOP ON TEST IN SWR¢?7:O»

STARTING RCDRESS

START AT ADDRESS 200 --- FOR STANDARD RH7Q.
START AT ADDRESS 210 =-- FOR NONSTANDARD RH7O.
STARTING ACORESS 310 SMOULD BE USED TO TEST

ANY CHE RH INSTERD CF ALL THE RM GIVEN BY 20G START
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4.2 PROGRAM AND-OR OPERATOR ACTION
BEFORE STARTING THE Pnocnnn MAKE SURE THAT THE MAGNETIC
MEDIUM IS °ROPERLY POSITIONED:

1.1 TUl6 - MAGTAPE MUST BE AT LOAD PCINT.

2.) RP - HERDS MUST BE IN HOME PCSITION.
ON STARTING FROM 210 OPERATCR MUST CHOCSE BETUEEN THE SW?0 PERIPHERALS
AND TYPE THE BASE RCDRESS OF ANTY OR ALL OF THE PERIFHERALS
CONNECTED TJ THE RH7O.
OPERATING PROCEDURE
.1 OPERATIONAL SWITCH SETTINGS

SEE SECTION 4.!

5.2 SUB-ROUTINE ABSTRACTS

SEE SECTION 9 “SUBROUTINES™

) ERRORS

E.l ERROR MALTS AND DESCRIPTION

ON DETECTION OF AN ERRCR THE PROGRAM WILL PRINT ALL RELEVENT

INFORMATION AND THEN PRICEDE RCCORDING TC THE SWITCH SETTINGS
SIVEN IN 8.1, IF ALL SWITCHES ARE COWN THE PRCGRAM WJIL. CONTIMLE.

o'—.;a:;:—;{m. opsps
p ] M)
PN ST A S R

QLK)
0

tn  wn

P40-0peh sP0pafabittabatiPspabobiboPtpabap o
mmmmmmmngwo Pt Pt § = ot Bt Pt Pt Pt
~JoMnL -t D MU £ LITU-- )




-— —— —— -

. a— -

EOL

MRINCEC-1]1-DERMRS-R MACYLL 27(732) 22-SEP-7¢ 1S:11 PRGE &

OERNHRB. SR

Cro-e

VIV IOVININ I NIRRT
N L Wit (ch

w-I

- ."'-‘.—‘H.—.."—-H.—"‘H.—.
538
O

rapsbopsp op-
-l:é.‘-l- ol o o
ar Ut L Wwiue—

—
-

DOCUMENT
FRRRRRPRRBRNRE

MAINDEC-11-DERHRB-R
ERERRERHERERER

L S Y S e Y I Y W Sy ST Sy Sy O T Sy SPT Sy S Py
Laploplogloaloplo aliali pd U [UaIN ¥ )

~N

COPYRIGHT 1975, 1978
DIGITAL EQUIPHEN% CIRPORATION
MAYNARD, MRSS. 01754

(d'l”-*(:hﬂg ~J0'UN L W00 ﬂmm&"w}ﬂ%fnﬁ ~}

b otapa
NN
N =




MRINDEC-] 1 -DERMAB-N
OERHRB. SRC

A

{gtg{utuo—-.;;wwt—-rawﬁ— O-‘H&-HPOO-O-HO-D-MD-.:-:-:-
- BRI R 8 BB RAROREB 33 1A

A IAAY
D(RD
NN e

v
Q00O
0

oo
LSl 2ad d cnd anud snd Snd sud ond oo
OO O U L WU

e~ -

MRCYL1 27 (?32)

FOI

22-SEP-76 15:11 PRGE 7

13

2 COPYRIGHT (C) 1975, 1976
DIGITAL EQUIPMENT LORP.
MAYNARD, MASS. 01754

THIS PRCGRAM WAS ASSEMBLED USINC THE POP-11 MAINDEC SYSMAC
PRCKAGE (MAINCEC-11-DZOAC-AY).

****i*i*i****!*il***i**ii**l*i!*i***i*****l****!!!ii*!il**iii!ii!

OPERRTIONAL SWITCH SETTINGS
!*l!**l*l*i*!!i*lQ*i***i*i*li**i*ii*i*!i*i{**i*i*li!****iii!i*ii*

14

SWITCH USE
1S HALT ON ERROR
© 1M LOCP ON TEST

3 INHIBIT ERROR TYPEOUTS

1 INHIBIT ITERRTIONS

v BELL ON ERROK

9 LOOP ON ERROR

8 L00P ON TEST IN SNR(7:?>

7 STOP FURTHER COMPRRES IF SWO8 IS LOW
& TYPE ALL REG. WITH ERROR IF SW8 LOM

RRRRREERERELLEERRRFERRERLXERLRERRLERERFRFRERRFRAEERLELH R ERER 4R

BASIC DEFINITIONS
FRERERERRARESRERIRERRERERL R RRRERERRER R R RS IR R B RRRRRIRFR

c9 INITIAL RDDRESS OF THE STACK POINTER #¥# 1000 *##
40 MISCEL_ANEQUS DEFINITIONS

46 GENERAL PURPQSE REGISTER OEFINITIONS

S8 PRIORITY LEVEL DEFINITIONS

68 "SWITCH REGISTER™ SWITCH DEFINITIONS

9% DRTA BIT DEFINITICONS (BITOQ TO BITIS)

124 BRSIC “CPU"™ TRRP VECTOR RDDRESSES

wl
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133

146

160

199

- ——

REERRRREREEEEREREERERERERREREERREERRERRRRREAFERRRESERELE LS ERR

TRAP CATCHER
FHEHERHR R RN RIS HIRRR RN IRE S CARRLBR SRR B S

142 ALL UNUSED LOCATIONS FROM ¥ - 776 CONTAIN A ".+2 ,HALT"
SEQUENCE T0 CATCH ILLEGAL TRAPS AND INTERRLPTS
LOCRTION O CONTRINS O TO CATCH IMPROPERLY LOARDED VECTORS

ERERERRRRFEREFERREERLERREERRELREREEEEEREXEEEHEREEEEEEREEEEEEEEE S

STARTING ADORESS(ES)
EREFEREERIFRERRREERERFRERRRRFRRRERREFERRERRRERF RIS RRRRF AR IRERRAAR

182 STARTING ACCRESS 200 FOR NCRMAL STRRTS
THIS WILL TEST ALL RPO4'S ON THE SYSTEM A SINGLE ORIVE AT A TIME

STARTING RDDRESS 210 WILL TEST ONLY ONE SPECIFIED CRIVE

STARTING ADDRESS 220 WILL JUMP OVER THE TESTS REQUIRING AN OPERA
AT THE DRIVE

3309036 40 56 3 90 3830 30 30 36 366 38 36 36 36 30 36 353 30 38 36 96 36 36 36 30 6 30 3 30 30 3046 36 06 0 06 0 36 06 6 90 36 36 30 30 30 3 0 36 36 3 30 3 4 2

MEMORY MANRGEMENT DEFINITIONS
I R T A AR s I TSRS 2R SRR SR 22T AE T EEEE S

162 KT1l VECTOR RDDRESS

166 KT1l STATUS REGISTER ADDRESSES

173 KERNEL "I" PRGE CESCRIPTOR REGISTERS

184 KERNEL "I™ PRGE RDORESS REGISTERS

P NENEPPEPEPESIPI RPN SF FUPI

COMMCN TAGS
RH R AR EIE NI ISR NI IR 3023

20! THIS TRABLE CONTRINS VARIQUS COMMON STORAGE LCCATIONS
USED IN THE PROGRRM.
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252

15887

1834

EREERRERRERERERERRRRRRRRRPRERERERRRRIRERER SRR ERERRRRERE LR R AR SRS B

ERROR POINTER TABLE
FERERRERRERIREAHERRRBRIIRRIRERRRES HRRARHER AR RRRERRHRERAEREREFIRY

254 THIS TABLE CONTAINS THE INFORMATION FOR EACH ERROR THAT CAN OCCU
THE INFORMATICN IS OBTARINED BY USING THE IMDEX NUMBER FOUND IN
LOCATION SITEMB. THIS NUMBER INDICATES WHMICH ITEM IN THE TABLE I
NOTELl: IF SITEMB IS O THE ONLY PERTINENT DRTA IS (SERRPC).
NOTE2: ERCH ITEM IN THE TRBLE CONTRINS 4 POINTERS EXPLAINED AS

260 EM ; sPOINTS 7O THE ERROR MESSAGE
CH ; :POINTS TO THE DATA HEADER
[r ,,POINTS T0 THE DATA
oF ; POINTS TO THE DRTR FCRMAT
263 B A U R

FRERERLFRAREFREXXERLERRRRLEEHREXEREEEEEEEEEEEEEEEEEEEEFEEEER$EE R

REGISTER APMDRESSES
FREREFEREEEEREETIREEIEEERRRERERRRERRRRRHR R ERREEEREF R AR ERREEREFR

EREERREXREEERLEFRREEREXLREEREEREREXELEREREEEEREREXEREEREEEREHERLF

REGISTER TEST
EEREHEEIEFREEEEREREERRRRERERFRRERERERRE AR RERRRRRREERREERE R R AR LR

1899 TEST | SIZE FOR RH DEVICES .
THIS TEST DETERMINS WHICH RH DEVICE IS CM THE SYS™ .
IF THE SYSTEM HRS MORE THAN ONE RH DEVICE THEN ONLY CNE
THE DEVICES WILL BE USED IN THE FOLLOWING TESTS.
THE ONE THRT WILL BE USED IS THE FIRST ONE THRT IS PRESE
ég THE FOLLOWING LIST

RP
™

THE WAY THE TEST WORKS IS AS FOLLOWS:-

A REFRENCE IS MADE TO THE CUNTROL AND STATUS REGISTER I
FOR THE RS BY A TST INSTRUCTION. IF IT RESPONDS THEN IT
ASSUMED PRESENT AND THE LOCATIONS FOR THE 1.0 REGISTERS
FILLED WITH THE APPROPIATE ADDRESSES.

THEN THE DRIVE TYPE RESISTER IS CHECKED TO HAVE GOOD

IF THE TST INSTRUCTION TRAPS TO A NON EXISTANT VECTOR
THEN A SIMILAR ATTEMPT IS MADE TO A RP CONTROL AND STATU
REGISTER 1.

THEN A TH IS TRYED. )

THEN A MIXED SYSTEM WITH MORE THAN ONE RM DEVICS IS TRYE

2195 TEST 2 UNIT UNDER TEST

THIS TYPES THE UNIT 79 BE TESTED
AND IS THE FIRST TEST AFTER THE END OF THE PROGRAM
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30¢e TEST 3
2304
2383 TEST Y
2385
2460 TEST S
2462
2541 TEST &
2543

BIT 3ANG RMCS!

}ESAHEOQDANGIE¥ READING OF ALL POSCSIBLE BITS
USE A PRTTERN OF NQLKING 1 3 (1 2,4,10 ETC)

AND _WELKING 0’S (-2

IN THIS TEST SC'TRE'MCPE DVQ BITIE'BITIU ROY!GO BITS WIL
ANL RDV!CVA BITS WILL ALWAYS BE SET

AND BITICU 3ITS WILL ALWAYS BE CLEARED

IF SWITCH 14 OR 9 OR B ARE SET FOR DEBUGGING

THEN A_RH CLEAR (RHCS2 BIT #S) WILL BE

g%zggLTO RID SCOPE SYNCS ON THE CLEAR

BIT BANG RHCS2

TEST LOADING AND READING OF ALL POSSIBLE BITS
IN RHCS2_REGISTER.

USE A PATTERN OF uanxnc 175 (1,2.4,10 ETO
AND_WALKING 0°S_(-2,-3,-5 ETC

IN-THIS TEST 177745 BT1S WILL NOT BE MRITTEN INTO
AND_IR BITS WILL ALWAYS BE SET

IF SWITCH 14 OR 9 OR B ARE SET FOR DEBUGGING

THEN A_RH CLEAR (RHCS2 BTT ¥5) WILL BE

GIVEN TORID SCOFE 31NCS O THE CLEAR

BIT BANG RHCS3

TEST LOADING AND READING OF ALL POSSIBLE BITS
IN RHCS3 REGISTER.

USE A PATTERN OF WALKING 1°S (1,2.4.10 ETC)

AND WALKING 0°S (-2, -3,-5 ETC)

IN THIS TEST 177650 BItS WILL NOT BE WRITTEN INTO

AND 0 BITS WILL ALWAYS BE SET

AND BITQ'BITA'BITZ!'BITS!BITH BITS WILL ALWAYS BE SLEARED
IF SWITCH 14 OR 9 OR 8 ARE SET FOR DEBUGGING

THEN A RH CLERR (RHCS2 BIT ¥5) WILL BE

g%XEELTO AID SCOPE SYNCS ON THE CLEARR

BIT BANG RHWC

TEST LORDING AND REPDING OF ALL PJISSIBLE BITS
IN RHWC REGISTER.

USE R PRTTERN OF WALKING 1° S (1, 2,4,10 ETO)
ANC_WALKING 0’S (-2,-3,-5 ETC

IN THIS TEST 0 BITS WILL NOT BE WRITTEN INTC
AND 0 BITS WILL ALWAYS BE SET

IF SWITCH 14 OR 9 OR 8 RRE SET FOR DEBUGGING
THEN R RH CLEAR (RHCS2 BIT #5) WILL BE
§§§§2LTO AID SCOPE SYNCS ON THE CLESR

S .
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g;l 2818  TEST 7 BIT BANG RHBA
3r2 2620 TEST LOADING nno READING OF ALL POSSIBLE BITS
7 IN RHBA REGISTE
37 USE A PATTERN or uﬂLKING 1'S (1,2,4,10 ETC)
3? AND WALKING 0°S (-2,-3,-5 ETC)
376 IN THIS TEST O BITS ux(L NOT BE WRITTEN INTO
o7 AND 0 BITS WILL ALWAYS BE SET
3r AND BITDQ BITS WILL ALWAYS BE CLEARED
3; IF SWITCH 14 OR 9 OR 8 ARE SET FOR DEBUGGING
380 THEN A RH CLEAR (RHCS2 BIT #5) WILL BE
381 GIVEN TO RID SCOPE SYNCS ON THE CLEAR
ggg SIGNAL.
ggg 2693  TEST 17 BIT BANG RHBRE
388 2701 TEST LORDING AND READING OF ALL POSSIBLE BITS
387 IN RHBAE REGISTER.
388 'SE A PATTERN OF WALKING 1’S (1,2.4,10 ETC)
389 WND WALKING 0°S (-2,-3,-5 ETC)
33 IN THIS TEST 177700 ax?s WILL NOT BE WRITTEN INTO
391 AND O BITS WILL ALWAYS BE SET
233 AND 177700 BITS WILL ALWAYS BE CLEARED
333 IF SWITCH 14 OR 9 OR 8 ARE SET FOR DEBUGGING
394 THEN A RH CLEAR (RHCS2 BIT %5) WILL BE
335 GIVEN TO ARID SCOPE SYNCS ON THE CLEAR
ggg SIGNAL.
398 2784  TEST 11 SILO TEST 1 (ONE WORD WRITE)
339 AFTER A RH CLEAR IS SIVEN (SET BIT #5 IN RHCS2)
400 RHCS2 IS CHECKED 10 ans “IR" (BIT #6) HIGH
401 TOGETHER WITH UNIT NUMBER
:gg 8¢£”g859 OF ALL zsnos IS WRITTEN INTO RHDB
404 "JR" (BIT #7) IS WAITED FOR BY A TRAP INSTRUCTION
4085 CALLED “WAT™ (NC TIMING IS DONE)
406 HOWEVER IF "OR™ DOES NOT SET WITHIN "WAT* COUNT
407 DOWN AN ERROR 1S REPORTED
408 RHDB 1S READ AND CHECKED TO CONTAIN ZEROS
409 RHCS2 WILL BE CHECKED TO MAVE "IR™ AND UNIT NUMBER
410 QHCS ], RHCS3, RHBA, RHBAE, RHWC, WILL 3E CHECKED TO HAVE
:i% APPROPIATE VALUES
413 2973  TEST 12 SILO TEST 2 (ONE WORD WRITE)
414 AFTER A RH CLEAR IS GIVEN USET BIT 5 IN RHCS2)
415 . RHCS2 IS CHECKED TO HAVE “IR™ (BIT #6) HIGH
4 TOGETHER WITH UNIT ‘NUMBER
3&; ) 8¢E»§E§° OF ALL ONES IS WRITTEN INTO RHCB
419 — . “OR™ (BIT #7) IS WAITED FOR BY A TRAP INSTRUCYION
420 CALLED “WAT" (NO TIMING 3 DONE) X
421 HOWEVER IF “OR" DOES NC_ 3SET WITHIN "WAT" COl
422 DOMN AN ERROR IS REPORTED
423 _ RHDR IS READ AND CHECKED TO CONTARIN ALL JNES
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2B
4a7
Y

428
432
431
422
433
434
435
436
437
438
439
440
44]
442
443
Y4y
445
448
4y?
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3144
3146

3416
3418

3808
3810

KOl

RHCS2 WILL BE CHECKED TO HAVE “IR“ AND _NIT MUMBER
Rncaé RHCS3, RHBA, RHBRE ,RHWC, WILL BE CHECKED TO HAYE
APPROPIATE VALUES

TEST 13 SILO TEST 3 (TWO WORD WRITE)

AFTER A RH CLEAR IS GIVEN (SET BIT #5 IN RHCS2)
RHCS2 IS CHECKED TO HAVE “IR™ (BIT #6) HIGH,
TOGETHER WITH UNIT NUMBER

ONE WORD = 52525 IS WRITTEN INTO RHDB

RHCS2 IS CHECKED TO HAVE “IR™ AND UNIT NUMBER

A SECOND WORD = 12525 IS WRITTEN INTO RHOB

"OR" (BIT %7 IN RHCS2) 1S WAITED FOR BY A TRAP
INSTRUCTION CALLED “WAT"

RHDB IS READ AND CHECKED TO CONTAIN 52525 -

RHCS2 1S CHECKED TO HAVE "IR*, "OR” AND UNIT NUMBER
RHDB IS READ A SECOND TIME AND CHECKED TO

CONTAIN 125252

RHCS2 1S CHECKED TO HAVE "IR™ AND UNIT NUMBER

THEN ALL REGISTERS RHCSI, RMCS3, RHBA, RHBAE, RHWC
ARE CHECKED TO HAVE APPROPIATE VALUE

TEST 14 SILO TEST 4 (COUNT PRTTERN)

AFTER A RH CLEAR IS GIVEN (SET BIT #5 IN RHCS2)
RHCS2 IS CHECKED TO HAVE “IR"™ (BIT #5) HIGH, TOGETHER
WITH UNIT NUMBER

-§§$57Rﬁ8§05, A COUNT PARTTERN O THRU 7 IS WRITTEN

"OR" (BIT #7 IN RHCS2) IS WAITED FOR BY A TRAP
INSTRUCTION CALLED “WAT™

THEN RHCS2 IS CHECKED TO HAVE "IR™ LOW AND

“OR™ HIGH TOGETHER WITH THE UNIT NUMBER

I?ESTR¥?EE READ AND COMPARED TO HAVE THE RIGHT VALUE
THEN RHCS2, RHCS!, RHCS3, RHBA, RHBAE, RHWC ARE
CHECKED TO HAVE THE RPPROPIATE VALLE

TEST 1S SILO TEST S (FLORTING ONES)

AFTER ARH CLEAR IS GIVEN (SET BIT #5 IN RHCS2)
RHCS2 IS CHECKED TO HAVE "IR™ (BIT #6) HIGH,

TOGETHER WITH UNIT NUMBER

EIGHT WORDS, A PATTERN OF FLOATING ONES (l.2,4.10,20.40.
IS WRITTEN INTO RHDB

“OR" (BIT #7 IN RHCS2) IS WAITED FOR BY A TRAP
INSTRUCTION CALLED “WAT*

THEN RHCS2 1S CHECKED TO HAVE “IR™ LOW AND

"OR" HIGH TOGETHER WITH THE UNIT NUMBER

THEN_RHDB IS READ AND CQMPARED TQ HAVE THE

RIGHT VALUE AFTER EACH OF THE EIGHT RERDS.

THEN RHCS2 IS CHECKED TO HAVE “IR"
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4227 TEST 16
4229

4E49 TEST 17
4551

5070 TEST 20
5072

S074

AND UNIT NUMBER
THEN RHCS!, RHCS3, RHBA, RHBAE, RHWC ARE
CHECKED TO'HAVE THE APPROPIATE VALUE

SILO TEST & (FLOATING ONES IN UPPER BYTE)

AFTER A RH CLEAR IS GIVEN (SET BIT #5 IN RHCS2)
RHCS2 IS CHECKED TO HAVE "IR" (BIT #6) HIGH.

TOGETHER WITH UNIT NUMBER

EIGHT WORDS, A PATTERN OF FLORTING ONES IN UPFER BYTE
400, 1000, 2080, 4000, 10000, 20000, 40000, 180000

IS WRITTEN INto RHOB

“OR" (BIT #7 IN RHCS2) IS WAITED FOR BY A TRAP
INSTRUCTION CALLED “WAT*

THEN RHCS2 IS CHECKED TO HAVE "IR™ LOW AND

"OR" HIGH TOGETHER WITH THE UNIT NUMBER

THEN RHOB IS READ AND COMPARED TO JAVE THE

RIGHT VALUE RFTER ERCH OF. THE EIGHT RERDS.

THEN RHCS2 IS CHECKED TO HAVE "IR"

AND UNIT NUMBER

THEN RHCS!, RACS3, RMBA, RMBAE, RHWC ARE
CHECKED TO HAVE THE APPROPIATE VALUE

SILO TEST 7 (FLOATING O IN LOWER BYTE)

AFTER A RH CLEAR IS GIVEN (SET BIT #5 IN RHCS2)
RHCS2 IS CHECKED TO HAVE "IR" (BIT #8) HIGH,

TOGETHER WITH UNIT NUMBER

EIGHT WORDS OF FLOARTING ZERQS 177776, 177775, 177773,
177767, 177757, 177737, 177677, 177577

IS WRITTEN INTO RHDB

“OR" (BIT #7 IN RHCS2) IS WAITEC FOR BY A TRAP
INSTRUCTION CALLED “WAT*

THEN RHCS2 IS CHECKED TO HAVE "IR™ LOW AND

"OR" HIGH TOGETHER WITH THE UNIT NUMBER

THEN RHDB IS READC AND COMFARED TO HAVE THE

RIGHT VALUE AFTER EACH OF THE EIGHT READS.

THEN RH(CS2 IS CHECKED TO HAVE “IR"

AND UNIT NUMBER

THEN RHCS1, RHCS3, RHBA, RHBAE, RHWC ARE
CHECKED TO HAVE THE APPROPIATE VALUE

SILO TEST 8 (FLOATING ZEROS IN UPPER BYTE)

AFTER A RH CLEAR IS GIVEN (SET BIT #5 IN RHCS2)
RHCS2 IS CHECKED TO HAVE “IR™ {(BIT #6) HIGH,

TOGETHER WITH UNIT NUMBER
EIGHT WORDS, A PATTERN OF FLOATING ZEROS IN UPPER BYTE
177377, 177677, 175777, 173777, 167777, 167777, 137777,
IS WRITTEN INTO RHDB

“OR" (BIT #7 IN RHCS2) IS WRITED FOR BY A TRAP
INSTRUCTION CALLED “WAT*

THEN RHCS2 1S CHECKED TO HAVE “IR™ LOW AND
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5508
5510

5989
SS6!

TEST 21

TEST 23

"OR" HIGH TOGETHER WITH THE LNIT NUMBER
THEN RHDB és R§98 AND COMPARED Tg HAJE THE
RIGHT VALUE AFTER EACH OF TmE EIGHT RERDS.
THEN RHCS2 IS CHECKED TO HAVE "IR"

AND UNIT NUMBER

THEN RHCSL, RH2S3, RHBA, RHBAE, RHWC ARE
CHECKED TO'HAVE THE APPROPIATE VALLE

RHCS1 - MCPE BIT #13 (PARITY LINE = Q)

AN RH CLEAR (SET BIT #5 IN RHCS2) IS GIVEN TO
CLERR ALL DEVICE REGISTERS
;EESSRHERI (ERROR REGISTER 1, IS CHECKED TO HAVE

SET “PAT" (BIT #4 IN IHCS2) TC INVERT PARITY CHECKING
READ ANY DEVICE REGISTER - HERE RHERL

READ AND CHECK RHGS1 TO CONTAIN SC (BIT #15)

AND MCPE (BIT #13)

WRITE "I INTO TRE (BIT #14 IN RHCSI)

RERD RHCS1 SC, MCPE, AND RDY SHOULD BE SET

GIVE AN RH CLEAR (CLR - BIT #5 IN RHCS2)

CHECK RHCS1 TO HAVE RDY

CHECK RHCS2 TO HAVE CNLY IR AND LUNIT NUMBER
8EEBESRHCSB, RHBA, RHBAE, RHWC TO HAVE APPROPIATE

RHCS1 - MCPE BIT #13 (PARITY LINE = 1)

AN RH CLEAR (SET BIT #5 IN RHCS2) IS GIVEN TO CLEAR
ALL DEVICE REGISTERS

WRITE A ONE INTO DISK ADDRESS REGISTER ¢RHDA)

(IN TAPE DRIVES CALLED REGISTER)

SET "PAT” (RHCS2 BIT #4) THIS WILL INVERT THE PARITY CHE
READ RHDA AND COMPARE IT HAS ONE IN IT

THIS READING SHOULD SET SC, MCPE IN RHCS!

CHECK RHCS1 TO HAVE ONLY ROY SET

SHESESRHCSE. RHMCS3, RHBA, RHBAE. RHWC TO HAVE APPROPIATE

TEST DUPLICRTED R1b6 (RHCS1 BIT #8)

CLEAR THE SUBSYSTEM BY A _CONTROLLER CLEAR (RHCSZ2 BIT sS)
MOVE 400 (ONE INTQ Ql15) IN RHCSI

RERD RHCS1 TO CONTRIN 600 (BIT #8 AND RCY)

READ RHBRE TO CONTRIN "1™ (BIT 80 HIGH)

MOVE O INTO RHBAE (WRITING O INTO RM3RE BIT 80!
READ RHBRE T3 CINTARIN 3
RERD RHIS! TJ JONTAIN ONLY RDY (BIT #8 IN RHMCS1 IS ZERD)
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6079 TEST 24 TEST DUPLICATED A17 (RHCSI BIT #9,

608! CLESR THE SUBSYSTEM BY A CCNTROLLER CLEAR (RHCS2 8IT 05
FIVE 400 (ONE INTG AL7) IN RMCSI

RZAD RHCSL TO CONTAIN 1200 (BIT #3 AND ROY)

READ RABAE TO CONTAIN =2* (3IT . WIGH

MOVE C INTO RHBQE (NPIT;N’ 0 INTC RHBAE BIT sl
REAC RHBARE TO CONT
REAC RHWCSL TO ’ONTQIN ONLY RDY (BIT 89 IN RMCS! IS ZERO,

€199 - TEST 25 TEST DUPLICATED IE (RHCS1 BIT s6)
823i CLERR THE SUBSYSTEM BY A CJNTROLLER CLEAR (RMCS2 BIT S
MOVE 100 (ONE INTQ IE) RHCSI
READ RHCS1 TO CONTRIN 3 0 .8IT 86 AND RDY)
REAC RHCS3 TO CONTRIN =100 (3IT 86 HIGH)
MOVE O INTO RHCS3 (WRITING 0 INTO RKCS3 BIT a6

6208 READ RHCS3 TO CONTRIN 100
RERD RHCS1 TQ CONTRIN ONLY ROY (BIT st IN RWCS! IS ZERD)

£3i8 TEST 2& RMCS1 PROGRAM ERROR (PGE BIT sl10)

g2l U.EQR THE SJBSYSTEH B\ R_CONTROLLER CLEAR (RMCSZ 3IT oS8
SET UP FOR A 10 WORD WRITE
SET “G0™ (RHCSI BIT #0; TWICE IN TWC SUCIESSIVE
INSTRUCTIONS

THIS SHOULD SET, SC AND TRE IN RWCS!

ANC PGE_SHOULD BE SET IN RHCS2

RHCS3, ARE CHECKED

THE NUMBER OF WORDS ARE LARSE ENOUGH SO THAT AFTER
ONE_"BIS™ INSTRUCTION TO SET 30" IN RHCS)

THERE IS SUFFICIENT TIME TC GIVE ANOTHER “BIS™ INSTRUSTI

TG SET “GO" SEFORE THE FIRST “GC™ HAS TIME TO COMPLETE

E418 TEST 27 RHCS2 - BUS ACDRESS INHIBIT BIT a3
g7 CLERR THE SUBSYSTEM BY R CONTRCLLER CLERR (RMCS2 3I7 se®
SET UP FOR R 2 NORD WRITE FROM R BUFFER TAGGED “WRFRCM®

SEY BUS_RDCRESS INMIBIT RHVSE BIT #3 “pRl"
T THE END OF NRI E CHECK

RHC:l TC HRVE ONLY RD\ RND COMMRND

RH(S2 TO HAVE BRI

RMosd 70 MAVE O
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TEST 30

TEST 32

RMBA TO MRVE ADCRESS OF “WRFROM™
RHBRE AND RHWC TO MAVE ZERQS

NOW SET UP READ FCR THE SAME DATR WITH

BRI SET TO READ INTO R BUFFEF TRGGED "REINTC”
AFTER REARD CHECK

RHCS1 TO HAVE ONLY RDY AND COMMAND

RHCS2 TO HAVE BAI

RHCS3 TO HAVE

RHBR TQ HAVE ADDRESS OF “REINTC®

RHBAE AND RHWC TO HAVE ZEROS

CRTA IN REINTO BUFFER IS CHECKED WITH DRTA IN
WRFROM BUFFER

RHSC2 MOPE BIT 88 AND RMCS3 IPCKD BIT 80
CLEAR THE SUBSYSTEM BY A CONTRCLLER CLEAR (RHCS2 3IT S
SET IPCKG (RHCS3 BIT #0)

MOVE ALL 2EROS INTC RHDB ONCE

THIS SHOULD SET_TRE SC IN RHCSL

READ RHDB ONCE THIS SHOLLD SET MOPE (RHCS2 BIT 23) _
SHECK RHCS] FOR ROY (BIT s7), TRE (BIT s14), SC (SIT 8i5
“CILR* (RHCS2 BIT #5) IS GIVER

ALL ERRORS ARE CLERRED

CHECK RHCS1, RMCS2, RMCS3, RHMBR, RMBAE, RHWC

RHSC2 MDPE BIT 88 AND RHCS3 IPCK! BIT sl

CLEAR THE SUBSYSTEM BY A CONTRCLLER CLEAR :{RHCSZ BIT #5:
SET IPCKI (RHCS3 BIT sl

MOVE ALL ZERJS INTO RHOB ONCE

THIS SHOULD SET TRE SC IN RMCSI

READ RHDB ONCE THIS SHOULD SET_MDPE (RMCS2 BIT_#8)

SHECK RHMCSI FOR RDY .BIT 873, TRE (BIT #19), SC .BIT #i§
“oLR* (RHCS2 BIT #5) IS GIVEA

ALL ERRORS ARE CLEARED

CHECK RMCSI, RMCS2, RMCS3, RMBR, RHBAE, RHKWC

RHSC2 MDPE BIT 88 AND RHCS3 IPCk2 BIT #2
CLEAR THE SUBSYSTEM BY A CONTROLLER CLEAR (RHCS2 BIT S5)
SET_IPCKZ_(RHZS3 BIT #2) _

MOVE ALL ZEROS_INTQ RHDB_TWICE

THIS SHOULD NOT SET TRE SC IN RHCSL

READ RHDB ONCE THIS SHIULD SET_MDPE (RHCS2 BIT #3)

CHECK RHCS1 FOR RDY (BIT #7), TRE .BIT #14), SC (BIT 8l5
READ RHDB A ssgono TIME. CHMELK RHCSI, RMCS2. RMCS3

“CLR” (RHCS2 BIT #5) IS GIVEN

ALL ERRORS ARE CLEARED

" CHECK RHCS!, RHCS2, RHCS3, RHBR, RHBRE, RRWC

TEST 33

RHSC2 MOPE BIT #8 AND RHCS3 IPCK3 BIT #3
CLEAR THE SUBSYSTEM BY A CONTROLLER CLEAR .RHCSZ BIT #5
SET_IPCK3_(RHCS3 BIT #3) _

MOVE ALL ZEROS INTC RHDB TWICE

THIS SHOULD NOT SET TRE SC IN RMCSI

READ RHDB ONCE "HIS SHOULD SET MOPE (RWCS2 BIT 3
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TEST 34

TEST 35

TEST 36

TEST 37

CHECK RHCS1 FOR RDY (BIT t7,} TRE (BIT sl4), SC r8I7 alS
PHRB A SE%ONO TIME. FHE K RHCSI RS2, RHCS3

"’L " (RHCS2 BIT #5) IS GIVEN

ALL ERRORS ARE CLEARED

CHECK RHCS1, RHCS2, RHCS3, RHBA, RHBAE, RHWC

RHCS2-WCE BIT #14 AND RHCS3-WCE OW BIT si2

CLEAR THE SUBSYSTEM BY A CONTROLLER CLEAR (RHCS2 BIT 5
WRITE NINE WORD OF ALL NINES ON TO THE DEVICE
SET UP 0 DO WRITE CHECK CN THAT WORD FROM AN
000 _WORD BOLNDARY

GO A ONE WORD WRITE CHECK WITH RHBR FROM AN
00D WORD BOLNDARY

THIS SHOULD SET WCE OM (RHCS3 BIT #12)

AND WCE (RMCSZ BIT #14)

"CLR® (RHCS2 BIT #5) IS GIVEN

ALL ERRORS ARE CLEARED

CHECK RHCS!, RHCS2, RHCS3, RHBA, RHBAE, RHWC

RHCS2-WCE BIT #14 AND RHCS3-WCE OW BIT #12

CLEAR THE SUBSYSTEM BY A CONTROLLER CLEAR (RHCSZ2 BIT #5S.
WRITE NINE WORD OF ALL NINES ON TO THE DEVICE
SET UP TO DO WRITE CHECK ON THAT WCRD FROM AN
C0D WORD BOUNDARY

DC R ONE LORD HRITE CHECK WITH RHBR FRCM AN
Q00 WORD BOUNDAR

THIS SHOULD SET NCE OW (RHMCS3 BIT sl2}

AND WCE (RHCS2 BIT #l4)

“CLR" (RHCS2 BIT #5) IS GIVEN

ALL ERRORS ARE CLERRED

CHECK RHCS1, RHCS2, RHCS3, RHBR, RHBAE, RHWC

RMCS2-WCE BIT #14 AND RHCS3-WCE EW BIT #il

CLERR THE SUBSYSTEM BY A CONTROLLER CLERR (RHCSZ2 8IT &5}
WRITE NINE WORD QF ALL NINES ON TO Tht DEVICE
SET UP TC DQ WRITE CHECK ON THAT WORD FROM AN
EVEN WORD BOUNDARY

00 A ONE WORD WRITE CHECK WITH RHBA FRCM AN
EVEN WORD BOUNDRRY

THIS SHOULD SET WCE EW (RHCS3 BIT #1!)

AND WCE (RHCS2 BIT #14)

“CLR™ (RHCS2 BIT #5) IS GIVEN

ALL ERRCRS ARE CLERRED

CHECK RHCS1, RHCS2, RHCS3, RHBA, RHBRE, RHUWC

RHCS2-WCE BIT #14 AND RHCS3-WCE EW BIT sll

|
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8349

BE8!
8583
85384

8634
8538

8808
8810

8921
8523

AR THE SUBSYSTEM BY A CONTROLLER CLEAR (RWCS2 BIT S,
TE NINE WORD OF ALL NINES ON YO THE CZEVICE

’ NUEOES 88 NBITE CHECK ON THAT WORD FROM AN

0O R ONE WORD HRITE CHECK LITH RMBR FROM AN

VEN WORD BOUNDAR

THIS SHOULD SET NCE EW (RHCS3 BIT 811}

AND WCE (RHCS2 BIT #i4)

"CLR" (RHCS2 BIT #5) IS GIVEN

ALL ERRIRS ARE CLEARED

CHECK RHCS!, RHCSe, RHC53 RHBA, RHBAE, RHWC

TEST 4O TEST DBL .RHCS3 BIT #10) TEST A
CLERR THE SUBSYSTEM BY R CONTROLLER CLEAR {RHCS2 BIT s£)

SET UP FOR A NINE WORD WRITE FRCM AN EVEN WORD BOUNDARY
DO A NINE WORD WRITE FROM AN EVEN WORD BOUNDARY

THIS SHOULD NOT SET RHCS3 BIT #10 DBL

CHECY RMCS3

CHECK RHCS!,RHCS2,RHBR, RHBRE, RHWC

TEST 41 TEST DBL (RHCS3 BIT s10) TEST 8

CLEAR THE SUBSYSTEM BY A CCNTROLLER CLERR (RHCS2 BIT
SET UP FOR A TcN WORD WRITE FRCM AN EVEN WORD BOUNCAR
DG A TEN WORD WRITE FRCM AN EVEN WORD BOUNDARY
THIS SHOULD SET RHMCS3 BIT 10 DBL . b

4

CLE
WRI
SET
EVE
D
EVE

5

CHECK RHCS3
CHECK RHCS!,RHCS2,RHBR, RHBRE , RHIC

TEST 42 TEST DBL (RHCS3 BIT sI0) TEST C

CLEAR THE SUBSYSTEM BY A CONTROLLER CLEAR 'RHCS2 SIT 5
SET JP FOR A TEN WORD WRITE FROM AN 00D WC=. BOUNDARY
B5 A"TEN WORC HRITE FROM AN 00O WCRD BOUNDREY

THIS SHOULD NOT SET RHCS3 BIT #10 DBL

CHEZK RHCS3

CHECK RHCSI,RHCS2, RHBA, RHBAE , RHKC

TEST 43 TEST DBBL (RHCS3 BIT #10) TEST O ?:

CLEAR THE SUBSYSTEM BY A CONTROLLER CLEAR (RHCS2 BIT #S)
SET UP FOR R ELEVEN WORD WRITE FROM AN EVEN WCRDC BCUNCAR
DO A ELEVEN WORD WRITE FROM AN EVEN WCRD BOUNCARY

THIS SHOULD NOT SET RHCS3 BIT #10 DBL

CHECK RHCS3

CHECK RHCS!,RHCS2,RHBR, RHBRE , RHUC
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9034

3036

9153
9185

8288
327C

938!
9383

3435
9497

9502
9608

TEST 44

TEST 45

TEST 46

TEST 4§47

TEST 83

TEST 51

TEST DBL (RHCS3 BIT #i0) TEST E

CLERR THE SUBSYSTEM BY A CCNTROLLER CLEAR (RHCSe BIT aS)
SET JP FOR A TEN WORD WRITE FROM AN EVEN WORDC BOUNCARY
WITH BRI IN RHCS2 BIT #3 SET

DO R TEN WORD WRITE FROM AN EVEN WORD BOUNDARY

THIS SHOULD NOT SET RHCS3 BIT #10 OBL

CHECK RHCS3 )

CHECK RMCS1.RHCSZ2, RHBA,RHBAE, RHWC

TEST DBL (RHCS3 BIT #10) TEST F

CLEAR ThE SUBSYSTEM BY A CONTROLLER CLEAR (RHCS2 BIT #5)
SET UP FOR R ELEVEN WORD WRITE FROM AN ODD WORD BOUNCARY
DO R ELEVEN WORD WRITE FROM AN ODD WORC BOUNDARY

THIS SHOULD SET RHCS3 BIT #10 DBL

CHECK RHCS3

CHECK RHCSI,RHCS2, RHBA, RHBAE ., RHUC

TEST DBL (RHCS3 BIT #10) TEST G

CLERR THE SUBSYSTEM BY A CONTROLLER CLEAR (RHCSZ BIT #S)
SET UP FOR A NINE WORD RERD FROM AN EVEN WORD BOUNCARY
DO A NINE WORD RERD FROM AN EVEN WORD BOUNDARY

THIS SHOULD NOT SET RHCS3 BIT #10 DBL

CHECK RHCS3

CHECK RHCS!,RHCS2,RHBA, RHBAE , RHIC

TEST DBL (RHCS3 BIT #10) TEST H

CLERR THE SUBSYSTEM BY A CONTROLLER CLERR (RHCSZ BIT sS!
SET UP FOR A TEN WORD READ FROM AN EVEN WORD BOUNDRRY
00 R TEN WORD READ FROM AN EVEN WORD BOUNDRRY

THIS SHOULD SET RHCS3 BIT #10 DBL

CHECK RHCS3

CHECK RHCS!,RHCS2,RHBR, RHBAE, RHIC

TEST DBL (RHCS3 BIT 810 TEST I

CLERR THE SUBSYSTEM BY R CONTROLLER CLEAR (BACS2 BIT #5)
SET UP FCR A TEN WCRD RERD FROM AN ODD WORD BOUNCSSY

00 A TEN WORD RERD FROM AN O0DD WORD BOUNCRRY

THIS SHOULD NOT SET RHCS3 BIT 810 DBL

CHECK RHCS3

CHECK RHCS1,RHCS2,RHBR,RHBAE, FHWC

TEST CBL (RHCS3 BIT #10) TEST J
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3510

9835
9837

9955
9357

10068
1007C

10181
12.83

TEST &2

TEST 53

TEST S4

TEST 55

TEST 56

CLEAR THE SUBSYSTEM BY R CONTROLLER CLEAR (RHCS2 BIT #S)
B T UP FOR A ShEVEN NORE RERD FROM AN EVEN WORDC SOUNDARY
ELEVEN W ERD FROM AN EVEN WORD BOUNDARY
THIS SHOULD NOT SET RHCS3 BIT #i0 DBL

CHECK RHCS3
CHECK RMCS1,RHCS2,RHBR, RHBAE, RHWC

TEST DBL (RHCS3 BIT #10) TEST K

CLERR THE SUBSYSTEM BY A CONTROLLER CLERR (RHCS2 BIT #5)
SET UP FOR A ELEVEN WORD READ FROM AN ODD WORD BOUNCARY
0O A ELEVEN WORC RERD FROM AN ODD WORD BOUNCARY

THIS SHOULD SET RHCS3 BIT »10 DBL

CHECK RHCS3

CHECK RHCS1,RHCS2,RHBA, RHBAE, RHWC

TEST DBL {(RHCS3 BIT #10) TEST L

CLERR THE SUBSYSTEM BY A CONTROLLER CLEAR (RHCSZ 3IT #S)

SET UP FOR A TEN WORD READ FROM AN EVEN WORD BOUNDARY

WITH BRI IN RHCS2 BIT #3 SET

DO A TEN WORD REQD FROM AN EVEN WORD BOUNDARY

THIS SHOULD NOT SET RHCS3 BIT #10 DBL

CHECK RMCS3

CHECK RHCS1,RHCS2.RHBA,RHBAE, RHWC >
N

TEST DBL (RHCS3 BIT #10) TEST M -

CLEAR THE SUBSYSTEM BY R CONTROLLER CLERR (RHCS2 BIT #5)
SET UP FOR A ONE WORD WRITE REVERSE FROM AN EVEN WORD BO
DO A ONE WORD WRITE REVERSE FROM AN EVEN WORD BOUNDRRY
THIS SHOULD NOT SET RHCS3 BIT #10 DBL

HECK RHCSS

CHECK RHCSI,PHCS2,RHBA, RHBAE , RHWC

TEST UBL (RHCS3 BIT 105 TEST N

CLERR THE SUBSYSTEM BY R CONTROLLER CLERR (RHCS2 BIT #5)
SET UP FOR R TWO WORD WRITE REVERSE FROM AN EVEN WORD BJ
c0_ A TWO WORD WRITE REVERSE FROM AN EVEN WORD BOUNDRRY
THIS SHOULD NOT SET RHCS3 BIT #10 DBL

CHECK RHCS3

CHECK RHCS1,RHCS2,RHBR, RHBRE , RHUC

TEST DBL (RHCS3 BIT #10) TEST O

CLEAR THE SUBSYSTEM BY A CONTROLLER CLEAR (RMCS2 BIT 85°
SET UP FOR A_TWO WORD WRITE REVERSE FROM AN ODB\WORD BCU
DO A TWO WORD WRITE REVERSE FROM AN ODD WCRD BOENDARY
THIS SHOULD SET RHCS3 BIT #10 DBL

CHECK RHCS3

CHECK RHCSI,RHCS2,RHBR,RHBAE , RHKC
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10295

10297

10409
10411

10522
10524

10528

10642
10644

10761
10783

TEST 87

TEST &0

TEST &1

TEST &2

TEST &3

TEST DBL (RHCS3 BIT 810, TEST P

CLERR |HE SUBSYSTEM BY A CONTROLLER CLEAR (RHCS2 BIT #5)
SET UP FOR A THREE WORD WRITE REVERSE FROM ANl EVEN WCRC
DO A THREE WORD WRITE REVERSE FROM AN EVEN WCRD BOUNDARY
THIS SHOULD SET RHMCS2 BIT 10 D8L

CHECK RHCS3

CHECK RHCS1,RHCSZ,RHBA, RHBAE , RHWC

TEST DBL (RHCS3 BIT #10) TEST @

C.EAR THE SUBSYSTEM BY A CONTROLLER CLEAR (RHCS2 BIT #5)
SET UP FOR A THREE WORD WRITE REVERSE FROM AN ODG WORD B
D0 A THREE WORD WRITE REVERSE FROM AN 00D WORD BOUNDARY
THIS SHOULD NOT SET RHCS3 BIT #10 DBL .

CHECK RHCS3

CHECK RHCSI,RHCS2, RHBA, RHBAE , RHIC

TEST DBL (RHCS3 BIT #10) TEST R

<cLEAR THE SUBSYSTEM BY R CONTROLLER CLEAR (RHCSZ BIT #5)
SET UP FOR A TWO WORD WRITE REVERSE FROM AN EVEN WORD BO
WITH BAI IN RHCS2 BIT #3 SET

D0 A TWO WORD WRITE REVERSE FROM AN EVEN WORD BCUNDRRY

THIS SHOULD NOT SET RHCS3 BIT #10 DBL
CHECK RHCS3
CHECK RHCS1,RHCS2,RHBA, RHBRE, RHIWC

TEST DBL (RHCS3 BIT #10) TEST S

CLEAR THE SUBSYSTEM BY A CONTROLLER CLEAR (RHCS2 BIT #5)
SET UP FOR A NINE WORD RERD REVERSE FROM AN EVEN WORD B0
CO A NINE WORD READ REVERSE FROM AN EVEN WORD SOUNCARY
THIS SHOULD SET RHCS3 BIT #10 DBL

CHECK RHCS3

CHECK RHCSI,RHCS2,RHBA, RHBAE , RHIC

IF MAG. TRPE NOT (ISED.IHIS TEST IS NOT DONE

TEST DBL (RHCS3 BIT #10) TEST T

CLEAR THE SUBSYSTEM BY A CONTROLLER CLEAR (RHMCS2 BIT #S)
SET UP FOR A TEN WORD READ REVERSE FROM AN EVEN WORD BJU
DO A TEN WORD RERD REVERSE FROM AN EVEN WORD BOUNDARY
THIS SHOULD NOT SET RHCS3 BIT #10 DBL

CHECK RHCS3

CHECK RHCSI, RHCS2, RHBR, RHBRE , RHWC

IF MAG. TAPE NOT USED.tHIS TEST IS NOT DONE
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10879

1088!

10998
11000

11117
111189

11122

11235
11237

11362

TEST B4

TEST &5

TEST &b

TEST &7

TEST 70

TEST DBL (RHCS3 BIT #10) TEST U

~LEAR THE SUBSYSTEM BY A CONTROLLER CLEAR (RHCSZ BIT #5)
b e TERR R T B rE s e TR B kB R (BHEST B Tl
DO A TEN WORD READ REVERSE FPOM AN ODD WORD BOUHNDARY
THIS SHCULD SET RHMCS3 BiT #10 DBL

CHECK RHCS3

CHECK RHCSI,RHCS2, RHBA, RHBAE , RHWC

IF MAG. TAPE NOT (SED.YHIS TEST IS NOT DONE

TEST DBL (RHCS3 BIT #10) TEST V

CLEAR THE SUBSYSTEM BY A CONTROLLER CLEAR (RHCS2 BIT #S)
SET UP FOR A ELEVEN WORD READ REVERSE FROM AN EVEN WCRD

DO R ELEVEN WORD READ REVERSE FROM AN EVEN WORD BOUNDARY
THIS SHOULD SET RHCS2 BIT #10 DBL

CHECK RHCS3

CHECK RHCS1,RHCS2,RHBA, RHBAE , RHWC

IF MAG. TAPE NOT USED.'YHIS TEST IS NOT DONE

TEST DBL (RHCS3 BIT #10) TEST W

CLERR THE SUBSYSTEM BY A CONTROLLER CLEAR (RHCSZ BIT sS:
SET UP FOR R ELEVEN WORD READ REVERSE FROM AN ODD WORC B
DO A ELEVEN WORD READ REVERSE FROM AN ODD WORD BCUNDARY

THIS SHOULD NOT SET RHCS3 BIT #10 DBL
CHECK RHCS3

CHECK RHCS1,RHCS2, RHBA, RHBAE , RHWC

IF MAG. TAPE NOT (SED.YHIS TEST IS NOT DCNE

TEST DBL (RHCS3 BIT #10) TEST X

CLEAR THE SUBSYSTEM BY A CONTROLLER CLEAR (RHCS2 BIT #5)
SET UP FOR A TEN WORD RERD REVERSE FROM AN OCD WORD BOUN
WITH BAI IN RHCS2 BIT #3 SET

DO A TEN WORD READ REVERSE FROM AN ODD WORD BOUNDARY
THIS SHOULD NOT SET RHCS3 BIT #10 DBL

CHECK RHCS3

CHECK RHCS1,RHCS2, RHBA, RHBAE , RHWC

IF MAG. TAPE NOT (SED.YHIS TEST IS NOT DONE

END OF ONE RH

THIS IS THE ENC OF TEST FOR ONE RH

If THERE ARE MORE RH THEN THE PROGRAM

JUMPS TQ TEST 2 FCR NEXT RH_TEST

ENC PRSS IS RERCHED ONLY RFTER ALL RH RRE COMPLETE
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o0 33333 B I I 00 B0 I IR B 00 XIS R R AR AR AR R AR
114

END °F PASS ROUTINE
HHEHREREREEEEERIERENEEEIERIH I IR R EHERRRRAEIIR NS

11402  INCREMENT THE PRSS NUMBER (SPASS)
TYPE "END PRSS #XXXXX" (WHERE XXXXX IS R DECIMAL NUMBER)
IF THERES A MONITOR GO TO IT
IF THERE ISN'T JUMP TO TST2

69636 3 36 36 36 3 36 3 3036 36 36 36 36 36 3 36 36 3 36 36 56 36 36 3t 36 36 36 36 36 26 36 38 3 36 96 36 36 36 36 36 96 36 36 36 6 36 36 36 34 36 34 30 38 36 36 3¢ 30 30 3 WL 34

11433 SUBROUTINES
BRI R H IR E IR R R I
EREEEFEREREEERERERERIREREEIHIRRREEREFRRRERER IR ERRRERR RS R RFARR

11655 . RS DATA TRANSFER SUBROUTINE
JH R R IR IR TIN5 I 23 3

THIS SUBROUTINE WRITES OR READS QR DCES A
WRITE CHECK ON CYLINDER O TRACK O SECTOR O
éILEESUMES THE RM REGISTERS ARE APPROPRIRTELY
WHEN IT RETURNS FROM THIS SUBROUTINE TQ THE
MAIN PROGRAM IT MEANS THE TRANSFER IS COMPLETE

THE CALL IS BY A JSR RC,aCOMND COMAND
LS bdeb bbb bbb bbbt bbbttt bttt 2 2 22 2222 2 22 2 222 2 22222 2R 22 2 22 20

RPO4 DATA TRANSFER SUBROUTINE
FRERREREEREREREER LR ERERRRE IR IR EREREERRERERFRERRERFRE LR

11657

11704

11706 THIS SUBROUTINE WRITE/RERD/WRITE CHECK ON THE RPQ4 CYL.IN
TRACK 0, SECTOR 0.
11708 IT ASSUMES THE RH REGISTERS ARE APPROPRIATELY FILLED.

WHEN IT RETURNS FROM THIS SUBRQUTINE TQ THE MRIN
PROGRAM 1T MERNS THE COMMAND IS COMPLETE

THE CALL IS BY R JSR RO,JCOMND COMMARND.

¥ \¢) l'
}

fjf¢&
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EEERRERIRERRIEREREIRERIRER R R IIRIRRRRRF AR ARTB R RS SR
11758  TMO2 DATR TRANSFER SUBROUTINE
EFEERFREEEFREREREEFRRERHRE R RS RREFRRF R E RS R AR RIS R L 42

11760 THIS SUBROUTINE WRITES/RERCS/WRITE CHECKS ON THE TMO2-TL
ON THE FIRST BLOCK FROM BEGINNING OF TAPE (BOT)

11762 IT ASSUMES THE RH REGISTERS ARE QPPROPRIQTELY FILLED.
WHEN IT RETURNS FROM THIS SUBROUTINE TGO THE
MAIN PROGRAM IT MEANS THE COMMAND IS COMPLETE.

THE CALL IS
JSR RQ, JCOMND

11815 THIS ROUTINE WILL ALLOW THE CHANGE OF THE BARSE
ADDRESS FROM 176700 TO ANY TYPED VRALUE

11982 F R E 3333 X35 3 33 %K%K X% XXX XXX

EEEECEEEREELREXXRXEXREREREREREEREEREHEFEREEREEEEREEREEEEELEREREEE

11985 SCOPE HANDLER ROUTINE
FERRREXFERXREERRIERREEFEEERERERHEEERHREIIA SRR E BRI HR R AR

11887 THIS ROUTINE CONTROLS THE LOOPING OF SUBTESTS. IT WILL INCREMENT
AND LOAD THE TEST NUMBER(STSTNM) INTO THE DISPLAY REG. (DISPLAY<7
AND LOAD THE ERROR FLAG (SERFLG) INTQ DISPLAY<15:08>
THE SWITCH QPTIONS PROVIDED BY THIS ROUTINE ARE:
SWi4=l LOOP ON TEST

SWll=l INHIBIT ITERATIONS
SWOS=1 LOOP ON ERROR
ggEE=I LOOP ON TEST IN SWR<7:0>

SCOPE ; ; SCOPE=IOT

EEREEXAREXEEXRREXREXEXREXLEXREEEEEREERREREX XL LERER XL XX RRREEREREE

12051  CONVERT BINARY TO DECIMAL AND TYPE RCUTINE
FRERHHRERHHIR R LR EBERERE AR E R R LR REEREEEER IR EHE R R RN

12053  THIS ROUTINE IS USED TO CHRANGE A 16-BIT BINARY NUMBER TO R S5-DIG
SIGNED DECIMARL (RSCII) NUMBER RAND TYPE IT. DEPENDING ON WHETHER
NUMBER 1S POSITIVE OR NEGATIVE R SPACE OR A MINUS SIGN WILL BE T
BEFORE THE FIRST DIGIT OF ThE NUMBER. LERCING ZEROS WILL ALWAYS
REPLACED WITH SPACES.

CALL:
MOV NUM, - (SP) ::PUT_THE BINARY NUMBER ON THE S
TYPDS ::G0 TO THE ROUTINE
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1095 MRINDEC-11-DERMAB-R
1096 3 TIITTITTEZITIYTITISSITITT AT ITTSEIITIZIT ST T IE T T TTSTTTL Y
10587 12119  TYPE ROUTINE
%ggg RRREEERERRREEREEEEREERREREEEEREEEXEEREEEEEEREREXEHEEEEE%EEEEE4% %%

12192
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L L L E L £WWLWWWWLIHIWWMRIN NN VTV TUTOIU N2 b b b i b 3= 1= (OO O O IO O

12121  ROUTINE TO TYPE RSCIZ MESSAGE. MESSAGE MUST TERMINATE WITH A 0 B
THE ROUTINE WILL INSERT A NUMBER OF NULL CHARACTERS AFTER A LINE
NOTEl: SNULL CONTRINS THE CHARACTER TO BE USED RS THE FILLER CH
NOTE2: SFILLS CONTAINS THE NUMBER OF FILLER CHARACTERS REQUIRED
NOTE3: SFILLT CONTAINS THE CHARACTER TO FILL AFTER.

CAaLL:
15 USING A TRAP INSTRUCTION
TYPE ]

oR MESACR : ;MESADR IS FIRST ADCRESS OF AN
TYPE
MESADR

2) USING Q JSR INSTRUCTION
MOV PS,=(SP) ; s FUSH PROCESSOR STATUS WORD ON
JSR PC,$TYPE ::CALL TYPE ROUTINE
MESARDDR ; sFIRST RDRESS CF MESSAGE

ERXEEREEXERERERERXEEEEREREEEERLEREREXEREFEEEEREEEELEFREEREREXELES

TTY INPUT ROUTINE
3 HHIRER I H IR E NIRRT W R RN REFRRF R R R

12201  TK INITIALIZE ROUTINE
THIS ROUTINE WILL INITIALIZE THE TTY KEYBOARD INPUT QUEUE
SETUP THE INTERRUPT VECTOR AND TURN ON THE KEYBOARD INTERRUPT

CALL:
JSR PC,3TKINT
RETURN

12218 TK SERVICE ROUTINE
THIS ROUTINE WILL SERVICE THE TTY KEYBORRD INTERRUPT
BY RERDING THE CHRRACTER FROM THE INPUT BUFFER AND PUTTING
IT IN TFE QUEUE.
IF THE CHRRACTER IS A "CONTRQL-C" (#C) STKINT IS CALLED AND
UPON RETURN EXIT IS MRDE TO THE "CONTROL-C™ RESTART ADDRESS {OPE

12245 ESEE ROUTINE WILL INPUT A SINGLE CHARACTER FROM THE TTY
" RDCHR +:GET A CHARACTER FROM THE QUEUE
RETURN HERE : :CHARACTER IS ON THE STACK
s sWITH PARITY BIT STRIPPED OFF

12266  THIS ROUTINE WILL INPUT R STRING FROM THE TTY

CALL:
ROLIN ::INPUT A STRING FROM THE TTY
RETURN HERE : :ADDRESS QOF FIRST CHARACTER WIL
: s TERMINRTOR WILL 3§LQ BYTE ?F A

Jy
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1148 MRINDEC-11-DERHAB-A
1149 BRERRREIRERIIRRREREE RIS R REEERARRERRRAFRIIRERAREF AR R SR
1130 12303 RERD AN OCTAL NUMBER FROM THE TTY
11581 EEEEFERXRRERREEEEEEIRRERRERSRRRREEERRERIEEE RS RRR SRR A AR SR SR RRRARR

12305 THIS ROUTINE WILL READ AN OCTAL (ASCII) NUMBER FROM THE TTY AND
CHANGE IT TO BINARY.
THE INPUT CHARACTERS WILL BE CHECKED TO INSURED THEY ARE LEGAL
OCTAL DIGITS. IF AN ILLEGAL CHARACTER IS RERD A "7?" WILL BE TYPE
FOLLOWED BY A CARRIAGE RETURN-LINE FEED. THE COMPLETE NUMBER MUS
THEN BE RETYPED. THE INPUT IS TERMINATED BY TYPING R CARRIAGE RE

CALL:
RDOCT ;;READ AN OCTAL NUMBER
RETURN HERE :;LOW ORDER BITS ARE ON TOP OF T
; sHIGH ORDER BITS ARE IN SHICCT

- EXREERERXEREX AR X LR RN LR EAEEEREEREREEEE R LR REEREEERE XL XEEXELR

12357 ERROR HANDLER ROUTINE
FEEREEXERXEFRREFREERRIEERFEREREEARHEREE AR EHAREE R AR R R AR E R R R AE LR

12359  THIS ROUTINE WILL INCREMENT THE ERROR FLAG AND THE ERROR COUNT,
SAYE THE ERROR _ITEM NUMBER AND THE ADDRESS OF THE ERROR CALL
AND GO TO SERRTYP ON ERROR
THE SWITCH QPTIONS PROVIDED BY THIS ROUTINE RRE:
SW15=1 HALT ON ERROR
HRLT CAN OCCUR BEFORE AND AFTER THE ERROR TYPEGU

SW13=1 INHIBIT ERROR TYPEOQUTS
SW10=1 BELL ON ERROR
ggEE=l LOOP ON ERROR

ERROR N ; ; ERROR=EMT AND N=ERRCR ITEM NUMBER

FEERREEEXEEXREEREERELRRAERAFREERE R SRR ERFEEEE RS EERERELERREEREERRER

12401  ERROR MESSAGE TYPEOUT ROUTINE
EREXREEHEREERERHEREEEEREEEHARRREERRREEEEEEREREREERERRERERTREERERR

12402  THIS RQUTINE USES THE “ITEM _CONTROL BYTE™ ($ITEMB) TO DETERMINE
ERROR IS TC BE REPORTED. IT THEN OBTRINS, FROM THE "ERROR TARBLE
GND REPORTS THE APPROPRIATE INFORMATION CONCERNING THE ERRCR.
IT IS A COPY OF THE SERRTYP SUBROUTINE FROM SYSMAC.
WITH ONLY MINOR CHANGES
FIRST IF SWITCH 6 IS SET AND SWITCH 8 RESET THEN
ALL. REGISTER CONTENTS WILL BE TYPED BEFOR REPCRTING THE ERRCR

12409  SECOND IF THE CURRENT ERROR HAS THE SAME ITEM NUMBER
AS THE PREVICUS ERROR THEN ONLY THE DATA WILL BE TY2ED
ANC NOT THE ERROR MESSAGE AND HERDER.

12627  HEREREREEREEEEEREFREREREEREXEFARRERREERREERRERREERR SRR R LR ER
AR EREREE R TR EF R EER R R R EERE R LR R R AR E PR RE LR R R R XX TR PR E RS
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MRINDEC-11-DERHAB-A

183!

12703

1e7e4

EREEREEEREEEXERECHAREREEXEXEXFREEXEEERREXXAEFXEER XL X EF LR RS RLRLRE

BINARY TO OCTAL rASCII) AND TYPE
ERREERRIRRREETREREHE R E R R TR R R ERE R RS R AR R R SRR LR AR R

12633  THIS ROUTINE IS USED TO CHANGE A 1e~BIT BINARY NUMBER TO A 5-DIG
OCTAL (ASCII) NUMBER AND TYPE IT,
§TYPOS---ENTER HERE TO SETUP SUPPRESS ZEROS AND NUMBER OF DIGITS

CALL:
MOV NUM, -{SP) ,.NUMBER T0 BE TYPED
TYPOS CRLL FOR TYPEOUT
.BYTE N ;:N=1 TO & FOR NUMBER OF C[GITS
BYTE M ,,M 1 OR 0

1=TYPE LERDING ZEROS
,,U‘SUPPRESS LEADING ZER

$TYPON----ENTER HERE TO TYPE QUT WITH THE SAME PARAMETERS AS THE
$TYPCS OR STYPOC

CALL:
MOV NUM, - (SP) - :NUMBER T0 BE TYPED
TYPON : 1CALL FOR TYPEOUT
gngOC---ENTER HERE FOR TYPEOUT OF R 16 BIT NUMBER
T MOV NUM, - (SP) ,,NUMBER TG BE TYPED
TYPOC :CALL FOR TYPEOUT

EXEEEXEEREXXEEXEREREXEEEXELEEXXEXLREEXEEXEXEXEXEEERFXEEEEL XX ERLER

TRAP DECODER
EHEEEHEEEEHEIHEEERRERRHRER AL HRE R AR AL RRE R R LR R R R R RE R

12711  THIS ROUTINE WILL PICKUP THE LOWER BYTE OF THE "TRAP™ INSTRUCTIO
AND_USE IT TO INDEX THROUGH THE TRAP TRBLE FOR THE STARTING ADOR
OF THE DESIRED ROUTINE. THEN USING THE ADDRESS OBTRINED IT WILL
GO TO THAT ROUTINE.

HEFEEIERIERHHIEIKE XL R 3T IJHIHHIHKK XK E XK I I K TN N X R X R

TRAP TABLE
REERFRRERRFEFERRAERREFRERRERRE IR ERREF AR AR F AR RF RN R RLE R AR R R

12726  THIS TABLE CONTAINS THE STARTING ADDRESSES OF THE ROUTINES CALLE
BY THE “TRAP* INSTRUCTION.

e
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12748 POMER DOWN AND UP ROUTINES
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=, ., ] .
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.TITLE MRINOEC-1]-DERHRB-A
¢ #COPYRIGHT (C) 1975-197%
+#CIGITAL EQUIPMENT CORP.

: ®MAYNARD, MRSS. 01784

T
:#THIS PROGRAM WAS ASSEMBLED USING THE PDP-11 MAINDEC SYSMAC
+ #PRCKAGE «MRINDEC-11-D2GRC-C1),MAR 24, 1976.

SBT’L OPERATIONAL SWITCH SETTINGS

HALT ON ERROR

LOOP_ON TEST

INHIBIT ERRGR_TYPEOUTS

INHIBIT ITERATIONS

BE.L ON £RROR

LG0F ON ERROR

LOCP ON TEST IN SWR<7:0> X

STOP FURTHER COMPARES IF SWOR IS LOW
TYPE ALL REG. WITH ERROR IF SW8 LOW

'SaTTL BAsic DEFINITIONS

M o e o e o
pepopopap e
O =30 W W L. UN

e S8 SO 20 &0 So 2T G0 G O G0 O

s.gn&rxn% ngoness OF THE STACK POINTER ##» 1000 #a#
.EQUIV EMT.ERROR ::BASIC DEFINITION OF ERROR CALL

EQUIv I0T,SCOPE ::1BASIC DEFINITION OF SCOPE CALL

: #MISCELLANEOUS DEFINITIONS
ATs 11 : :CODE FOR HORIZONTAL TAB
LF= 12 ::CODE FOR LINE FEED
CR= 15 ::CODE FOR CARRIAGE RETLRN
fRLF= 200 ::CODE _FCR CARRIAGE RETURN-LINE FEED

G= 177776 ; :PROCESSOR STATUS WORD

.EGUIV PS, PSU
sverv- 179774 ::STACK LIMIT REGISTER

PIRG= 177772 : {PROGRAM_INTERRUPT REQUEST REGISTER
DSWR= 177570 : HARDWARE SWITCH REGISTER
0DISP= 177570 : {HARDWARE DISPLAY REGISTER
} ¥GENERAL _PURPCSE RESISTER CEFINITIONS
R0= 40 ; GENERAL REGISTER
nx- %] ;i CENERAL REGISTER
“2 :sGENERAL REGISTER

R3- %3 1 1 GENERRL REGISTER
Ry= 74 + s GENERAL REGISTER \
RS= %S ;GENEFAL REGISTER [T,
RE=  vb ! 1GENERA. REGISTER Loy
R?7= %7 : GENERAL REGISTER S
.EGUIV RB&,SP }1STACK POINTER

.EGUIY R7,PC : ; PROGRAM COUNTER

j¥PRIORITY LEVEL DEFINITIONS
PROz O : tPRIORITY LEVEL O
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BRSIC
200040

(0L
Or=fu.L£0)

100000

60C00!

D03

22-SEP-76 15:11 PRGE 3!

PRl= YU :+PRIORITY LEVEL |

FR2= 100 {{ORTORITY LEVEL 3
FR3= 140 +:PRIORITY LEVEL 3
PRY= 200 ::PRIORITY LEVEL 4

PRS= 240 ::PRIORIT” LEVEL §

PR§= 300 :PRIORITY LEVEL &

FR = 340 ..PRIOQITY LEVEL 7
«#"SWITCH REGISTER™ SWITCH DEFINITICNS

§wiB=" 100030

SWld%= 40000

SWi3= 20000

SWwig= 10083

SWil= 4000

SWi0= 2000

SWo9= 1000

SW8=  40Q

SWg7= 200

SWie= 100

SWis= 40

SWo4=s 20

SWp3= 10

SWle= &

SWdl= @2

SW00=

.EQUI
LEQUIY 5u00, 50
*DATA B}T DEEINITICNS (BITCO 70 BITIS)

+ D00 0o 4O 00 ) M D M - -
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RB. SRC

Q22174

uuu&ls

800230
0COCHE
00038z
gogz210

BRSIC

c00C04
00C010

000174
00C300
300002

000137
000046

000137

000250

17757¢2
177574

MRCY ]

CY1l 370
DEFINITION

0Cssee

gCss3e

S

r32)

22-SEP-T6 15:11 PHGE 22

.E3UIV B[T0&,BITH
.EQUIV BITOS.8ITS
.EQUIV BITOY4,BITH
.EQUIV BIT03.BIT3
. 0U§V 8I70e,BIT2
Laulv BITOL,BITI
.EQUIV SITCQ,BITC

ER?[ <PU” TRRP VELTOR R?DREgSﬁS

= AND OTHER ERRCRS

RESVE .,RESERVED AND ILLEGAL INSTRUCTIONS
TBI|VE~-14 $0T" BIT
TRTVEC= 1M TRRCE TRAP
BPTVEC= 14 : :BRERKPCINT TRAP (BPT)
I0TVEC= 20 s INPUT/QUTPUT TRAP (I0T) ##SCOPE##
PURVEC= 24 ..PCNER FRIL
EMIVEC= 30 ..EHH.RTOR TRAP (EMT) #3ERROR»#
TRAPVEC=3Y4 RP
TKWEC= 80 ..TTY KEYBOIRD VECTOR
TEVECs b4 ; TTY PRINTER VECTOR
PIRQVEC=240 .,PQO RAM INTERRUPT REQUEST VECTOR

.SBTTL TRAP CATCHER

=0
:#ALL UNUSED LOCATIONS FROM 4 - 776 CONTAIN A *.+2 HALT"
:#SEQUENCE TO CATCH ILLEGAL TRAPS AND INTERRUPTS
*LOvQTION 0 CONTARINS O TO CATCH IMPROPERLY LORDED VECTORS

=174
DISPREG: .WORD O . : SOFTWARE DISPLAY REGISTER
SHREG:  .WORD O : :SOFTWARE SWITCH REGISTER
.S8TTL STARTING ADDRESS(ES’
Jng6 JBEGIN ;;JUMP TG STARTING ADDRESS OF PROGRAM
§ENDRD
.=5¢
4
MNP J3BEGINZ + JUMP SELECT TEST
: *STARTING ADDRESS 200 FIR NORMAL START
iTHIS WILL TEST ALL RPO4'S ON THE s»srsn A SINGLE DRIVE AT A TIME

*srnnrxnc ADGRESS 210 WILL TEST ONLY ONE SFECIFIED DRIVE
;grnnréngggognzss 220 WILL JUMP OVER THE TESTS REGUIRING AN OPERATOR
Tl NDHORG MANAGEMENT DEFINITIONS

;#KT11 VECTCR QDDRESS

MMVEC= 250

;#KT11 STRTUS REGISTER ADDRESSES
SRO= 177572

SRi= 177574
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MEMORY MRNRGEMENT DEFINITIONS

177578
172516

Co1110

SRa= 177578
SR3= 172516

s #KERNEL "I” PAGE DESCRIPTOR REGISTERS
KIPDRO= 17

KIPBRI= 173308

KIPDR2= 172304

KIPDR3= 17230
KIPDRY= 17231

KIPDRS= 17231¢
KIPDRE= 172314
KIPDR7= 172316

; #KERNEL "I* PAGE ADDRESS REGISTERS

KIPARO= 172340
KIPAR1= 172342
KIFRR2= 172344
KIPRAR3= 172346
KIPARY= 172350
KIPARS= 172352
KI1PARE= 172354
KIPAR7= 172356

s ******ii?*iai*********i*****iii********i*l****il****!****i*ii**
.=111
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1446
184?7
144
184
1480
1451
1452
1453
1484
2 3
188
1458
1459
1460
1461
1462
1463
14&4
1465
1466
1467
1468
1463
1470
1871
1472
1473
1474
1475
1476
1477
1478
1479
1480
1881
1482
1483
1484
1485
J4RE
1487
i4es
1488
1430
149]
1492
1492
$494
1435
14396
1497
1438
1493
1500
1801
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.SBTTL CUMMON TRGS

SRREREERERERRREFRRRERREEREREREREERRRRERERFERERRRERRR AR RRELERRR SR
iTHIS TABLE CONTARINS VARIOUS COMMON STORAGE LOCATIONS
:%USED IN THE PROGRAM.

.31100

CMTAG:

PRSS: .WORD
$TSTNM: .BYTE
g RFLG: .BYT

CNT:  .WOR
$LPRADR: .WORD
$LPERR: .WORD
$ERTTL: .WORD
$ITEMB: .BYTE
SERMAX: .BYTE
$ERRPC: .WORD
$GDRADR: .WORD
$30ADR: .WORD
$GDDAT: .WORD
$8DDAT: .WORD

.WORD

.WORD
$AUTOB: .BYTE
§INTAG: .BYTE

.WORD
SWR: .WORD
CISPLAY: .WORD
$TKS: 177560
$TKB: 1775¢2
§7PS: 177564
$TPB: 177566
SNULL: .BYTE
SFILLS: .BYTE
SFILLC: .BYTE
$TPFLG: .BYTE
$REGARD: .WORD
SREGO: .WORD
SREGl: .WORD
$REG2: .WORD
$REG3: .WORD
$REGH: .WORD
SREGS: .WORD
STMPO: .WORD
$TMPl: .WORD
$TMP2: .UWORD
$TMF3: LWORD
STMPY: LWORD
$TMPS: .WORD
$TIMES: O
SESCAPE: O
$BELL: .ASCIZ
§QUES: .ASCII
$CRLF: LASCII

O0O0O0O00O - (D000 0000

SWR

QOO0 00
(-
—
u)
0

mn

OO00O000O0000000O0 Oo—nuY

(207><37?7 <37
/"
(S

:1START OF COMMON TAGS
: 1 CONTAINS PASS COUNT
:;CONTAING THE TEST NUMBER
.,con1n NS ERRQ
tCONTAING SUBTEST ITERATION COUNT
: CONTRING SCOPE LOOP ADDRESS
..conrnxns SCOPE RETURN FOR ERRORS
: :CONTAINS TOTAL ERRORS DETECTED
: 1CONTRING ITEM CONTROL B/TE
: 1CONTAINS MAX. ERRORS PER TEST
.,CONTQINS PC_OF LAST ERAOR, INSTRUCTION
:CONTAING ADDRESS OF 'GOOD’ DAT
: :CONTAINS ADDRESS OF '8RO DATA
.,CONTAINS "GOOD’ DATA
:CONTAINS *BRD’ DATA
: 'RESERVED--NOT TO BE USED

:RUTOMATIC MODE INDICATOR
,,INTERRUPT MODE INDICARTOR

..nooREss OF SWITCH REGISTER
: ADDRESS OF DISPLAY REGISTER
:TTY KBO STATUS
}ITTY KBD BUFFER
;s TTY PRINTER STATUS REG. ADDRESS
:iTTY PRINTER BUFFER REG. ADDRESS
: sCONTAINS NULL CHARACTER FOR FILLS
. :CONTRING & OF FILLER CHARACTERS REQUIRED
,,INSERT FILL CHARS. AFTER A “LINE FEED"
I “TERMINAL AVAILABLE™ FLAG (BIT<07*=0=YES;
i CONTAING THE_ADDRESS_FROM
:WHICH (SREGO) WRS OBTAINED
: ICONTRINS ( (SREGAD)+Q)
: 1 CONTAINS ((SREGAD}+2)
: :CONTRING ((SREGAD'+4)
: ICONTRINS ((SRESAD,+6)
: :CONTAINS ((SREGAD)+iD)
.,uonrnxns ( (SREGAD) +12)
: USER DEF INED
: 1USER DEFINED
,,usen DEFINED
tUSER DEF INED
: {USER DEFINED
: USER DEFINED
,.nnx NUMBER OF ITERATIONS
:ESCAPE ON ERROR ADDRESS
s CODE FOR BELL
: 1 QUESTION MARK
! CARRIAGE RETURN

\\ -C‘-/ P
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SRC

801225

001228

001230
001232
00le34

031238

001240
00leg42
0oiz2uy

00ig4e

001250

Qoizte
00les4

ERROR POINTER "HBLE

246700

ggsSlal
06ESSH
066736

047052

gesSial
066554
066736

047254

0esi2l

0EESSY
086736

I03
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.SBTTL ERROR POINTER TARBLE
+#THIS TRBLE CONTAINS THEIINFORMQTQ?N FOR ERCH ERRCR THRT CAN ?gCUR.

:*THE INFORMATION IS 0BT

NED BY U HE INDEX NUMBER FOUND

+*LOCATION SITEM3. THIS NUMBER INDICATES WHICH ITEM IN THE TQBLE IS PERTINENT.

:#NOTEL: IF SITEMB IS 0 THE ONLY PERTINENT DATA IS ($ERRPC

: ¥NOTE?: EACH ITEM IN THE TABLE CONTARINS 4 POINTERS EXPLQINED AS FOLLOUWS:
s ¥ EM ,,POINTS TO THE ERROR MESSAGE

¥ OH :POINTS TO THE DATA HEADER

¥ 0T : :POINTS TO THE DRTA

x Of +:POINTS TO THE DARTR FORMART

$ERRTB:

(EEEEREERREEEER LR EEREERERERRLERRREREREERERRAERELEERREXEREEEREERREE

’

JITEM I

EMI : THE RH BASE ADDRESS WARS 772040
INDICRTING A RS04 OR RSO3
:BUT THE DRIVE TYPE DID NOT
:CONTAIN 0.1 ,2,3 CR &
DM1 :PC
+RHDT
DT! ;s 3ERRPC, $BDDAT, 0
DF1 0
t .
<ITEM 2 ¢
EM2 . : THE RH BRSE ADDRESS WAS 776700
: INDICATING AN RPO4, RPOS, OR RPQO6 .
:BUT THE DRIVE TYPE DID NOT
:CONTAIN 20020 24020. 20021, 24021,
EDUEE OR 24022
DHI :PC
RHDT
D71 $ERRPL §BDDAT, O
OF1 : ,0
sITEM 3
EM3 : THE RH BRSE ADDRESS WRS 772440
INDICQTING R TMO2. BUT THE
DRIVE TYPE DID NOT CCNTRIN
142010 INDICATING NO
,T MOe
DH1 :PC
s RHDT
0Tl +$ERRPC, $BODAT, O
DF1 :0.0
s ITEM &




MRINDEC-11-DERHAB-R MRCY1l 27(732)
DERHRB.SRC ERROR FOINTER TRBLE

{8e?

1562

001256 Q47410

00i260 0&Siel
00l1gk2 06&559
001264 06873

001286 047707

001270 085130

2 06b56e
4 086740

001276 050082
001300 065204
001302 066576
001304 085745
001308 050200
0G1310 0&5247
12 066576
14 0B6b745

001316 082372

22-SeP-76 15:11

EMY

DH1

D1
DF1

¢ITEM S
EMS

DHS

DFS

<ITEM &
EMB

DHE

DTS
DFb

s ITEM 7

EM?

OH?7

D76
DFB

; ITEM 10
EMIO

PAGE 37

JO3

5 ASE nggagsa uns 776300
NSICATING MO
RH DEVICE. BUT THE DR*VE
TYPE 0ID NOT CONTAIN

1,2,3,4,20080, 24020, 20021, 24021,
0 D22.2%022, OR 142018 INCTEATING NG
gg DEVICE IS PRESENT

! RHDT
; SERRPC, SB0DAT. 0

- THE UNIBUS TIMED OUT

‘FOR EACH OF THE FOLLOWING
:ADDRESSES, INDICATING

NO RH ON tHE SYSTEM

SO ABORT PROGRAM

:PC
:UNIBUS ADDRESSES ON WHICH
: TIME OUT CCCURRED

: SERRPC,RSCS1,RPCS1, TMCST, MIXCS1
:0.0,0,0,0

;AFTER AN RH CLERR (BIT 85
: IN RHCS2) RHCS2 DOES NOT
:HAVE ONLY IR AND UNIT
ggMBER

; TEST NO

:RHCS2 GOOD

:RHCS2 BAD
gESRschSTNH,SGDDQT.SBDDQT

;AFTER CLEARING THE RH ANC

:WRITING ONE WORD INTO

:RHDB AND READING IT

:BACK CAUSED RHDB TO

ggVE WRONG VALUE GIVEN IN BRD RHDB

: TEST NO

:RHDB GOOD

: RHDB_BAD
BESRBCQTSTNM,SGDDRT.$BDDQT

:AFTER CLEARING THE RH RAND
sWRITING ONE WORD INTC
;RHDB AND RERDING IT
sBACK, CAUSED RHCSZ TO

s HAVE WRONG DATA




KO3

MAINDEC-11-DERHAB-A MACY1l 27(732) 22-SEP-76 1S5:11 PAGE 38
DERHRB. SRC ERROR POINTER TABLE
1816 GIVEN IN BRD RHCS2
1617 001320 085204 DHB
1618 TE%T ng BR
1619 ACS2
1620 ‘RHCS2 BRD
1621 001322 066576 DT6 : SERRPC, TSTNM, $GDDAT , $BD0AT
1622 001334 0667YS FE :0,0,0,0
1623
1624 _ ITEM 11
1635 001328 050565 EMLL :AFTER CLEARING THE RH AND
1626 {WRITING ONE WORD INTO
1627 :RHDB AND READING IT
1628 *BACK, CAUSED RHCSI 10
1629 *HAVE' WRONG DATA
1630 cxveu IN BAD RHCS!
1631 0C1330 085307 DHI L :PC
1632 : TEST NUMBER
1633 + RHCS1 cooo
1624 :RHCS1 BAD
1635 001332 066576 DT6 : SERRPC, TSTNM, $GDDAT, $80DAT
{239 001334 (0B&74S OF§ :0,0,0,0
1638 :1TEM 12
1633 001336 CS07E0 EM12 :AFTER CLEARING THE RH AND
1640 :RITING ONE WORD INTO
1641 :RHDB AND READING IT
1642 :BACK, CAUSED RHCS3 TO
1E43 : HAVE ' WRONG DATA
1644 _ :GIVEN IN BAD RHCS3
1645 001340 065351 DH1Z :PC
1646 : TEST NUMBER
1647 :RHCS3 GOOD
1648 :RHCS3 BAD
1649 0J1342 066576 D76 :SERRPC, TSTNM, SGDDAT, $BDCAT
iggg 001344 066745 OFE :0.0,0,0
1852 ITEM 13
1653 0012465 051153 EML3 :AFTER CLEARING THE RH AND
1654 s WRITING ONE WORD INTC
1655 :RHDB AND RERDING IT
1656 :BACK, CAUSED RHBA TO
1657 * HAVE ' WRCNG DRTA
1658 :GIVEN IN BRD RHBA
1663 001350 085413 DH13 :PC
1660 : TEST NUMBER
1661 *RHBA GOOD
1662 :RHBA BAD
1663 001352 0BES7H DTE : SERRPC, TSTNM, $GDDAT . $BDDAT
iggg 001355 D&E745 DFE :0,0,0,0
1666 < ITEM 14
1667 001356 051345 EM1Y4 :AFTER CLEARING THE RH AND
16E8 :WRITING ONE WORD INTQ
1669 :RHDB AND READING IT

:BACK, CAUSED RHBAE TO
{HAVE KRONG DRTA




MRINDEC-1]-DERHAB-R

DERHRB. SRC

1872
1673
1674

{78

1677 001362
1678 001364
167
1680
1681
1682
1683
1684
1685
1686
1687
1688
1689

001360

00136t

001430

001402
001504

001406

00410

0014le
001414

001416

ERROR POINTER TARBLE

065483
066576
066745

051540

gsl1v3e

085204

066576
066745

052125

0g524?

066576
066745

0s2317

MRCY1l 27(732)

22-SEP-76
DHIY

DTe
OFE

s ITEM 15
EMIS

DHLS
D16
DFE
;ITEM 16
EM1B

DHE

076
OFB

s ITEM 17
EML7

OH?

D16
DF6

: ITEM 20
EM20

15:11

PAGE 39

LO3

GéVEN IN BRD RHBAE
s TEST_NUMBER

RHEQE GOoD
: SERRPC, TSTNM, SGDDAT, $BODAT
:0,0,0,0

;AFTER CLEARING THE RH AND
sWRITING ONE WORD INTO
:RHDB AND READING IT
:BACK, CAUSED RHWC TO

: HAVE WRONG DATA

:GIVEN IN BAD RHWC

' PC
s TEST NUMBER
RHNC GOOD

HWC BARD
SERRPC TSTNM, 8GDDAT, $BDDAT
:0,0,0,0

;AFTER CLEARING THE RH AND
:WRITING ONE WORD INTO
:RHDB

: CAUSED RHCS2 TO

:HAVE WRONG DATA

GIVEN IN BAD RHCS2

TEST NUMBER

:RHCS2 GOOD

sRHCS2 BAD

EEERECbTSTNM , 3GDDAT, $BOCAT

;AFTER CLEARING THE RH AND
sWRITING TWO WORD INTC
sRHDB AND READING IT
BRCK CAUSED RHDB TO
*HAVE WRONG DATA

:GIVEN IN BAD RHDB

:PC

s TEST NUMBER

:RHDB GOOD

:RHDB BAD

: SERRPC, TSTNM, $GDDAT, $80CAT
:0,0,0,0

;AFTER CLEARING THE RH AND
tWRITING TWO WORD INTC
;RHDB AND RERDING CNE
:BACK, CAUSED RHCSZ TO

: HAVE WRONG DATA
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MRINDEC-]1-DERHRB-R MACYL1l 27(732) 22-SEP-76 15:11 PRGE 4O

DERHAB. SRC ERROR POINTER TABLE
1728 :GIVEN IN BRD RHCS2
1729 001420 065204 DHE :PC
1730 :TEST NUMBER
1731 ' RHCS2 GOOD
1732 :RHCS2 BAD )
1733 001422 (066576 DT6 : SERRPC, TSTNM, SGDDAT, SBODA
i;gg 001424 066745 9FE .0,0,0,0
1736 - 1TEM 21
1737 00428 052513 EM21 :AFTER CLERRING THE RH AND
1738 *WRITING TWO WORD INTO
1739 :RHDB AND READING IT
1740 :BACK TWICE, CAUSED RHDB TO
1741 * HAVE WRONG DATR
1742 :GIVEN IN BARD RHbe
1743 001430 085247 DH? : PC
1744 ' TEST NUMBER
1745 'RHDB GOOD
1746 :RHDB BRD
1747 001432 0BES7E DT6 ' $ERRPC, TSTNM, $GDDAT, $BODAT
i;:g 001434 0BE74S DFE +0.0,0,0
1750 . ITEM 22
1751 001436 052713 EM22 :AFTER CLEARING THE RH AND
1752 - (WRITING TWO WORD INTO
1783 - ‘RHDB AND READING IT
1754 :BACK TWICE, CAUSED RHCS2 TO
1755 :HAVE WRONG DATA
1786 :GIVEN IN BAD RHCS2
1757 00I440 065204 DHE :PC
1758 : TEST NUMBER
1759 :RHCS2 GOOD
1760 tRHCS2 BAD
1761 001442 0BES7E DT6 : SERRPC, TSTNM, SG0DAT, $8DCAT
1762 001444 0B674S DFE :0,0,0,0
1783
1764 . ITEM 23
1765 001446 053114 EM23 :AFTER CLEARING THE RH AND
17€6 ‘WRITING EIGHT WORD INTC
1767 : RHDB
1768 *CAUSED RHCS2 TO
1769 :HAVE WRCNG DATA
177 :GIVEN IN BRD RHCS2
1771 001450 0eS204 DHE : PC
1772 : TEST NUMBER
1773 :RHCS2 GOOD
1774 _ *RHCS2 BAD
1775 001452 066576 . DT6 : SERRPC, TSTNM, SGDDAT, $BOCAT
%;;g 001454 0BE74S DFE :0,0,0,0
1778 - 1TEM 24
1779 001456 053211 EM24 ‘, :THE RH WAS CLEARED
1780 ‘AND A PATTERN OF 8 WCRDS
1781 tWERE WRITTEN INTO RHOB
1782 :REACING RHDB FOR THE

1783 :"N* TH. TIME GAVE WRONG




MRINDEC-11-DERHAB-R
ERROR POINTER TRBLE

DERHAB. SRC
1784
18

'] !5
1786 001460 0B6SE5S

1787

1791 Q01462
1782 001464

1785 001466

1801 001470

1805 00147z
1806 CQOI474

1809 001476

1814

Pt fun B < Pma Pt Pt st Pt
0000 00 0000 00 oW
(a0 1a 8 L oot cud ol ol ood
— O ~3orn

1829 00iSee
1830 001S24

1833 001526
1834 001530

tun
WM
4o

()
[ T3

06E61D
066751

JS3541

065204

066576
06674E

053541
055387
06657E
066745

066576
066745

053541
0BS413

0BBE7E
0EB745

0E354.
365453

CEEE7E
“EETSE

MACY1l 27(732)

22-SEP-76 1S:11

DH24

DTa4
CFe4

:ITEM 25
E

-

DHE

DT6
DFb

; ITEM 26
EM2S
DHi!
D76
OF&

:1TEM 27
EM2S
DH12

076
DFb

s ITEM 30

EM2S
DH13
D76
OFB

sITEM 31
EMeS
DH1Y

016
CFe

PAGE 4!

VQLUE IN RHOB
PCI GIVEN IN “KORD NO*

: TEST NO

:ICRD NO

' RHDE GOOD

:RHDB BAD

+ SERRPC, TSTNM, SILONM, SGDDAT, $B0DAT
:0,0,0,0,0

; THE RH WAS CLEARED AND

‘A _PATTERN OF 8 WORDS WERE
:WRITTEN INTO RHDB

:AFTER_READING ALL B WORDS
FOthING REGISTER CONTAINED WRONG

C
ITEST NO
'RHCS2 GOOD
:RHCS? BAD
: SERRPC, TSTNM, SGODAT, SBODAT
:0.0,0,0

0,0

PC

s TEST NO

:RHCS3 GOOD

:RHCS3 BAD

gEgRSCbTSTNM . $GODAT, $BODAT

:PC

s TEST NO

:RHBA GOOD

:RHBA BAD

BEERECbTSTN" . 3GDDAT, $BDCAT

:PC

TEST NQ
RHBRE GO0D
RHBHE

BRC
SERPPC TSTNM SGDDART . SBCORT
:5.0.0.9
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ol 02 IV s

OOIHD N LMD DD D

R

e cpohapadapal ababhoabalhoababalhal chehoh o) shopthsPoboPapod oheshepobaPeopopobad chopapep

RECRCR

<CIS8C

00.5%2
01554

201858

OCl8sC
SelSud
goises

00136k

aC1S70

00157¢
0C1574

C0157¢

1-OERHRZ-R oVl
. ERROR BIINTER 'RS‘E

<SJ38¢
JEs5!

|
a
2

0eES76
oEE™uE

383770
06S6zE
26858
066745

SEYICH

06S3C7

066578
CBB74E

054544

22-SEP-T8  13:11

(ITEM 32
»
b

-y

S
S

om

{ITEM 33
En

:ITEM 38

DHLl

D76
DFé

sITEM 36

EM36

) — - —————t -

FHot 42

;SERRPC TSTNM, SGDOART, SBOOAT

:2.0.0,0

:SETTING RH CLEAR BIT oS
: TN RMCS2 CAUSED

;ERROR REGISTER | TO HAVE
#RONG VRLUE

s TEST NO
RHERI GOOD

RHER! B&D
SERRPC TSTNM, SGDOAT, SBODAT

:AN_RH LCLERAR WAS GIVEN
RH§R1 WAS CHECKED TO MR

:PAT (BIT #4 RHCS2) WAS SE
:T9_INVERT PRRITY CHECKING
RHERI WRS READ BLUT LID NCT
P CoNTRIN WHAT IS IN RME

1 TEST NO

RHERI GOOD

: HER! BRD
+SERRPC, TSTNM, $30DAT, 3BCCAT
:0.0,0.08

:RM_CLERR WAS GIVEN

;RHERI WAS CHECKEC

:PAT (BIT a4 RHLSE) WRE SE”
:AND RHER} WAS R

:RHCS1 SHIULD HﬂVE ROY

..;5C AND MCPE SET
PC

:TEST NO
RHC 1 GOQOD

RHCS! BAD
| SERRPC . TSTNM. SGDORT. $BODAT
:0,0,0.0

:RH_CLERR WRS GIVEN

;RHERI WAS CHECKED

:PAT (RHCS2-BIT #4) WAS SET
:RHER! LIRS READ AND_CHECAED

1*1% WRS WRITTEN INTO “TRE™-RH

WRVE Z2ERO

RI G200




MRINCEC-11-OER4RE-R

JERHRB. SRC

St
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0C1882

00:602
021604

‘001606

SEGRRTERE

00:i8:0

DU SO L DD
G opapopap spapspopsts
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b
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ﬁﬂﬂ"
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o

(1

o

i e

0 e s pa et
Tl g g
€00 2

8

-

o

S

QibkH
1981

b o e — — -

088307

g6eS™e
. )

65021

gss021
CeSS1S
06576
066748

MRCYLL 2r(7aay
ERROR PJINTER TRBLE

22-5EP-T8 1S

Dhil

0o
Crd

+ITEM 37
EM3T

DMl

076
°FE
+ITEM &0
EM37
DHE
D76
DFe
¢ITEM 41
EM37
Drl2
031
DFe
s ITEM 42
EM37
DH13

OF6

co4

ON CHECKING RHCS!

1T CID NOT CONTAIN 5C,MCPE
g D ROY

: TEST NUMBER

;RHCS1 GOOD

:RHCS] BAD

: §ER]PC, TSTNM, $GDDAT, $BODAT
:0,0,9,0

;RH_WAS CLERRED

:RHER1 WAS CHECKED

+PAT (RHCS2-BIT #4) WRS SET
;RHER] WAS R;RE

;71" WRS WRITTEN IN "TRE™ RMCS!
:ON RH CLEAR WAS 70

;oIVE WHAT IS IN "GOJ0™

:8U°

P

) |

N
T
N

GRVE WHAT IS IN "BAD"

¢

EST NO
:RHCS1 GOOD
: RHC

:RHCS1 BAD
:SERRPC_ TSTNM, SGCOAT, $80CAT
:0,0.0,0




MRINCE
DERNAB.

1352
1983

139
13

oty

EEEREE

P e Pos Pop <o ot Ps s Pt Pos pt p0 s
D500
SRR A

i
99
2d

Sl

[ U -

<=11-DER4RS-R

SRC

JC1588

001736
001740
0C1742

ERROR PCINTER TRBLE

288323

CbEee?”

JEESTH
0bb7us

055561

05307

QESSYH
JEB7HS

055581

pSssel
DeS413
CebS578
066745

0SSSe!
0E5453
CEEE7E

MASYLL 27(7

a2’

DO4

22-SEP-T&  1S:11 PRGE 44
:IYEM 4
EMYS :RAFTER AN RH CLERR
1" WR éTT;N IN TH; gécy
Q DRESS REGISTER (IN TR
DRIVES CQL;ED FRAME COLNT .,
PAT IN RHCS] WAS SET
ON RERCING RHCR (IN TRPE
DRIVES RMFC ) IT DID NOT
CONTRIN e
RHDR RHFC
DH4S :PC
TEST NO
:RHOA G0OD
:RHCA BAD
D16 - SERRPC TSTNM, SGDDAT, SBDDAT
DFE :0,0,0,0
+ITEM 46
EM46 :AFTER AN RH CLERR
“l" WRS WRITTEN IN THE
DISE ADDRESS REGISTER (IN
PRT IN RHCS] WAS SET
ON RERDING RHDR (IN TAPE
; ) FOLLOWING
REuISTER DID NOT CCNTRIN
HHQT IS IN "GoCD™
DMLl PC
TEST NO
:RHCS 1 GCOD
RHCS
ng :SERRPC,TSTNM,SGDCQ’.SEEDQT
s ITEM &7
EMYE
CHE
D7
DFg
ITEM SC
EM4E
DHlZ
[0)£°)
OF6
< JTEM S
EM46
DH13
LTe
DF
«ITEM S
EM46
DH14
D76




DERHRB

2008
2009
2010

furufufviu
OO0
Pt Pt Prt Pt P

O OCNI

)9 pspep
MU+ O DWW~ N L LINY—-

fof

ru{grurum JIJ 1,
fu
w

MAINDEC-11-DERMAB-A
-SRC

001744

001746
001750
801

001754

OC17SE

001760
00176e
001764

001766
00177G
gQ1772
00177y

01778

002000
CJ20C2
002004

002006
002010
002C;2
092014

002016

002020
002022
002024

002026
002030

MACYLl 27(732)
ERROR POINTER TRBLE

J6674S

QSSsel

0653C7
Ce8576
066745

056062
DES453
ORBSE
0B674S

181 Y- |

QeS3C?
0BEE7E
Cee74S

0Sesal
0Bs4S3

22-SEP-76 1S:11 PRGE 45

Ore
{ITEM 83
EMYE
DH1S
0Te

+ITEM 5S4
EMSY

DH1!
075
JF6

:ITEM S5
EMSH
DHIS
DT6
DF8

< ITEM S
EMSE

s ITEM 57

:ITEM 80
EMED

OHILI

DTe

DFg
+ITEM 61

EMBO
DHi+

o4

ﬂg RHICLEQR (RHCS2 BI™ #S}
Gl

;A16 (RHCS1 BIT #8) WAS SET

: ON RERDING THE FOL%ONIN’

:REGISTER IT

: CONTAIN NHQT IS IN *GOCD"

+AN RH CLEAR (RHCSZ BIT sS)

iWAS GIVEN

:A16 WAS WRITTEN IN RHCS!

sALL ZERCS WERE WRITTEN IN RHBAE
:THE FOLLOWING REGISTER DID

:NOT CONTRIN WHAT IS IN ™GO0D"

;AN RH CLERR (RHCS2 BIT #5)
iWAS GIVEN

sA17 (RHCSI BIT ¥9) WAS SET
:ON READING THE FOLLOWING
SREGISTER IT DID NOT

s CONTAIN WHRT IS IN "GOOD"




MR INDECS-11-DERKMRB-R
CERMAB. SRC
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£0203¢
302034

032036

002040
002042
CO20u4d

002046
00z05C
002052
00=20sH

00z0S6

002054

002066
032070
002972
602074

03207t

002100
002102
002104

002106
002110
gOzile
002114

00211

MRCYLl &7(732)

ERROR POINTER TRBLE

366576
86745

0sevu2

0BSYS3

0571727

065307

Q57177
0gS3S1
055§75
0BETHS

QE7177

065351
066578
086745

057177
065307
0e&E76
06e745

057648

22-SeP-76 15:11

Dib
OFb

s ITEM 62

EMB2

DHIY
DTE
OF6

:ITEM 63
EME2
DHLl
D76
DFB

:ITEM &4
EMBY

: ITEM &5

; ITEM BB
EMBY

DHl2
D76
OFB

; ITEM &7
EMBY

DHI1 -

076
OFB

; ITEM 70
EM70

PAGE 46

FOM

QN RH CEEQR (RHCS2 BIT #5)

Rl? NRS WRITTEN IN RHCSI

QLL ZEROS WERE WRITTEN IN RHBAE
: THE FOLLOWING REGISTER DID

sNOT CONTAIN WHAT IS IN "GOOD™

:QN RH CLERR (RHCS2 BIT #5)

:WAS GIVEN

;IE (RHMCS1 BIT #6) WAS SET
:ON RERDING THE FOLLOWING
:REGISTER IT DI NOT
:CONTAIN WHAT IS IN "GOCD™

;AN RH CLEAR (RHCS2 BIT #S)

s WRS GIVEN

tA16 WAS WRITTEN IN RHCS!

sALL ZERCS WERE WRITTEN IN RHBRE
s THE FOLLOWING REGISTER DID

:NOT CONTAIN WHAT IS IN *3000"

;PH CLERR WAS GIVEN
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002120
0d21e2
00z21eM

002126
002130
002132
802134

002136
002140
002142
002144

302146
002150
002152
002154

02156
002180
002.62
CdeieM

002200
002202
002204

002208

MRINDEC-11-DERHRB-A
DERHRB. SRC

065307
Q66576
066745

057BYE
055204
066576
066745

057646
058351
0eeS7e
066745

057646
0BSY413
0eES7E
0BE74E

057646
065453
OEESTE
Oes745

0S7646
065515
086576
06E74E

0eClze

065307
QEEE7E
06E745

0eCi22

MRCYIL 27(732}
ERROR PJOINTER TRBLE

22-SEP-76  IS: 11

¢ITEM 71

:ITEM 7¢

:ITEM 73

:ITEM 7%

;ITEM 7S

; ITEM 78

DH11
D76
DF®

<ITEM 77

EM?78

; TWO SUCCESSIVE "GO™ (RHCS! BIT %0)
+WRAS GIVEN WITHOUT GIVING

: TIME F?R FIRST "GO™ TO

'COFPLE 3

:*HE FOLLOWING REGISTER
?ID NOT CONTAIN WHAT T

;RH CLERAR WRS GIVEN R 2 WCRD
:WRITE WAS_DONE FROM A~
sLOCATION TAGED WRFRIM
:AND_WITH BAI BIT SET
:AT_THE END OF THE WRITE

: THE FOLLOWING REGISTER 01D
:NOT CONTAIN WHAT 1§

s IN GOOD
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(01010 4010 0 DD DD 00 G0 00 00 (0 00 (D (0 IO G0 1~ 3.~
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BB SRR ESHLEEBLRR2BRB B2

002226
002230
0g2232
00z234

002236
002240
Q02242
002244

Q02246
002250
002252
002254

002256

002260
002262
002264

002266
002270
00227e
002274

002276

MRINDEC-11-DERHAB-A MRCY1L 27(732)
DERMRB. SRC

ERROR PJINTER TRBLE

265204
QebSTh
06&7HS

080122
085351
066576
066745

Je0ice
0BSH13
066576
DB67THS

ge0lae
065453
066578
066745

ce0lee
05515
0e6576
066745

06C415

CeS72?
066624
066756

060415
065777
0ges4d
066783

060853

22-5EP-76 15:11 PRGE 48

DHB
076
DFd

:ITEM 100

:ITEM 101
EM76

DHI3
D76
DF&

(178 10¢
EM7E
LHIY
076
DFB

:ITEM 103
EM76
DH1S
076
OFB

s ITEM 104

EMICH

CH104
DT104
OF 104

< ITEM 10S
EMI0N
DH10S
DT10S
DF10S

:ITEM 106
EMICE

HO4

R4 CLEAR WAS GIVEN AN
s TPCK BIT SHOWN IN *IPCK™ WAS SET
: ZEROS WERE MOVED INTO RHDB

:ON READING RHDB

: THE FOLLOWING REGISTER

:DID NOT CONTAIN WHAT

15 IN GOOD

:PC, TEST NG, IPCK,RHCS3 GOOD,RHCS3 BAD
;gsgngcbrgrﬁn,Ip,scoonr,saobnr

:PC,TST NO, IPCK,RHCS2 GOOD,RHCS2 BRD
;gsgnscbra?nn,Ip,scoonr,saobnr

:RH CLEAR WAS GIVEN AN
: IPCK BIT SHOWN IN “IPCK" WAS SET
s 2EROS WERE MOVED INTO

‘RMDB FROM AN ODC WORD

:RHDB WAS READ

'AN R4 CLEAR WAS GIVEN

170 CLEAR ALL ERRORS

: THE FOLLLOWING REGISTER

:0I0 NOT CONTAIN WHAT




MRINDEC-11-DERHRB-R

DERHREB

2232
2233
2234
2235
2236
223(

.SRC

002390
002332
002304

002306
0
002314

00236
002320
002322
002324

002326
002330
002332
002334

002336
QC234C
002342
002344

002346
32350
§02352
802354

002356
002360

002362
0023eM

002386
002370

002372
C0z374

ERROR POINTER TRBLE

066047
066654
066r7

060653
0esve?
066640
066783

060653
Qesvar
Dbbbed
066756

060653
gesll?
Qebb24
066756

0e0es3
0661565
0e6b24
0B&75E

060653
065235
0eb5aH
085756

061144

065204

0e6576
066745

DB1144

ges3tl

0E6ES76
066745

MACYLL 27(732)

22-SEP-76 1S:11 PRGE 49

: ITEM

< ITEM

s ITEM

:ITEM

:ITEM

ITEM 1

s ITEM

¢ ITEM

DH10E
DT106
DF106

107
EMICS

DF10S

110
EMI0G
DHIO4
DT104
DF 104

111
EM106
DHI1L
DT104
DF104

112
EM106
DHll2
DT104
DF 104

113
EM106
DHI13

OT104
DF 104

14
EMILY

DHE
076
OF®

115
EMILY

DHl2

0Te

DFB
116

I04

GOOD
NM, IPCK, RHCSI GOOD,RHCSL BAD
brgrnn.tp,scoonr,séoonr

;PC. TSTAM, IPCK,RHCS2 GOOD,RHCS2 BAD

:PC, TSTNM, IPCK,RHBA GCOD,RKBA BAD
;gsgascorgrnn,tP,scoonT,iaoonr
i Bt Bl Bl B

;PC, TSTNM, IPCK RHBAE GOOD, RHBAE BAD
:gegnscbrgrnn,tp,scoonr,;éoonr

s PC, TSTNM, IPCK, RHWC GOOD, RHWC EAD
;gsgagcbrgrnn.IP,ssoonT,tsoonr

;RH "LEAR WRS GIVEN AN
;A WRITE CHECK WAS DONE
; THE FOLLOWING REGISTER
:DID NOT CONTRIN WHAT IS
; IN “GOOD"

;RH CLEAR WAS GIVEN AN
;R WRITE CHECK WAS DONE
; THE FOLLOWING REGISTER
;D10 NOT CONTRIN WHRT IS
+IN *GOOD*




MRINCEC-11-DERMRS-R

DERNRB.SRC
002376

00e400
002402
002404

002406
002410
0Ce4i2
002414

002416
002420
002422
002424

002426

002430
g02u3e
002434

002436
002440
0C2442
002444

002446
002450
002452
032454

002456

34 0024e0
0024ER
002464

002466
002470
002472
002474

ERROR POINTER TARBLt
0613:3

065307
06ESTE
066745

61313
065204
066576
066745

061313
065351
066576
066745

061313
065413
066576
066745

061313
065453
066576
066745

061313
065515
066576
066745

061523

0eS351
066576
085745

0e1Se3
065307
068576
066745

MACY1l 27(732) @22-SEP-7%

EMILE

OH11
D76
CFe

; ITEM 117

EMmile
OHb
076
DFE

; ITEM 120
EM11G

DH12
D76
DFb

JITEM 121

EMILE
DH13
D76
OF6

; ITEM 122

DHIY
D16
DFE

; ITEM 123
EMLILE
DHIS
076
OF6

s ITEM 124
EM124

DHle
D76
DFB

; ITEM 125
EMia4
DH11
DT6
OFb

1S:11

PRGE SO

JOo4

S& AR _WAS GIVEN AN

E CHECK WAS DONE
THEN ANOTHER RH CLEAR WAS
GIVEN T0 CLERR ALL ERRQORS
:THE FOLLOWING REGISTER DID
:NOT CONTAIN WHAT IS IN “GCNO™

:ON A SILO TEST TO
;TEST DBL RHCS3-BIT ¥10
s THE FOLLOWING REGISTER
;DID_NOT CONTAIN WHAT
:1S IN “GOOD" .




MRINDEC-11-DERHAS-R

DERHRB.SRC

2344
2345
2346
2347

002476
002500
002502
002504

002506
002510
g0esl1e
J0e514

002516
0r2s20
032522
0Las2y

002525
002530
00253¢
002534

002536

002543

002542
002544

002546

002550

0025Se
00essY

002556

MRCY1l 27(732}
ERROR PCINTER TRBLE

061523
065204
066576
0e67Y4S

061523
065413
066576
066745

061523

Gu8576
06674E

051566

066303

066576
065745

062044

066303

066576
066745

0beez2

22-5eP-76 1S:11 PAGE S!

:ITEM 126
EMI2Y

:ITEM 127
EMicH
013
076
OFb

+ITEM 130
EMle4
DH1Y
DTE
DF&

; ITEM 131
EMla4
DHIS
DT6

DFB
; ITEM132
EM132

DH132

D16

:ITEMI33
EM133

DH132

D16

OF6
; ITEM 134
EM134

KO4

;BEFORE DATA TRANSFER

: COMMAND WAS TO BE GIVEN
:THE RP DRIVE

:STATUS REGISTER DID NGT
s CONTRIN WHAT IS IN GOOD

;PC
TEST NO,
{RHDS1 GOQD
:RHDS1 BAD

;BEFORE DRTA TRANSFER
:COMMAND WAS TO BE GIVEN
:THE RS DRIVE

:STATUS REGISTER DID NOT
:CONTRIN WHAT IS IN GOOD

TEST NO.
iRHDS1 GOOD
'RHDS! BAD

;BEFORE DATR TRANSFER COMMRND
:WAS TO BE GIVEN THE

:1AG TAPE DRIVE STATUS
sREGISTER DID NOT CONTAIN WHAT
+ 1S IN GOOD




MRINDEC-11-DERHAB-A

OERHRAB. SRC

2400
2401 _
2402 002564
2403

2404 002566
3405

2406
es07
2408
2409
2410
g411
2412
2413
2414
2415
2416
2417

002570

002572
0025™4

002576

002800

002602
002604

002606

002610

0Jeel2
00ze14

00261E
00e620
002622
002624

002626

002630

00z83e

002560
002s62

MRCYLL 27(732)
ERROR POINTER TABLE

066303 DH132
066576 DTE
0B67HS OFb
; ITEM13S
Ote4l2 EM135
0bE245 DH135
066670 DT135
0B677S DF135
; ITEM136
Obebl2 EM136
066345 DH135
0e6670 DT13S
068775 DF13S
; ITEM 137
063014 EM137
0B6 125 DH137
065704 07137
067002 OF 137
; ITEM 140
ge3142 EMIN0
066047 DH106
056654 DT106
086770 DF106
; ITEM 14)
063374 EMIN
085307 DH1l
CeesS76 D76

22-SEP-76 15:11

PAGE &2

LO4

NQS WATIING FOR A BIT TO SET
:BIT IN OUEgTéON IS IN "BIT WAITED FOR"

‘REGISTER IN QUESTION IN "REG ADDR"

: PC
' TEST NO
:PC OF WAT
:8IT
:REG ADDR
: SERRPC, TSTNM, WATIPC,WAITBT, WAITRE
:0,0,0,0,0

:WAS WATIING FOR A BIT TG RESET
:BIT IN QUESTION IS IN "BIT LRITEC FOR"
REGIQTER IN QUESTION IN "REG ADDR”™

'TE NO
:PC 07 WAT
BIT

:REG ADDR
: SERRPC, TSTNM, WATIPC, WAITBT, WAITRE
:0,0.0,0,0

:ON_WRITING AND READING

s THE REGISTER # IN “REG. ADDR"
:1T_DID NOT CONTAIN

EéPECTED VALUE.

: TEST NO

:REG_ADDR

:GOOD_DATA

:BAD _DATA

3ESR500TBTNM , SBDAOR, $GDDAT, $BDDAT

:AFTER CLEARING THE RH AND
WRITING TWO WORD INTO

:RHDB AND READING IT

:BACK TWICE, CAUSED RHCS1 TO
:HAVE WRONG DATA

céwsn IN BAD RHls!

: TEST NUMBER

:RHCSI GOOD

tRHCS1 BAD

; SERRPC, TSTNM, $GDCAT, $BODAT




MRINDEC-11-DERHARB-A MACYLl &7(732)
DERHRAB. SRC ERROR POINTER TABLE

2456 002634 0bB7HS
2457
2458
2459
o460

002e36 0B3S5TS

002640 085351

066576
066745

0g2k4z
0C2e44

2475 002846 083776

002650 0B5413

002652
002654

066576
066745

002eSe (0B4178

002660 065453

00zts&2
S0l 002664

0s6576
066745

00266e C&4377

002670 0&5515

22-SEP-76

DB

s ITEM 142
EMiY2

DH12

C76
OFE

: ITEM IM3
EMI43

DH13

DTE
DFE

« ITEM 144

EMINY

DH1Y

DT6
DFB

; ITEM 145
EMIHS

DHIS

18:11

PAGE S3

MO4

:0.0,0,0

s AFTER CLEARING THE RH AND
*WRITING TWO WORD INTO

:RHDB AND READING IT

:BACK TWIZE, CAUSED RHCS3 TO
' HAVE WRCNG' DATR

ggvsﬂ IN BAD RH(S3

; JEST NUMBER

:RHCS3 GOOD

:RHCS3 BAD

gEgRSCbTSTNﬂ $GDDAT, $BDDAT

sAFTER CLEARING THE RH AND
:WRITING TWO WORD INTO
:RHDB AND READING IT

:BACK TWICE, cnusso RHBA TO
*HAVE WRONG DARTA

gévsn IN BARD RHBA

s TEST NUMBER

:RHBA GOOD

:RHBA BAD

3ESRngTSTNM , $GDDAT, $30DAT

AFTER CLEARING THE RH AND
sWRITING TWO WORD INTO

RHDB AND RERDING IT

:BACK TWICE, CAUSED RHBAE TO
HAVE WRONG DATA

cxvsn IN BAD RHBAE

TEST NUMBER
: RHBRE GOQD
: RHBAE BAD

- SERRPC, TSTNM, $GDDAT, $8DDAT
:0,0,0,0

;AFTER CLEARING THE RH AND
‘WRITING TWO WORC INTO
:RHDB AND RERDING IT

:BACK TWICE, CAUSED RHWC TO
:HAVE WRONG' DATA,

GéVEN IN BAD RHIC

!




MRINDEC-11-DERHRB-R MACY1l &7(732)
DERHRAB. SRC

Q02672
00274

002678
00270C

002792
002704

002708
002710

0027 1e
002714

ERROR POINTER TRBLE

066576
066745

QBu4S??
ObEY7Y

066720
067007

064771
0Bb526

066730
067012

22-SEP-76 15:11

s ITEMIN?
EMIN?7

DH147

DTIN?
DF 147

PRGE SY

NO4

+ TEST NUMBER

RHNC GOOD

RHNC BARD

SERRP“ TSTNM, $GODAT, $BDOAT
:0,0,0,0

;A _DEVICE BASE ADDRESS DID NOT
: TIME OUT BUT CCRRESPONDING
ggCTOR ADDRESS DID TIME OUT

: BASE

: VECTOR

: SERRPC., TESTDYV, TESTVC,O

9 DEVICE ADDRESS DID NOT
TIME OUT BUT NO UNITS HARD
ggPROPRIRTE DRIVE TYPE

:BASE_ADDRESS
; SERRPC, TESTDV




ER “RELE

M INCEl =1 1 =CERws0-5 MacYll ST.Ta2)
“EQHnB S ERSOR FOINT
2538
283
2838
2539
2542
284!
2S<42 DD27ig 53228+
2543
L)
2848
S+
=S4T
2348
2549
es8C
288]
28s¢
28823
2354
2888
255 jotalo]s 091
2ss7? go00s
gt 00oCoH
cSte o218
4 D0J028
g5k <000%0
< 30100
2s £20200
Sk NAg«o0
2SES 0Cesl0
25Ek 001300
2 002020
2 slsllaie 0!
2369 010020
2sc 020000
27 o452
£’ 10200C
2573
2s74
878
2578 20C00!
2577 200002
278 000004
£87¢ 000C10
2582 2130
2581 £02C00
258z 004200
€883 010000
£o8+ 220CC0
gs8s 0400’0
=ZSek 150323
2EE?7
2s8e
2583
=90
£ca9.

BOS

22-SEP-T6 15:11 #RGE S5
*BPRRFRIBRRVNRRRFRRRRRBR RN RRRRERBRRRARRERNIRAEIRRIFARCNER 25498992
hw'O RESISTERS
RPVEC: 264 :RP VESTCR ofoRESS
inlrl'}'li!ii{!«lliiililti!f!lli!lllili!if'ﬂ}oiiffi!iet*f040H:q»wﬂ
:WORD COLNT RESISTER (RMWC)
:ERcH 81T 1S CALLED BY a*r NUMBER
:8US ADDRESS REGISTER (RHBA! :
:EACH BIT 1S CALLED BY BIT NUMBER
. +ZONTROL AND STATUS REGISTER 2 (RMCS2!
Usi= | :UNIT SELECT (81T a0.
use= 2 unxr SELECT (BIT si:
US4z :UNIT SELECT (BIT s2)
8Rl= 10 sus ADDRESS INCREMENT INMWIBIT :8I°
PRT= 20 : INVERT PARITY
LRz 42 .LLERR (BT #5)
IR= 162 : INPUT READY (SIT #6)
/= 250 :OUTPUT RERDY (BIT 87)
vPE= 400 iMASS BUS PARITY ERROR (BI7 »8;
MPBE= 400 nnss BUS PARITY ERROR (BIT a8
MYFz 1840 MISSED TRANSFER ERROR (917 23
PaE= 2000 pnocnnn ERROR (BIT a10)
NEM= 4000 :NON EXISTANT MEMORY (8IT s1l}
NED=  10C20 +NON EXISTANT DRIVE (BIT 813}
BE= 22000 :UNIBUS PRRITY ERRCR (BIT 8l3)
WE= 42220 {WRITE -HECK ERROR (BIT s1%)
DLY= 183009 :DATR LATE (BIT 8185)
-CONTEOL AND STATLS RESISTER 3 (RMCS3)
1PCKD= | : INVERT PARITY CHECK BIT 2
1PCkl= 2 : INVERT PARITY CHECK B8IT 1
IPCK2= N : INVERT PARITY CHECK 31T 2
IFZk3= 10 : INVERT PARITY CHECK BIT 3
1€= 100 INYERRUPT ENRBLE (BIT &>
DBL: 2000 :DOUSLE WORD BOUNDRY (BIT #13;
WCEEW= 4000 ‘WRITE CHECK EVEN WORD (BIT s!l)
WCEOW= 10000 :WRITE CHECK ODD WORC .BIT #12)
DPEEW= 20000 :DATA PRAITY ERROR EVEN WORD BIT #13)
OPEOW= 4000D :DATA PARITY ERROR J0C WORD (BIT #14)

HPE= 1C00C0 s RODRESS PARITY ERROR (BIT &1S.

:DATR BUFFER REGISTER tRhO3




MRINDEC -1} -DERMRE-R
ODERHMAB.SRC - ERRCR PJOINTER TRBLE

2392
2533
25
2535
3%
253
g538
2599
g8
S5l
e5.2
e5C3 JCCO01
2504 —aeid0
2528 000200
2806 Jo0s800
cElv 201220
25 £02.298
2629 (e Tole:
2612 D020
26.1 42500
. 28l 153020
ehld
ek 4
g3t
2Eld poccll
2617 200032
ce.8 £o0Cc22
2t18 830204
gsal 206813
gbel 00000
2e22 200040
zke? CCo10C
2bgn 360200
2 000400
2628 001000
27 £22000
&2 204000
23 21C00C
2630 220000
b3l J42000
2832 100002
2833
2E3H4
4 X 000001
. 283k J9002
2E2?7 002004
2638 000010
4%y 000028
cb<l 0C0CH0
2e4] 0CO1C0
b 242 000200
ge43 200400
2E44 0013000
2545 002000
2Lk 004000
2E47 21000ec

b .. -

MACYLLl £7(732)

caSs

22-SEP-76 15:11 PAGE Sb

:EACH BIT IS CALLED BY BIT NUMBER

SRERRRARERRRRERRRE R RRPARERLERRRRFRERPRE RS RS RRERERPRERES2 222294

hpua REGISTERS

..§i|!iil!§l!lQ!!!i!iiilllil{ll*lillii*ili!l#*iliilfiQféfl‘!i##if

s CONTROL AND STATUS | REGISTER.

0= 1

le= 100
RDY= 200
Rib= 400
R]%= 1000
PSEL= 2000
DVR= 4000
MCPE= 20000
TRE= 40020
SC= 100000
:STRTUS REGISTER (RHMCSL) (#2013
OFFS= |
EQT= c
JFF20= 2
LIGB= 4

GRV= 10
D4 20
i i
DRY= 200
DFR= 400
BROs= 1000
LBT= 2000
WRL= 4000
MOL= 12000
PIP= 20009
E]R= 40000
ATAR= 100C00
-ERROR REGISTER 821 (FHER!: .#32)
b= 1 '
ILR= 2

RMR= 4

PAR= 10
FER= 20
WCF= 40
ECH= 100
HCE= 00
HCRC= 400
AOE= 1300
IRE= 2000
WLE= 4000
ODTE= 10000

(8C0)

:GO_(BIT »0)
: INTERRUPT ENRBLE (BIT 8
tRERDY (BIT 87)

:HIGH ORDER UNIBUS BITS (§IT 83,
:HIGHM ORDER UNIBUS BITS .SI™ S,
:PORT SELECT (BIT 10
:OEVICE AVAILABLE (BIT sl})
:MASSBLSS PRRITY ERROR (EIT 813
: TRANSFER ERRCR (BIT #l4.
SPECInL CONDITICON (BIT s!S.

vVE FORWARD S™/SEC. (BIT a0’

INING OF TAPE (BIT s>

(BIT sl

VE TO INNER uﬂgﬁﬂ BRAND .BIT s2°

FERENCE LESS THAN B4 (317 84,
FFERENCE EQUALS 1 (BIT 85
VOLUHE VALID (BIT #8)

DR'VE RERADY (BIT #7)

DRIVE PRESENT (BIT #8)
:PROGRAMABLE (BIT #9)

LnST SECTOR TRRNSFERRED (BIT
uRITE LOCK (BIT sll}
MEDIUM ON-LINE (BIT sl

:CRI

; BEG

:ORIVE FORWARD 20"-SEC.
ORI

:GC

DIF

:01

$12)

:POSITIONING OPERATION IN PRISRESS .BIT

:COMPOSIT ERROR. .BIT 14}
:RTTENTION RCTIVE (BIT 8IS,

s ILLEGRL FUNCTI
: ILLEGAL REGIST:
:REGISTER MODIF
:PARITY ERROR (
: FORMAT ERROR
tWRITE CLOCK FAIL \BIT 85!
;ECc_hARD ERROR (BIT 6!
;HERDER COMPARE ERROR (BIT a7
tHERDER CRC ERROR (BIT #8)
: RODRESS JVERFLOW ERRLR BIT IQ)
: INVALID ADDRESS ERROR (B ;
12

Juuc»«~¢

(B
(B
TI
]
]

ON
R
o
17
17

mer 1)

: IRITE LOCK ERRCR \BIT #l!
:DRIVE TIMING ERRIR (BIT 812

Ay




M3 INCEC =11 ~0ERNRS-R
DER~REB. SR

2648
3649

£

1
e |

Al aliadiglisg
‘rarounuwg
s =D W

lglm'uﬂlfufll

MCY1]l 707328
ESROR POINTER TRBLE

22330C
24200
1000CC

100339

000031
000002
00COO4
CCOOL0
000020
00040

DOS

22-SEP-786 15:11 PRGE €T
JPl= 200900
UNS= 40000
DCks= 100000

;CPERATION INCOMPLETE (BIT =13
s DRIVE UNSQFE (BIT #l¥)
:DATA CHECK ERRIR (BIT 159

;MAINTAINRBILITY REGISTER .RHMR)(203)

DMD= 1

DIAGINOSTI
HQIP RINAB

¢ MIDE (81T 80)

MCLKz 2 ILITY cLOCK BIT sD)
MINX=  § :MAINTAINABILITY INDEX (BIT 82,
MSTCK= 10 :MAINTAINABILITY SECTOR CLOCK (BIT #3
MRD= 20 'MAINTAINABILITY READ (BIT #4)
MR= 40 HR%NTRINQSILITY WRITE (BIT_#5
DTSv= 1000 tMAINTRINABILITY SYNC DETECTED (3IT %)
;ATTENTION SUMMARY PSEUDO-REGISTER (RHAS) (#OW)

= 1 ;DEVICE 0 (BIT #0)

ATlz 3 :DEVICE I (BIT #)

ATE= 4 ;DEVICE 2 (BIT #2)

T3z 10 :DEVICE 3 (BIT #3)

ATd= 30 'BEVICE 4 (BIT #4)

ATS= &3 'CEVICE § (BIT #5)

ATe= 100 :DEVICE & (BIT #6)

AT7= 200 :DEVICE 7 (BIT #7)
;DESIRED_SECTOR/TRACK ADDRESS REGISTER (RHDST) (1)

:EACH BIT IS CALLED S5Y BIT NUMBER

;DRIVE_TYPE PEGISTER (RHDT) (#GE)

:EACH BIT IS CALLED BY BIT NUMBER

:LOOK-AHEAD REGISTER (RHLA) (407
EXTiz | {EXTENSION 1 (BIT #0)
EXT2z 2 :EXTENSION 2 (BIT #l)
EXT4= 4 :EXTENSION 3 ‘BIT #2)
EXTI0= 10 TEXTENGION 4 (BIT #3)
EXT20= 20 IEXTENSION 5 (BIT #4)
EXT43= 40 tEXTENSION 6 (BIT #5
sCl= 130 :SECTOR COUNT FIELD O (BIT #§)
§2= 200 1SECTOR COUNT FIELD I (BIT #0)
§C4= 400 :SECTOR CCLNT FIELD 2 (BIT #8)
5C10= 1000 :SECTOR COUNT FIELD 3 (BIT #3)
5C20= 2000 :SECTOR_COUNT FIELD 4 (BIT #iC:
TRKI= 4000 ;TRACK FIELD 1 (SIT s11)
TRK2= 10000 :TRACK FIELD 2 BIT #12)

TRK4= 20000 :TRACK FIELD 3 (BIT #13)
TRK10= 40000 :TRAck FIELD & BIT sl
TRK20= 100000 ;TRACK FIELD S (BIT aiS)

;ERROR REGISTER #2 (RHER2) (#10)
Weus L :WRITE CURRENT UNSAFE (81T #0)
CSF= 2 :CURRENT SINK FAILURE (BIT 8
Wsu= 4 ‘WRITE SELECT UNSAFE (BIT & 2
c8U= 10 tCURRENT SWITCH UNSAFE (BIT 83
MSE= 20 tMOTIR SEQUENCE ERRCR (BIT #4)
TOF= 40 { TRANSITIONS DETECTOR FAIL.RE (BIT 5:




EOS

MRINCEC-11-DERHRB-R MACY1l 2T(732) 22-SEP-76 1S:1] PAGE S8

OERHRB. SRC ERRCR POINTES TRBLE
g 900130 oF= 180 TPQN?&T&»NS N QFE ( 1T _86)
.;5 888288 FEN= 200 :FRILSAFE ENABLED ( 87,
& s 4 WRU= <00 :WRITE READY UNSQFE B*T 28,
nohy 001020 MHS= 1000 HULTI° E HERD SELECT (BIT #3.
S‘; 002920 NHS= 2000 +NO HERD SELECTION (BIT »19)
03 004000 IXE= <000 : INDEX ERROR (BIT #il>
2710 010009 vJ30=  100C0 30VOLT UNSAFE (BIT #12)
el 020000 PLU= 20000 PLO UNSRFE (BIT #13)
g:%g 100000 RACU= 1300C0 s RCUNSAFE (BIT 15
§:§g ;OFFSET REGISTER (RHOF: (#ll)
C¢ d
2rib 000001 QF25= ] ;OFFSET 25 MICRO INCHES (BIT #()
ey 00CC02 OFs0= 2 :OFFSET 53 MICRO INCHES (BIT I}
2718 000004 OF100= Y4 OFFSET 100 MICRO INCHES (BIT a2)
£.i9 800010 OF20C= 10 OFFSET 200 MICRG INCHES (BIT #3;
g2l 000020 OF400= 20 :OFFSET 400 MICRQ INCHES (BIT #4:
gzgé 000040 0F800= H0 :OFFSET 800 MICRO INCHES (BIT a5
&8
2723 000200 OFREv= 200 ;OFFSET NEGATIVE (REVERSE) (BIT #5)
e7ay 0C2000 HCI= 2000 :HEACER COMPARE INWIBIT (BIT $10)
8725 0C4000 ECI= 4000 ERROR CORRECTION CODE INWIBIT (BIT sl
sggg 01000C FMTe2= 10000 :FORMAT BIT (BIT #12
{
Ezgg + TAPE CONTRCL REGISTER (RHTC)
‘g
gr 000001 Sl= 1 : SLAVE NUMBER
2ral 000002 Se= 2 ; SLAVE NUMBER
2732 000004 SY4= 4 :SLAVE NUMBER
2733 000010 EPAR= 10 EVEN PARITY
273 000020 FMT1= 29 + FORMAT
2735 000040 FMT2= 40 : FORMAT
2736 000100 FMT4= 100 : FORMAT
27 000200 FMTB8= 200 : FORMAT
2738 000400 DENI= 400 D‘NS;T\
2739 001000 DEM2= 1000 ' BENSITY
274G 002000 DEN4= 2000 :DENSITY
er4l 801400 BFI8= 1400 :8C0 BPI
g;:g 000300 NML= 300 :NORMAL - 2 FRAMES PER WORD
2744
2745
2746
£747
ggzg +CRIVE TYPE REGISTER
2750 202000 SLVPR= 2000 : SLAVE PRESENT (BIT #10)
g;gé 010000 CH7= 10000 :CHANNEL 7 (BIT #12)
c
2752 +DESIREC CYLINDER RDORESS (RHCA) (sl2!
S;Eg :EACH BIT IS CALLED BY BIT NUMBER.
275E
e757
2758

2759 ; CURRENT CYLINDER RDORESS (RHCC) (#13)
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DERHRB. SRC ERROR POINTER TRBLE

gzg? :ERCH BIT IS CALLED BY BIT NUMBER
2ree
2" X |
2764
375 , :SERIAL NUMBER REGISTER (RHSN) (#14)
szgg :ERCH IS CALLED BY BIT NUMBER
(S
2769
27eg
i
crel ;ERROR REGISTER %03 (RHER3) (#15)
-
er? 000001 PSU= | :PACK SPEED UNSAFE (BIT 10)
277y 000002 VOFz 2 :VELOCITY UNSAFE (BIT
e77s 000010 UWR= 10 tANY UMSAFE EXCEPT Rsno/uaxrs (BIT %3}
2776 000920 PREz 20 :DISK PACK ROTATION ERROR (BIT 4
2777 600040 ACL= 40 :AC LOW (BIT a5)
2778 000107 oCL= 100 :0C LOW (BIT #B)
2779 04006 SkI= 40030 :SEEK INCOMPLETE (BIT #14)
2;8? 100000 OCyL= 100000 :OFF CYLINDER (BIT 15)
'
2782
2783
2784 ;ECC POSITION REGISTER (RHEC1) (#16)
gzgg ;EACH BIT IS CALLED BY BIT NUMBER
{
2787
£788
2789
2790 :ECC PATTERN REGISTER (RHEC2! (817)
2781 :EACH BIT IS CALLED BY BIT NUMBER
2792
2793
57a
4
e7ss S o RERRERRREERRFERRRRERFEREREERRRR R SRR ERERARIREAR R LR LREEFRRIRERR




MRAINDEC-11-DERHRB-R

DERHAB. SRC

-

rururwurun
Seldoleatialdalls)

tproPeap-apop-opop-el

ooy

a0 w o o0

Pa b b

LSOO L W=D

eget

003000
02
0030%e

004046
004355
004352
0O4CE4
AS438e

ERROR POINTER TRBLE

000000
0C00%2

33085

002006
x33313
000019
350016
733020
800082
000024
30086
800030
000032

SC0044
000046

003200
0000ea
000422

MACY1Ll 27(732)

GOS

22-SEP-76 15:11 PAGE 60

0
NC- -
= 4
ﬂ= 6
DA= &
€Se= lg
pS= 1
ERIl= 14
RS= 16
LA= 20
[B= 22
MR= e
DT= 2b
SN= 30
OF = 32
TC= 32
C= 34
CC= 36
ER2= 40
ER3= 42
ECl= 4y
ECe= 46
+ BUFFERS
123000
BUFEMW:
BFEVEN: O
BUFOW:
BFODD: .BLKW

274
;STARTING ADDRESS OF REGISTERS

RSCS1: 172040
RPCSL: 176700
TMCSL1: 172440
MIXCS1: 176300
PRESENT: 0

.SBTTL REGISTER ARDDRESSES

; CONTROL STATUS |
;HORD COUNT
BUS ADORES

RAME COUN
DESIRED SECTOR/ TRACK
CONTRO% ETRTUS e

;ERROR 1

ﬂTTENTION SUMMER'
: LOOK AHEAD

:DATA _BUFFER
HRINTENRNCE REGISTER
:DRIVE TYPE
:SERIAL NUMBER

: OFFSET

: TAPE CONTROL
;DESIRED CYLINDER
:CURRENT CYLINDER
:ERROR 2

:ERROR 3

JECC 1

:ECC 2

+BUFFER

sRS ALCNG
RP RALINE
TH ALONE
:MIXED SYSTEM

e N
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DERMHRB. SRC REGISTER ADDRESSES
2542 :THE FOLLUWING ARE THE 1/0 REGISTERS FOR THE DEVICE UNDER TEST
5333 ;ngsué%% BE FILLED WITH RDDRESSES DEPENGING ON WHAT DEVICE IS CN
2645 :IN_THE CASE OF A MIXED SYSTEM THAT IS WITH MORE THAN ONE Rh DEVICE
284 :THE FIRST ONE THAT EXISTS IN THE FOLLOWING LIST WILL BE PICKED
2847 :ANG THE OTHERS WILL NOT BE USED.

2848 :LIST:-

2849 1) ngoa

2859 12) RS04

2851 :3) RPOY,5,6

2852 q) TMD2’

2853 s THE CONTENTS OF RHCS1 WHICH IS THE BASE ADDRESS IS

2554 1172040 FOR RS03/04

28585 : 176700 FOR RPOM,E,6

2856 : 172440 FOR TMO2'

2857 :THE REST OF THE LOCATIZNS WILL BE FILLED BY THE pnocnnn
2958 004060 000000 RHCS1: O CONTROL AND STATUS |1

2859 (004062 000000 RHWC: O :WORD COUNT

28E0 004064 000000 RHBA: O :BUS ADDRESS

2861 004066 RHFC: -FRAME COUNT

2862 004066 RHDA: :DISK ADDRESS

2863 004066 000000 RHDST: O :DESIRED SECTOR/TRACK ADDRESS
2864 004070 00000C RHCS2: O -CONTROL AND STATUS 2
2865 004072 J0000C RHDSI: O :DRIVE stATus

2866 004074 0023000 RMERl: O :ERROR 81

28e7 004076 000000 RHRS: O ‘ATTENTION SUMMARY

2868 004100 RHCC: :CHECK CHARARCTER

2869 004100 000000 RHLA: O : LOOK-AHEAD

2670 004102 000090 RMDB: O DATA BUFFER

2871 004104 000000 RMMR: O nnrnrnxﬁnalerv

2872 004106 000000 RHCT: O :DRIVE TYPE

2873 004110 000000 RHSN: O : SERIAL NUMBER

2874 QOOMil2 RHTC: : TAPE CONTROL

2875 0324112 000000 RHOF: O : OFFSET

2876 004114 (000000 RHCA: O 'DESTRED CYLINDER ADDRESS
2877 00411e 000000 RHCCA: O : CURRENT CYLINDER ADORESS
2878 004120 000000 RHER2: O :ERROR #2

2879 004122 000000 RHER3: 0 :ERROR #3

2880 004124 (000000 RHECL: 0 :ECC POSITION

2881 004126 000000 RHEC2: 0 :ECC PRTTERN

2882 004130 002000 RHBAE: O -BUS ADDRESS EXTENSION
gggg g04:32 000000 RHCS3: O :CONTROL 'AND STATUS 3

cess

2886

2887 .

2898

gggg FUNCTION EQUATES

| 4

2891 : TABLE OF FUNCTIONS FOR RHCS! THEN “GO™ BIT HAS TO BE SET
2892 0041234 FUTABL:

2893 004134 000000 NOPERA: O :NO OPERATION

2894 004136 000002 UNLGRD: 2 :UNLORD (STAND BY)

2895 (0041+40 000006 RECALI: & ' RECAL IBRATE

269 004142 000010 DCLEAR: 10 :DRIVE CLEAR

2897 004144 000012 RELERS: 12 *RELEASE .DUAL-FORT OPERATION)




MRINCEC-1]-DERHRB-R
REGISTER RDDRESSES

DERHRS.

2913

furururVfVUrY
[VolVa Ve IVeIWa IV ¥ o

U bme o b o pos e p—
QOO N L

232l

SRC

004146
008150
004ise
Q04154
004156
CO4160
004162
Qo4lbM
CO41EB
00417C
004172
004174
0C4175
004200
NO4202
CO4204
0042086

004210
004424
0Q4EM4C
004642
004644

004646

004650
004652
004654

004656
004560
00466e
004664
004666
004670
004672

0O4674
004877
004702

004704
004706
004710

300030
02050
000052
800058
060252
000070
000072
000004
000014
000016
000022
900020
020306
000076
000030
0000E6
000060

000106
000106
000000
000000
8000ec0

000000

000000
000003
0Ca020

000000
000000
0000aa
000030
200009
000000
000000

00
o0
OO0

172040
176700
172480

MACY1l

002
020
200

fn

c(732]

004
g40

105

c2-S5eP-76 15:11 PRGE 62

SERCh: 3U ; SERRCH CCMMAND

WRCHEK: 50 :WRITE CHECK DATA

WRCHDT: 52 sWRITE CHECK HEADER AND DATA

WRIDAT: 60 :WRITE DAT

WRIFOR: &2 ‘WRITE HEQDER AND DATA (FORMAT:

READAT: 70 :RERD DATA

REFOR: 72 :READ HEADER AND DATA

SEECOM: 4 : SEEK_COMMAND

QFSETC: 14 :CFFSET_COMMAND

RETCL: 16 :RETURNTO CENTERL INE

PKACK: 22 : PACK ACKNOWLEDGE

READIN: 20 ;RERD IN

REWIND: & t REWIND

REVRED: 76 s REVERSE READ

SPACFD: 30 :SPACE FORWARD

REVUWRT: &6 :REVERSE ' WRITE

ILLEGL: .WORD O ; COMPUTED ILLEGAL FUNCTION
;DATA BUFFER FOR RERD WRITE

WRFROM: .BLKW  70. ;WRITE FROM THIS BUFFER

REINTO: .BLKW 70. :READ INTO THIS BUFFER

COMND: 0 :STORE COMMAND FOR COMMAND ROUTINE

COMAND: 0 s STORE COMMACD

NOGO: O ; IF ZERO GO IS TO BE GIVEN IN CCMMAND ROJTINE

:IF_ONES GO IS NOT TO BE GIVEN IN COMMAND ROUTINE
:USED IN PGE TEST

WATO: O :IF ZERO WAIT FOR BIT TQ SET
: IF_ONES NRIT FOR BIT TO RESET
;USED IN WAIT TRAP

WRTBIT: O :BITS NOT WRITTEN INTO

SETBIT: D +BITS ALWAYS SET

CLRBIT: O :BITS ALWAYS CLERRED

RESERVED LOCRTIONS
YSTNM: O : TEST NUMBER

SLRVE 0 'KEEP SLAVE NO.

1P: 0 : IPCK NUMBER FOR ERROR PRINTOLT

SILONM: O *SILO WORD NUMBER FOR ERROR PRINT OUT

KAITPC: O : WAIT TRAP PC

WAITRE: O +WAITING FOR REGISTER ADDRESS IN WAIT TSAP
WAITBT: O WAITING FOR BIT IN WRIT TRAP

s TABLE FOR ATTENTION BITS
*ATTENTICN TABLE
ATRBLE: .BYTE 1,2,4,10,20,40, 100,200

;RESERVED LOCATIONS FOR UNIT SELECT

BASEAD: 172040 RS BASE ACDRESS
BRSPARD: 1?5700 ‘RP BASE ADDRESS
BASTAD: 172440 :TU BASE ADDRESS
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DERMRAB. SRC REGISTER RDDQESCES

004712 176300

0030000
Q0024
002001
00000e

004714
004716
604720
004722

004724 000010

004744 000010

004764
004786
00477

004772
004774
004778
005000
00S002
00s004

000004
000000
000000
000000
000000
000000
00000C
000oCo
000000

005006
005013
005012
00said

005034

000200
00C300
000000
000010

000010

00s0S4 000010

005074 000210

0OS11M
00sile

000000
0C0000

00S1eC 000010
005140 000010

005180 (000013

JOS

22-SEP-76 1S:11 PRGE 63

BASEMAD:

BRSEVC: O
BASP: 254
BAST: |
BRSM: 2

176300

;MIXED SYSTEM BASE ADDRESS
;RS VECTOR

HIXED VECTOR

;TRBLE FCR GIVEh BRSE ADDRESSES

BSGIVA: .BLKW

; TRBLE FOR GIVENBVECTOR

BSGIVV: .BLKW

NMRHS ;
BASINX:
WORKBS:
WORKNM:
WCRKVC:
FORBAE:
LOPCT:
LOPCTI:
USEVEC:

O0000000O0x

1]
-4
<
m
*s an
(=)

0
“TESTING TABLE
$SRHNO: . BLKW

TSDEVICE:

TSUNIT: .BLKW

TSSLAV: .BLKW

TSTOTL: O
TSINDX: O

TSVEC: .BLKW
TSBARE: .BLKW

TSCS3: .BLKW

8.
.BLKW

8.

; NUMBER OF RH

s INDEX FOR BASE

: WORKING BARSE

s WORKING NUMBER FOR RH

: MORKING VECTOR FOR RH

:TOTAL NO. OF REG. FOR BQE CALCULATICN
sLOOP COUNT FOR 200 STA

:LOOP COUNT FOR 210 STRRT

:USE VECTOR

. IF ONES OPERATOR WILL GIVE ADDRESSS
-UNIT UNDER TEST

:ALL ONES INDICATE STARTING FROM 200

:RH NO TO BE TESTED IN ORDER OF TEST e

h)
8. +DEVICE T0 BE TESTED IN ORDER OF TEST ¥
1=RS03,3/L,3/LA 2=RS04,4/L 4=RP04,S5.6 SINGLE POR™
IO-RFUQ 5,6 DURL PORT 20=TMO2

;UNIT NO. TO BE TESTED IN CRDER OF TEST
;SLAVE NO TO BE TESTED IN ORDER OF TEST

:TOTAL NO.- OF UNITS 7O BE TESTED
: INDEX TO ONE UNDER TEST

; VECTOR RDDi'ESS IN ORDER OF TEST
;RHBRE ADDRESS IN ORDER OF TEST

;RHCS3 RDDRESS IN ORDER OF TEST
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3010

005200 000010

005220 COO0IC

02c00g
300003

035243
00se4e

00S244
005246

00S2sC
005252
005254

905256
005260
005262
005264

005266
005270
00527¢
00s274

005276

0000090
00000C

000000
000000
0000ce

172040
176700
172440
176300

000204
000254
000224
0C000c

0C000H

005300
005310
005320
005322
00S3e4
00326

00000
000004
030000
000000
000000
000000

005330
003336

000000 0C023! 00O0C02
000003 7200004 023020

KOS

22~SEP-76 15:11 PAGE &4

TSCOMD: .BLKW 8. : COMMAND RDDRESS IN ORDER OF TEST
TSBASE: .BLKW 8. :BASE ADDRESS IN ORDER OF TEST
ERFLGS: 0 : ERROR FLAG
FIRST: O :IF ZERO WILL TYPE HEADER
:IF ONES WILL NOT TYPE MEACER

ATTENT: O QTTENTION BIT FOR PRESE UNIT
TOTALAT: 0 TATAL A E TION BITS
TMPO: .WORD O : TEMP STORAGE
TMPi:  .WORD O
TMPY:  _WORD O : TEMP STORAGE

:PERMGNENT TABLE
PERRS: 172040 :RS BASE ADDRESS
PERRP: 176700 ‘RP BASE ADDRESS
PERTU: 172440 : TU BEASE ADDRESS
PERMX: 176300 +MIXED BRSE ADDRESS
PERRSV: 204 :RS VECTOR ADDRESS
PERRPV: 254 'RP VECTOR ADDRESS
PERTUV: 224 : TU VECTOR ADDRESS
PERMXV: 0 tMIXED VECTOR ADDRESS
PERNUM: 4 :NUMBER OF RH

s WORKING TABLE
DEVPNT: .BLKW Y . BASE ADDRESS TO BE TESTED
VECPNT: .BLKW d : VECTOR ADDRESS TO BE TESTED
LTRY: 0 :NO. OF UNITS T0 BE TESTED
TFOUND: O : TWICE NUMBER OF RH FOJND
TESTDY: O :STORES BASE ADDRESS OF TEST DEVIZE
TESTVC: 0 srones VECTOR OF TEST DEVICE

TYPNT:

; THE ABOVE TWO IS BEFORE ANY

!DEVICE IS FOUND.
: TABLE FOR DRIVE TYPES
+0=RS03, 1=RS03/L, 2=RSO4, 3=RSO4/L, 4=RSO3/LA
+ 20020= QINGLE PORY RPOY, 24020=DUAL’PORT RPON
: 20021=SINGLE PORT RPOS. 24021=DUAL PORT RPOS
?888§05%ﬁ?t5 PORT RPO6, 24022=DUAL PORT RPOE

.WORD  0,!1.2,3,4,20020,24020,20021,24021 ,20022, 24022, 142010

L 8

Vs
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OERHAB.SRC REGISTER ARDDRESSES

3066 005344 Q24020 32002‘ 024021

B R g e Bl
3059 005362 QCOOI4

30" 005364 GOO0CC

3074 005366 000004

3C76 005376 00000H
3377 00%S406 200004
3078 00S4i6 0000CH
3079 0CS426 000004
3380 00S436 000004
3081 00S446 0000CH
3082 005456 00000M
3083 00S466 (00COCH
3084 (005476 000004

3086 00SS0& C0OCOC
3088 0Q0SS10 00000C

302! 00SSl2 000000
3092 Q0SSI4 177740
3093 Q35516 1772742
3094 J0SE20 177744
3C38 GCCll4

22-SEP-76

POINTT:
NTYPNT:

TMPSLV:

FDEVIC:
FUNITN:

FTYPE:

FVECTR:
FBASER:

FRHNM:

FSLAVE:
FDRIVR:

FBAE:
FCS3:

0
14

0

1S:11 PRGE 85

LOS

;POITER TO ABOVE TABLE
:NUMBER OF ABOVE TYPES

; TEMPORARY SLAVE COUNTER

: TABLE OF DATR FOR DEVICES FOUND

.BLKW

.BLKW
.BLKUW
.BLKW
.BLKW
.BLKW
.BLKW
.BLKW
.BLKW
.BLKW

TSTUNT: O
WORUNT: O

VECTOR: O

LERADD:
HERADD:
MEMERK:

177740
177742
177744

PARRE7O=114

fLLr Lo

-DEVICE FOUND, 1=TU, 2=RP DUAL
:3=RP SINGLE, Y4=RSO4, 5=RSO3
‘UNIT NUMBER’ FOUND

: DORIVE TYPE FOUND

: VECTOR FOUND

*BASE ADDRESS FOUND

:RH NUMBER FOUND

+TULE SLAVE NUMBER FOUND
:DRIVER RDDRESS FOUND

:BAE ADDRESS FOUND

1S3 ADDRESS FOUND

; TOTAL _NUMBER OF RH FOUND PT
:END OF SIZE

:SAME_RS ABOVE BUT TO BE
:DECREASED AT END PROGRAM

-VECTOR UNDER TEST
:LOW ERROR ADDRESS REG.

+HIGH ERROR ADCRESS RES

* MEMORY SYSTEM norarss REG
:PARITY ERROR VECTOR FOR 7
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DERHAB. SRC REGISTER TEST

309 .SBTTL REGISTER TEST

3097 00SS22 012737 177777 00S012 BEGIN: MOV x-1,57200

038 005530 00CH02 BR START

?gg 0C3832 005037 005012 BEGIN2: CLR §T1200
101 005536 START:
.SBTTL INITIALIZE THE COMMON TAGS
::CLEAR THE COMMON TAGS (SCMTAG) AREA _
005536 012706 001130 MOV $3CMTAG.Rb ; sFIRST LOCATION TO BE CLEARES
005542 005026 CLR (RE)+ : :CLEAR MEMORY LOCATICN
005544 022706 001140 CHP #SWR,RE ; ; DONE?
005550 2361374 BNE .-b s :LOOP BACK IF NO
005552 012706 001000 MOV #STACK, SP :1SETUP THE STACK POINTER
. ;s INITIALIZE A FEW VECTORS

00SSS6 012737 043120 000020 MOV #$SCOPE, @#I0TVEC ;;I0T VECTOR FOR SCOPE ROUTINE
005SEe4 012737 000340 000032 MOV . w340,asi0TVEC+2 ;:(EVEL 7
005572 012737 044744 000030 MOV #SERROR, AWEMTVEC  : ;EMT VECTOR FOR ERROR ROUTINE
005600 012737 000340 000032 MOV #340, I8EMTVEC+2 ; :(EVEL 7
005606 012737 046436 000034 MOV #STRAP, #TRAPVEC' : : TRAP VECTOR FOR TRAP CALL
005614 012737 0CO340 000036 MOV #8340, JRTRAPVEC+2; LEVEL 7
005622 012737 046516 000024 MOV #3PWRDN, 34PWRVEC " ; ; POWER FAILURE VECTOR
005630 012737 000340 000026 MOV 2340, J4PURVEC+e ;:LEVEL 7
005e36 00S037 001212 CLR §TIMES : 1 INITIALIZE NUMBER OF ITERATIONS
008e42 005037 001214 CLR SESCAPE ::CLEAR THE ESCAPE ON ERROR ADDRESS
005E46 112737 000001 001115 MOVE I, SERMAX ;;ALLOW ONE ERROR PER TEST
005654 012737 005654 001106 - MOV t.,3LPADR : 1 INITIALIZE THE LOOP PDDRESS FOR SCOSE
008662 012737 005662 001110 MOV %. SLPERR t:SETUP THE ERROR LOOP ADDRESS

;;SIZE FOR A HARDWARE SWITCH REGISTER. IF NOT FOUND OR IT IS
;;EQUAL TO A "-1", SETUP FOR A SOFTWARE SWITCH REGISTER.
00S670 013746 0OO004 MOV JBERRVEC,-(SP) ~;:SAVE ERROR VECTOR

005674 812?3? 005730 000004 MOV 8648, J$ERRVEC™  3:SET UP ERROR VECTOR

L£L£.L£.£L WL WLWLWLWLINININIMIUNITUNINURI N = b= b bt ps s e p=a = 1= (D) (D OIOOI OO O
L£ WM~ OVO NN £ WM OW00 NOTUN WM OO N UL WU 000000 U LW

(O ININIAINRINISIAI NIV A NIRRT A A AN RN AN ATAIAINIRINISAIATAIRIRIG IR AATATATRTATN N
P B e Bt e e ot Bt et ot ot Pt ot ot s Pt ot s ot fmn Pt e ot ot Pt o Pt ot st et it ot et s s ot mt s s Pt Pt Pt s

005702 012737 177570 001140 MOV 8DSWA, SWR :1SETUP FOR R ‘HARDWARE SWICH REGISTER
005710 012737 177570 001142 MOV #0DISP,DISPLAY ::AND A HARDWARE DISPLAY REGISTER
GG5716 Q22777 177777 173214 CHP 8-1, ISR : 1 TRY TO REFERENCE HARDWARE SWR
005724 00i012 BNE 3% $ 1BRANCH IF NO TIMEOUT TRAP OCCURRED
:AND THE HARDWARE SWR IS NOT = -1
00S726 000403 BR £SS : {BRANCH IF NO TIMEOUT
005730 012716 005736 BYS: MOV $E5S, (SP) :1SET UP FOR TRAP RETURN
005734 (000002 RTI :
005736 012737 000176 001140 6S§: MOV #SWREG, SWR : sPOINT TO SOFTWARE SR
BOSP44 012737 030174 001142 MOV #DISPREG, DISPLAY
005752 012637 00004 BES: MOV (SP)+,asERRVEC ;;RESTORE ERROR VECTOR
00S7S6 012737 000000 177776 MOV %0,PS :SET PROCESSOR STATUS TO Q
005764 012737 000200 000036 MOV 2200, I8 TRAPVEC+2 - TRAP PRIORITY = 4
00S772 013703 002716 MOV  J8RPVEC,RO :GET RP_VECTOR ACDRESS
005776 012720 043056 MOV #RPVECT | (RO)+ s THIS IS FOR UNTIMELY INTERRUPTS
145 006002 01e710 0OD3ND MOV #340, (RO) ;gsggn§¥$snngpr SERVICE ROUTINE
147 006006 004737 O4406M JSR  PC,d¥STKINT s INITILIZE THE TK
148 00e0l2 005037 045100 CLR  PRITEM :CLEAR FOR ERROR MESSAGE PRINTOUT
149 006016 005727 005242 TST  JsFIRST : 1S THIS FIRST TIME ROUND
150 006022 0010C1 BNE 18 :BRANCH™ IF NOT
18] 00s024 0OCM02 ER 2%
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DERMRAB. SRC INITIALIZE THE COMMON TRGS
3152 006026 000137 00611 18: IMP JMSND1
3183 00e032 23:
3184 006032 104401 0OBO4O TYPE 63% ++ TYPE ASCIZ STRING
3155 006036 000426 BR 78 ::GET OVER THE ASCIZ
g 006114 ééggs: .ASCIZ 718><12>/RH70 FUNCTIONAL CONTROLLER TEST DERHA-B/
3 006114 012737 177777 005242 SNDi: MOV -1, AWFIRST :NEXT TIME DC NOT GIVE HEADER
3 006122 012737 037736 000114 MOV $PARITY, J¥PARE70 :PARITY VECTOR
3 006130 012737 000340 00011e MOV $340, J4PARE7D+2 :PRIORITY 7
3 00613t 012737 037600 005004 MOV $TIEQUT, I8ERRVEC :TIMEOUT VECTOR
3 006144 012737 0002340 0000Cs MOV #8340, 98 RRVEC+2 :PRIORITY 7
3
3

SNANNNCIN NN OO UIUIUNY

Lo REEERREEEREREREREEREFER R R E AL EREEEERL L REEXERREL LR EEEELREEE
TETEST 1 SIZE _FOR RH DEVICES

THIS TEST DETERMINS WHICH RH DEVICE IS ON THE SYSTEM,
IF THE SYSTEM HARS MORE THAN ONE RH DEVICE THEN ONLY ONE OF
THE DEVICES WILL BE USED IN THE FOLLOWING TESTS.
THE_ONE THAT WILL BE USED IS THE FIRST ONE THAT IS PRESENT
ég THE FOLLOWING LIST

5
RP
™

THE WRY THE TEST WORKS IS RS FOLLOWS:-

R REFRENCE IS MADE TO THE CONTROL AND_STATUS REGISTER 1

FOR THE RS BY A TST INSTRUCTION. IF IT RESPONDS THEN IT IS
ASSUMED PRESENT AND THE LOCATIONS FOR THE I-/0 REGISTERS ARE
FILLED WITH THE RPPROPIATE ACDRESSES.

$EEHEEHE DRIVE TYPE REGISTER IS CHECKED TO HAVE GOOD

IF THE TST INSTRUCTION TRAPS TO R NON EXISTANT VECTOR _ _
THEN & SIMILAR ATTEMPT IS MADE TO A RP CONTROL AND STRT.3

VM Weee S EE B9 G WIWE &
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202 REGISTER 1.
3203 THEN A TM IS TRYED.
%ggg THEN A MIXED SYSTEM WITH MORE THAN ONE RH DEVICS IS TRYED.
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MAINCEC-) 1-DERMAZ- maLYl Tina zg-ssp-~s 1S:11 PASE &8
SE&-Ag. SR° o8 S3E FoR R DEVICES
3308 0OBISY 212730 Q0201 cdial2 Moy ), STIMES ::00 1 ITERATION
3333 S3Eige 30ST3T ZIDelia 18T 57300 15717 A 200 START
2.9 20cise 0IMi3 O BEs 3§ :BRANCH IF NoT 200 STRRT
i Sebioe §io0d0 QPEash M3V SPERRS, RO :POINTER TO MOVE 9 WMRCS FRZM
310 336ine BiaTRy BRIAI] MV 93, .R] ‘HUMBER TQ MOVE i
3813 £3e200 Qiatde 00830 MOV aDEVPNT, R2 :POINTER_TO MCVE 9 TORLS TC
35.4 226204 012022 18: M)V (RG1+, (R2)+ :FILL WORK TABLE
315 02630 00E3%: OEC Rl
3.5 00eSig Q0138 .. BNE 13 ;BRANCH IF 9 NOT CONE
3:1F D6eSle 080137 oces:2 M  SETSIC
3313 02626 o 28:
2.9 0Jp31e 10WNDl OseEz4 TYPE 865§ ::TYPE ASCIZ STRING
3220 0Cez22 0OOMI7 SR b4§ s:GET OVER THE ASCIZ
k-5 :658: .ASCIZ <15 (12>/MOW MANY'RH TQ BE TESTED /
3222 2CB36S Las:
3333 226283 10440l 008270 TYPE  ,E7S :: TYPE RSCIZ STRING
3go4 50B3BE 00232 .. BR 66§ ;1GET OVER THE RSCIZ
338 ;;678:  _RSCIZ (15..12>/ ¢
. g
3§Se 3825?§ 31165 005320 MOV (5P, LIRY :GET NUMBER OF RM TQ BE TESTED
3229 00e3C: 01263r 055250 MOV (SP)+, TMPO :WCRKING NUMBER OF RH
383 00E3% Q1873 COCSCL cosese MOV .6.Tn¢1 iR HUMBER 10 BE TYPED
3%55 ODE3[4 008800 CLR R :INDEX TO WORKING TRBLE
3233 208316 28:
22N 206316 10440 008324 TYPE 698 :3TYPE ASCIZ STRING
323 06322 200417 BR bag -1GET OVER THE RSCIZ
3036 .-£98: ,ASCIZ <15°<12>. TYPE BASE ADDRESS OF RM NQ.
337 006362 b8s:
3238 006362 01346 OCERS2 MOV TMPL,-(SP)
3239 DOE3RE 1040 TYPDS A
2240 D0e370 104401 DCe3T TYPET 718 ::TVPE ASCIZ STRING
3241 C36374 00002 3R o ::GET OVER THE ASCIZ
Je42 ++718: _RSCIZ IS~ /
3243 0OBHO2 r0s:
3244 DOEM0Z 10410 R0ICT i i
2245 00604 0l2e6C 095300 MOV (SP)+,DEVPNTIRD) ;FILL WORKING TABLE WITH BASE ADDRESS
3246 0J6<410 104401 00641E TYPE 738 + s YYPE ASCIZ STRING
3247 DDE4i4 000420 BR 28 [iGET QVER THE 35017
3248 -.738: .ASCIZ «IB>«12>-TYPE VESYOR ADCRESS OF RH NO/
3249 0OeNSH 228:
3250 D0OE4SE 013746 (005252 MOV  TMP1,-(SP)
305] (0DE4E2 10HMCS TYPDS
3262 0CE4E4 104401 000200 TYPE.  ,CRLF
3253 DDEM70 104M4]0 RDOCT i
3god J0ure O1%ed 00sai0 MOV (SP)+,VECPNT(RD) ;FILL WORKING TRBLE WITH VECTOR ADCRESS
2555 006476 005720 TST (RO)+ ;A0 2 TO RO ,
2286 00ESD0 (005237 (005252 ING  TMPI :GET NEXT RH NUMBER
3267 (02eSCN C0S337 (0CS250 gec  TMPO :COUNT DOWN RH TO BE TESTED
se8 COBSI0 DO1302 BN 38 :BRANCH IF ALL NCT DCNE
2289 - ;RO WILL HAVE DEVICE POINTER, Rl WILL HAVE VECTOR POINTER
326) 012700 (G0S300 SETSIZ: MOV SsDEVPNT, RO sDEVICE PCINTER

clesie
ze2 (CeSls 012701 QCS3ld MoV SVECPNT ,R! :VECTOR PMINTER
J0sSz2 CO0S037 (0CSzez CLR TFOUND sWILL BE USED RS PCINTER
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e A NCEu—Il-DERHQB-R MACY1] 27(T32) 22-SEP-"B 1S:11 PAGE &9
DERHAB. SRC 1 §1 SISE FOR RH DEVICES
3508 JoReSE QieTaT 010520 000OOY 18 M) <4 RS 1O o TEQLER €L CE L7
- w 7 l. - M V . V ‘1’ >~ ~ - ‘f
gsgg ggggaﬂ §1§o§? 8g§§§g MO\ 3 14, TES §8v nJassgg BEVICE TC BE” § E7eq
% 40 013137 08833 MOV LR1‘¢ TESTVL vs*roq ro B TESTED
gs&g 06s44 OCSTTT 176554 T T b E TIME Oxfl ? x;g gggg
4 FNO TIM our 0CCJRE TAEN CEVICE IN TESTDY RESENT
3370 : NOW FILL RLL REu;STER ADDRESS TABLE
ggr; gassgn gx zgg ggoaa fOV :COUNT 22
~3 09eBZ4 Q12703 (00406 MOV IQHVQI R3 :GET BASE LOCATION
323 J0eS6C O137C  0CS32d MOV re:rc“‘nq :GET BASE ADLRESS
74 006564 Q10M: 28: MOV RY. (R3} +FILL PROPER ADDRESS
3275 00eSEe 26eTO: 000032 ADD 82.RY : INCREMENT noonss: BY 2
326 00eS72 0932 DEC R2 :COUNT DOWN
3T 006S74 001373 8NE 2§ :BRANCH IF 22 NOT CONE.
3278 006eSte 005077 175288 CLR SRHCS2 :SET UNIT NUMBER
3279 0oBB02 S8
3580 00BE0: 012r3T 005330 09s3e0 38: o 8TYPNT,POINTT  ;POINTER TO DRIVE TYPE
33§§é 006610 012737 J00014 00S36¢ MOV 849, NTYPNT NUHEER OF DRIVE TYPES
3283 006kl _ Ss7:
3284 00BS1E 022737 000001 00S382 48: cHe 8], NTYPNT 15 IT FOR TU
3285 (0e6ay OO qsw BEQ 5§ :IF FOR TU BRANCH
3096 00626 0I%737 17S2SM 001128 MOV SRHDT.$BDDAT  :READ DRIVE TYPE
3987 006634 Ola2702 000014 MOV £14 Re :GET uurésn FOR DT NOT DONE
3298 D0SE40 183702 008362 suB NTYBNT, R2 GET DT T0 DO
3288 0066w (006302 ASL R2 ULTIPL 9 R2 8Y 2
3230 00664s (26237 (005330 001126 CMP TYPNT(R2), seoonv IS DRIVE TYPE FOUND
3291 0066S4 001402 BEQ 16§ :CRIVE TYPE FOUND SO BRANCH
3992 [00eeSp 000137 C1OSWM INP 3]
32393 0CebRe 777 0i030C 175206 18%:  BIT SNED, SRHCS2 1S IT NCN EXISTANT DRIVE
3% 006670 001437 BEQ gs iNED NOT SET, DRIVE TYPE FOUND SO BRANCH
3295 ‘A DEVICE HAS NOT BEEN FALND
gggg 00e6T2 000137 010536 vp 5§55 R DEVICE HAS NOT BEEN FOUND SJ BRANCH
3998 - TRYING THE TUlEe DRIVE TYPE
3095 00BETE 005037 (0OS36M c§: AR MPSLY :SLAVE 0
3350 006702 (013777 O00S3E4 175202 ©3: MOV TFPSLV RHTC  :MOVE s;nvs uunasn IN TAPE CONTROL
230] 006710 017737 175172 00lize MOV JRHDT,4B0DAT  ;READ DRIVE TYPE
33C2 00671 032737 002000 Q01126 BIT sSLVPA, §BDDAT  :IS SLAVE PRESENT
3303 0DE724 001014 BNE 78
3304 C£NE72e 022737 00OCO7 0OS3e+ CMP 87, TMPSLV +15 7 DONE
333 00e734 09:002 BNE 17¢ ‘BRANCH IF ? DONE AND NONE FCUND
3306 00673t 000137 01054 IMP SS8
3307 882342 008237 (0S3kY4 178: INC TMPSLV <GET NEYT SLAVE
3308 ™46 012777 040000 175104 MOV 8TRE, IRHCS :CLEAR CONTROLLER ERRCRS
3309 006754 0007s2 BR &8 s TRY NEXT SLAVE _
3210 :Q osvzcs HAS BEEN FOUND' SHVE SLAVE
3311 00e7Se 013702 C0S322 73: MOV TFOUND. R2 T N) OF RH FOUND X2 FOR INDEX
23.i2 006762 013762 005364 00S44E MOV TMPSLV FSLﬁVE(RaS
3313 R DEVICE HAS BEEN FOUND. resr VECTOR
3314 00e770 012737 007004 000004 8S: MOV 9%, ERRVEL TIME QUT VESTCR TO REPORT ERRJR
3Z]15 [00E776 005777 176324 75’ TESTVS 'YRY TINE OUT ON VECTOR
321 007002 O0CC403 10§ s VECTOR EXISTS SO CONTINUE
3317 007004 104146 9§ Ennon 196 :A DEVICE BASE ADCRESS DID Nyt
2318 TIHE OUT BUT ITS CCRRESPONCING
23.9 :VECTOR ADCRESS TIMED OuT




3320

38581

go7ale
007016

HM.—-HH.—-H

Dor224
007232
C07236
Cora4e
007246
007252

007256
o0728d
00726
007270

007326

MRINDEC-11-0ERHRS-R
OERMRB. SRC Tl

O0O00V0Oo OO

013762

022762
COi0lE

MacYll 2Ti732}
SIZE FOR RH DEVICES

QCS3st
085376
7.0 005376

00S406
Q05416

00536¢
005456

000401
S41710
QC5324
000034
005466

C0o000e
000003
00CO04
0Ca33s
CC00Cs
000007
Q41572

005324
000GS0

C0s3ee
0053t
005366
005386
005366
C0S3e6
005456

000010
Cooo1!
000c1e
000013
0COC1M

008366
005366
C0S3eb
COS3ed
00S2e

22-SEP-76  IE:

103:

118:

128:

138:

D06

PAGE 70

+HI™ CONTINUE TC REPEAT THIS
: TEST

HALT

BR 8% {REPERT THIS TEST

1A DEVICE HAS BEEN FOUND'AND VECTOR RESPONDS SO STORE RESLLTS
MoV TFOUND,R2 GET NO OF RH_FOUND X2 FOR INDEX

MOV NTYPNT. roEVIC(qal oevxce =TU; 2,3,4,5.8,7=RF;
11 12 13, 14=RS '’

MV JRHCS2, FUNITN(R2) cs? RACSE

BiC 8177778, FUNTTN(R2) KEEP unxr NUMBER

MOV JRMDT,FYYPE(R2) :DRIV

MOV TESTVE, FVECTR(R2} :VEC on

MOV TESTDV.FBASEA(R2) :BASE ADDRESS

MOV TFOUND FRHNM(R2) :RH NUMBER X2 MINUS ONE

ASR FRANM(R2) aﬁ NUMBER MINUS ONE

ING FRHNM(R2) :RH NUHBER

CMP a1 FDEVIC{R2) IS IT

8NE 11 NCH IF NOT T

MOV SCMNDTM, ronxvmé) - DRIVER noonsss FOR TU

MOV TESTOV,-/SP)  :BASE ADDRESS

ADD B(2E14 >, (SP)  ;IGTH nooness IS BRE FOR TU

MOV (SP) rsnémnex :SAVE BAE FOR TU

ADD : 16TH AODRESS xs CS3IFOR T

MOV msﬁ)+ FCS3(R2) :SAVE 083 FOR T

BR SS1

CMP 82, FDEVIC(R2) ;IS IT RP DUAL PCRT

BEQ 124 ) :BRANCHIF RP FOUND

CMP 83, FOEVIC(R2) :IS IT

BEQ 12¢ .BRRNCH IF RP FOUND

CMP #4 FDEVIC(R2) - :IS5 IT RP DUAL PORT

BEQ 124 :BRANCH IF RP FOUND

CHP $S FDEVIC(R2) IS IT RP

BEG 128 ;BRANCH_IF RP FOUND

CHP 86 FOEVIC(R2) ;IS IT RP DUAL PORT

BEQ 12$ .snnnca zr RP FOUND

CMP 87 FDEVIC(R2) ;IS 1T .

BNE 13 nncu xr NO R

MOV sCMNDRP, FDRIVR(RY)  sDRIVER nnoREss FCR FP

MOV TESTDV, = (SP) BASE ADDRESS

ADD 82#20.>,(SP)  :215T ADDRESS xs BAE FOR RP

MOV csp) FBAE(R2)  :SAVE BAE FOR R

ADD (5P) :22ND ADDRESS 15 €53 FJR RP

MOV (sé)+,rcsacna) :SAVE CS3 FOR RP

BR 551

CMP 210, FDEVIC(R2) ;IS IT RSO3/LA

) 14§ annncu IF nsoaan

P 811, FDEVIC(R2) ;IS IT RSON-/

BEQ 148 annncn IF RSUHI

CHP 12, FDEVIC(R2) :IS IT RSOM

BEQ 148 annn»n IF RSON

CHP 813.FDEVIC(R2) ;IS IT RS03/L

BFG 148 : BRANCH IF RSO3/

(P #14,FDEVICR2) :IS IT RS03

E iE 15% :BRANCH IF NOT RSC3
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ok

00" 3ue

00r 364
00 356

007410
007410
007414
007416
007422

007446
007446
037452
J074EY
007460

037472
0ar47e
C378a0
837sCa
OC750¢

CC7530
0C783C
007534
007536

007616
C07ece

007646

b . ot e . e —

S‘S %

00Q40!
002000

104401
000406

016246
105405
104401
000411

01624€
1094C2
1054C1
000404

000137

i dw!

022762
031816
109401
000411

000137
022762
001816
104401
000411

MRCYLL 271732)

22-SEP-76

SIZE FOR RH DEVICES
83&335 05456  14§:

Q0r3™4

005436
007424

005426
Curus?

000001
0o7sio

00446
010338

0J0002
007%60

010336
000003

007624

005366

005386

005366

--71%:

70s:

-:739%:

?2%:
es:

:75%:

545:

MYV
oV
ROD
MoV
RDD
MOV
SR
HALT

EO6

15:11 PAGE 7!

?EN?BRS F RIVRKRE) DR&VQR ADDRESS FOR RS

Be2#i2 . (SP)

(SP) FBAE (R2)
2. (8p)

ésr!m FLSB\RE)

;NOW TYPE RESULT

TYPE
BR
.RSCIZ
MOV
TYPDS
TYPE
BR
.RSCI2
MOV
TYPQC
TYPE
BR
.ASCIZ
cMP
BNE
TYPE
BR
.RSCIZ

Mov
TYPDS
My o

cMP
BNE
TYPE

BR
.RSC12Z

JMP
cMpP
BNE
TYPE

BR
.RSCIZ

65§

43
¢1€><12> /0N RH Nb/

FRHNM(R2),-(SP)
678
éaé
FBASER(R2),-(5P)
698
£8§
/ FOUND~/
81, FDEVIC(RE)
13
718
0%
/ TULB AT SLAVE.
FSLAVE(R2),-(5P)
X3

%2, FDEVIC(R2)
2%

738
228

/ RPOB DUAL PCRT
6%

3, FDEVIC(R2)
3555
?

4§
7 RPOG SINGLE pokt”

13TH RDDPESS IS BRE FOR RS
:SAYE 9A

; 14TH AD RESS I CS3 FOR RS
:SAVE CS3 FOR R

: CONTINUE

: PROGRAM ERROR

;3 TYPE RSCIZ STRING
:GET OVER THE ASCIZ

: TYPE RH NUMBER
;s TYPE RSCIZ STRING

; ;GET CVER THE ASCIZ
St /

: TYPE BASE ADMRESS

;i TYPE RSCIZ STrING
; :GET OVER THE RSCIZ

IS IT TY

:BRANCH IF NOT TU

+: TYPE RSCIZ STRING
::GET OVER THE ASCIZ

: TYPE SLAVE NUMBER

: THE FOLLOWING TYPES OUT
: THE DEVICE AND REDEF INES
:FDEVIC: 1=TU e-np DAL PORT
+3=RP SINGLE POR
1 4=RS04 /L, RSOY
:5=RS03-LA, RSC3/L RSO3
:15 IT RPOA DUAL BORT
:BRANCH IF NOT npce DUAL PORT

: TYPE ASCIZ STRING

;1GET OVER THE ASCIZ

/

: 1S IT QP06 SINGLE PCRT

:BRANCH IF NOT RPO6 SINGLE FORT
..T\PE RASCIZ STRING

:GET OVER THE RSCIZ




HQZNDEC-II‘DERHRSIR

DERHRB. SRC

3432
533

007546
007652

R
007E70
00764

007744
007770
007770
007772

010014

010036
313036

T

920137
022762

1avES
104401
000418

900137
022762
001020
J12762
104401
DooMIL

000562
0ee7ee
001017
012762
1044C1
000410

000837
022762
001020
012762
104401
000411

0o0s13
022762
031014
012762
104401
00C40S

000473
022762
001213
012762
104401
000404

000454
022762
golig0i2

000403

MACY1
SIZE

910336
000C04

003002
007678

RC
IZ

010336
00000S

000003
007746

000006

0C0002
010018

gooea”

000003
010064

300010

003005
010134

000011

000004
010174

0coale

00000y
010232

1
£

gr(?32)
OR RH DEVICES

005366
0C53s5

005386
005366

005366
005366

005366
005366

005366
005386

005366
00536t

00S366
005366

22-SeEP-76 15:11

39:

;1818:

803:

;3838:

g2s:
108:

; 858:

éQS:
118:

:-B878%:

bts:
12%:

: - 89%;

bks:

JHP
CHpP
BNE
MOV
TYPE

BR
.RSCIZ

JMP
cHP
BNE
MOV
TYPE

BR
.ASCIZ

B8R
cMP
BNE
MOV
TYPE
BY
RSCIZ
BR
cMP
BNe
10V
TYPE

ER
.RSCIZ

MV
TYPE

BR
.ASCIZ

BR
CMP
BNE
MOV
TYPE

BR
.RSCIZ

BR
CMP
BNE
MOV
TYPE

BR
.RSCIZ

FOB

PAGE 72

&8
SH,FDEVIC(RE\
83 FOEVIC(R2)

778
B

6%
¥5,FCEVIC(R2)
8s

#3, FOEVIC(R2)
793
788

/ LR
# RPOS DURL PORT/

;15 1T RPOS DUARL PCRT
;BRANCH IF NOT RPOS DUAL PORT

; : TYPE ASCIZ STRING
:;GET OVER THE RSCIZ

;1S _IT RPOS SINGLE PORT
;BRANCH IF NOT RPOS SINGLE POXT

¢+ TYPE RSCIZ STRING
- +GET OVER THE ASCIZ

/ RPOS SINGLE PORY/

3
g&,FDEVIC(RE)

%2, FOEVIC(R2)
glsg

03
/ RPO4 DURL PORT~

6S
87SFDEVIC£R2)

10
83, FDEVIC(R2)
83%

2§
/ RPOM SINGLE PORY-

1
$10,FDEVIC(R2)

118
85, FOEVIC(R2)
ats

43
/ RSO3-LA/

£$
$11,FDEVIC(R2)
128

84, FDEVIC(R2)
87%

8es

/ RSO4-L~

es
sl2,FDEVIC(R2)

138
#4 FDEVIC(R2)
833

888

/ RS04/

;IS IT RPOY DUAL PORT
;BRANCH IF NOT RPOM DURL PCRT

;3 TYPE RSCIZ STRING
;;GET OVER THE ASCIZ

;IS IT RPO4 SINGLE PORT
;BRANCH IF NOT RPCY SINGLE PORT

+s TYPE RSCIZ STRING
+-GET OVER THE RSCIZ

;1S IT RSO3-LA
;BRANCH IF NOT RSO3-LA

13 1YPE ASCIZ STRING
;:GET OVER THE RSCIZ

+1S IT RSO4-L
;BRANCH IF NOT RSO4-L

: + TYPE ASCIZ STRING
;;GET OVER THE RSCIZ

;15 1T RSOM
:BRANCH IF NOT RSOM

+s TYPE RSCIZ STRING
+sGET OVER THE RSCIZ
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furufuruhiry
TEHTLS
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276

1

1

1627
3436 010276
3487 01039C
338 0.i0306
3499 010310
3800 0103ib
3501 0103e2
3802
3833 010332
35084 01033¢
3505 010334
3E0E 010336
3507 01033&
3508 010342
35809
3510 01036¢
3511 O0I1C366
3Sl2 01337
3513 01037
3514 210400
3El1S
3516 010424
3517 Q104eM4
3518 010430
3819 010%32
3520 010436
3521 0

3531

3532 010464
3533 010470
3534 010472
3535 010476
3536 010476
3537 010502
3538 010504
3539 010510
3540 010514
34}

7:43

T1
000436
02
0

0

)|

b2
01013
12762
C4401
000404

Q
2
l
2
g

Q00417
022762
001012
J1evs2
104401
000433

000401
000C00

109401
000411

016246
104405
104401
000411

0ib24s
104402
104431
000402

104401
000402

062737

005337
001402
000137

013746
006216
011637
012637
00C137

C0E337

MRCY1]l 27(732)
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000C13 005366

002005
012256

00ac14

000005
010324

010344

005378
g104Ce

00S416
010440

013482

000Ca2

005320
00&5¢eb
cos3z2
00SS06

00SS10
010e22

005320

0C83%5

005366
005366

005322

22-SeP-76

138:

bfg:

148

bhgo>:

S8:

X ¥

+ 958
ChI

A

T

SSY:

- 101%:
8:

BR
MP
BNE
MoV
TYPE

BR
.RSCIZ
BR

cHP
BNE
MOV
TYPE
BR
.ASCIZ

BR
HALT

TYPE
BR
.ASCIZ
MOV
TYPDS
TYPE
BR
.RSCIZ
MOV
TYPOC
TYPE
BR
.ASCIZ
TYPE
BR
.ASCIZ

- UPDATE
ACD

;ALL UNI*S DONE’ IF LTRY BECOMES ZERQ YES ALL DOINE
;REDUCE DEVICES LEFT TQ TRY

BeC
BEQ
IMP

MOV
ASR
MOV
MoV
JMP

BEC

GO6

1S:11 PAGE 73

&S

#13,FDEVIC{R2) ;1S IT RSQ3-L

14§ ;BRANCH IF NOT RSO3-L
#S,FDEVIC(R2)

3]s : s TYPE ASCIZ STRING
908 t1GET OVER THE ASCIZ
/ RSO3-L/

-

#14,FOEVIC(R2) ;IS IT RSO3

S3 ; BRANCH IF NOT RSO3
85, FDEVTC(R2)

33 -+ TYPE ASCiZ STRING
28 s 1GET OVER THE RSCIZ
/ RS03/
&
: PROGRAM ERROR

958 ;3 TYPE ASCIZ STRIN
44§ :GET OVER THE ASC
(15>¢12> /AT UNIT NUMBER/

FUNITN(R2),-(5P) TYPE UNIT NUMBER

G
I

Z

97% . TYPE ASCIZ STRING
éss h,czr OVER THE RSCIZ
FVECTR(R2).~(SP) ;TYPE VECTOR

99§ . TYPE ASCIZ STRING
48§ :1GET OVER THE RSCIZ
(IS <le>7 7

1018 -+ TYPE ASCIZ STRING
lcos ::1GET OVER THE RSCIZ
(15)(12)/ /

TFGUND
82, TFOUND :GET REACY FOR NEXT DEVICE

s :BRANCH IF ALL COMPLETE
552 :ALL NOT DONE
TFOUND,-(SP)  ;GET TWICE NUMBER OF RH FOUND
(SP) :DIVIDE BY 2
lSP) TSTUNT
(SP)+, HORUNT

TST2 :JUMP TO NEXT TEST

‘A RH TIHED QUT SO TRY NEXT UNIT OR END TRYING
LTRY RH TIMES OUT SO DECRERSE RH TYPED




MRINDEC-11-DERHRB-R
DERHRAB.SRC T1
oI pe
3598 813532 00813?
354:
3548
3543 Q010836 012777
3550 010544 008337
35S1 010550 001402
3552 010852 000137
3553 Q10SS& 00s277
3554 010562 Q1277
3555 010570 J1T746
3556 010574 Q42716
3557 (12600 022726
2558 010604 001402
JSS9 (0106068 000127
3560
3561 010612 104147
JSe2 Q10614 000200
3563
3564 01061k 000137
35€5
3566
3567
3568
3569
3570
3571
3&72
3573
3574
3578
3576
3577 C10622 000004
3578 Q10624 012737
3579 010632 012737
3580 010640 012737
281
3582 010646 013746
3583 010eSe 013702
3584 (010656 162602
3585 010660 006302
3586 010ekz2 104401
3587 010eeb 000402
2588
3EBS 010674
3590 (010674 10440}
3591 010700 000410
3592
358493 (010722
3594 (010722 0l6246
3585 010726 104405
2586
3597 013730 10440)
2588 010734 000410

HOB
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SIZE FOR RH DEVICES
BEQ 13 :BRANCH 1F ALL CONE
Sossas IMP gs= PALL N8T DONE ;o anp.
10476 18: IMP 53 *ALL DONE S0 SYORE NUMBER OF RHM FOUND
:A DRIVE TYPE DID NOT MATCH SO TRY NEXT
040000 173314 SS5: MOV $TRE , 3RHCS1 :CLEAR NED ERROR
005362 §58:  DEC NTYPNT :DECREASE NUMBER OF LRIVE TYPES TRIED
8EQ 18 :BRANCH IF ALL DONE
006616 IMP 557 *ALL NOT DONE
173306 18: INC ARHCS2 :GET NEXT UNIT NO.
040000 173270 MOV $TRE , JRHCS1 :CLEAR NED ERROR
17327 MOV ARHCS2, - (5P) :GET RHCS2
17777 31C 8177770, (SP)  GET UNIT NO
500010 CMP 88, ,(SP)+ :ARE 7 DONE
BEQ 2§ *BRANCH IF 7 DONE
006602 IMP 536 :7 NOT DONE SO TRY NEXT UNIT NO
2%: ERROR 147 -DEVICE ADDRESS DID NOT TIME
HALT :0UT BUT NO UNITS MAD
* APPROPRIATE DRIVE TYPE.
010520 IMP SSY
HH HEETREIEIN TN R TN REE TR RS TR T EEE SRR E X RN X % LR E %% % H % EE X% %R
:4TEST 2 UNIT UNDER TEST
L% THIS TYPES THE UNIT TO BE TESTED
Ly AND 1S THE FIRST TEST AFTER THE END OF THE PROGRAM
i’é#i****gsssg****************************************************
c.:
0OQ001 001212 MOV 81, STIMES ::00 | ITERATION
037600 000004 MOV sTHEOUT, 9#ERRVEC s TIMEOUT VECTOR
000340 CO0000s MOV #340, ¥ERRVEC+2 ‘PRIORITY 7
005510 MOV WORUNT, =(SP) :GET WORKING RH NUMBER LEFT
005506 MOV TSTUNT R2 *GET TOTAL NO OF RM FOUND
SUB (SP)+,R2 :NO CF RH TO BE TESTED
ASL R2 s INDEX FOR RH 10 BE TESTED.
010870 TYPE 65§ ::TYPE ASCIZ STRING
BR 4§ : 1GET OVER THE ASCIZ
g&gss: RSCIZ IS «le>»r 7
010702 TYPE 678 + s TYPE ASCIZ STRING
BR 66% ::GET OVER THE ASCIz
éég7s: JASCIZ2 (15>(12>/TESTING RH NO/
005436 MOV FRHNM(R2),-(SP) ;TYPE RH NO.
TYPDS
010736 TYPE + s TYPE ASCIZ STRING

69$
BR 68§ :iGET OVER THE RSCIZ
JASCIZ -

;:699: USING -
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104401
000404

016246

104463
030410

016246
104405
000467
022762
001014
104401
000410

000447
Gze7ee
00101+
104401
000418

00gu27
022762
001097
104401
000403

030414
022762
001007
104401
000403

000401
030000

104401
000411

0le24e
104405
104401
000411

MRCYL1 27(732)
UNIT UNDER TEST

010764

Q05426

000001 COS3es

011020

005446

000002 005366
811066

000033 005386
011128

00CG04 005366
011166

000005 005386
0L1214

011234

005376
gl127e

22-SEP-76

6ES:

+:718:

*s:

:73%:

5é$:

:75%:

;45:
28:

53
3%:

b

4%

-818%:

éﬁS:
cs:
6%:

; 838

bis:

: 41858

:778:

TYPE
8R
.RSCIZ
MOV
TYPOC
cMP
8NE
TYPE

BR
.RSCIZ

8
.ASCIZ

TYPE
BR
.RSCIZ
MoV
TYPDS
TYPE

BR
.RSCIZ

106

18:11 PRGE 75

4715 ; TYPE ASCIZ STRING
708 ..GET OVER THE ASCI1Z
/ BRSE ~

FBASEA(R2),~{SP) ;TYPE BRSE ADDRESS

81, FDEVIC(R2) ;IS IT TU

1% *BRANCH IF NOT TU
733 +TYPE ASCIZ STRING
228 ,,GET OVER THE ASCI
/ TUle AT SLAVE/

FSLAVE(RZ),-(SP) ;TYPE SLAVE NUMBER

z

X
82, FDEVIC(R2) ;IS IT RP DUAL PORT

2% ‘BRANCH IF NOT RP DURL PORT
75% ' s TYPE ASCIZ STRING

243 ::GET OVER THE ASCIZ

/ RP DURL PQRT /

6%

83, FDEVIC(R2) ;IS IT RO SINGLE PORT
33 e RANCH IF NOT RP

778 TYPE ASCIZ STRING
%68 ,,asr OVER THE RSCIZ
/ RP SINGLE PORT/

68

#4, FDEVIC(R2)  :I1S IT RSOY

4g' :BRANCH IF NOT RSO4
798 ;s TYPE ASCIZ STRING
288 +:GET OVER THE ASCIZ
/ RS04/

ES
#5,FDEVIC(RE2) ;IS IT RSO3

5§ :BRANCH IF NOT RSO3
81% : s TYPE ASCIZ STRING
80$ :1GET OVER THE ASCIZ

/ RSD3/
6
: PROGRAM ERROR
83% ;3 TYPE ASCIZ STRING
8 :GET OVER THE RSCIZ

23
<15>¢12> /AT UNIT' NUMBER/
FUNITN(R2).-(SP) ;TYPE UNIT NUMBER

85§ ; 1 TYPE ASCIZ STRING
éqs :GET OVER THE RSCIZ
VECTOR'
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011420
0lidee
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10440

012703
Ql2Ta4
016205
010524
062705
005303
001373
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000004
012706
012737

004737
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UNIT UNDER TEST

005416

002024
024080
005426

0000Ge

005376
005416
005446
005456
00sS466
005478

C45100

001000
000003

g40312

176201
004200
0C2000

005010
gJssieg
0Qu4es0
Q04640
004133
004132

004656

0046S0
004652
004€E54

JOb
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84%:
MOV FVECTR(R2),-(SP) ;TYPE VECTOR
TYPOC
MOV £20.,R3 : COUNT 20
MOV #RHCS ] RY ;GET BASE LOCATION
MOV FBASEALR2) ,RS  :GET BASE ADDRESS
78: MOV RS, (RY) + :FILL PROPER ADDRESS
RDD 82, RS + INCREMENT BY 2
CeC R3 : COUNT DCWN
BNE 7% sBRANCH IF 20 NCT DONE

MOV FUNITN(R2).UNIT :UNIT NUMBER
MOV FVECTR(R2,,VECTOR :VECTOR

MOV FSLAVE(R2),SLAVE ;SLAVE NO

MOV FORIVR(R2).COMND :DRIVER ADDRESS
MOV FEAE(R2).RHBAE :BAE ADDRESS

MOV FCS3(R2).RHCS3 :CS3 RDDRESS

CLR PRITEM

;-i*****i****i****i**!**i!iii!***i****!***!l*!**l*****!**i*******
TEST 3 BIT BANG RHCS!

TEST LOADING AND READING OF ALL PCOSSIBLE BITS
IN RHCS1 REGISTER.

JSE R PRTTERN OF WALKING 1°'S (1,2,4,10 ETC)
AND WALKING 0°'S (-2,-3 ETC)

AND RDY!DVR BITS WILL ALWAYS BE SET

AND BIT10 BITS WILL ALWAYS BE CLERRED

IF SWITCH 14 OR 9 OR 8 ARE SET FOR DEBUGGING
THEN A RH CLEAR (RHCS2 BIT #S; WILL BE
g%xggLTO RID SCOPE SYNCS ON THE CLEAR

}é?3****EEB;E****************************************************
T MOV 8STACK, SP :RESET STACK
MOV £3,28TSTNM :SAVE TEST NUMBER

JSR PC,a8CLDISK ;GIVE RH INITIARLIZE
;SETUP UNIT NUBER
; CLERR RHWC AND FUNCTION BITS IN RHCS!

dhc e s M pic M i M i MK i

We GO WE WE WS OGSO WE S8 O &9

MOV #SC!TRE!MCPE!DVR!BITI2!BITIO!'RDY!GO, WRTBIT :SC!TRE!MCPE!DVA!

MOV #RDY!DVA SETBIT ;ROY!DVA ARE BITS ALWAYS SET
MOV #BIT10,CLRBIY ;BITIO ARE BITS ALLRYS CLERRED

-5
IN THIS TEST SC!TREIMCPEIDVAIBITI2'BITIOIRDY!GO BITS WILL NOT BE WRITTEN INTO
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DERHRB. SRC T3 BIT 3SANG RHCS!

3l o :FLOAT 1'S THRU THE RHCS1 REGISTER

3r13 0l14e2 012737 011506 001110 MOV #2$, SLPERR ;SET_LOOP_ON ERROR_RODRESS

3714 011470 012705 (C0000L MOV #],RS sGETTING READY TO FLOR™ A ONE

371S 011474 010537 00I1ed 18: MOV RS, SGDDAT :START WITH DATA

71p 011500 Q42737 176201 001124 BIC 45! TRE 'MCPE!DVAIBIT12¢BIT10!RDY! GO, SGDDAT :SLEAR BITS NCT WRITTEN
717 011506 (032737 041400 001140 28: BIT #BITI4IBITY!BITE,SWR ;ARE SWITCHES 14 Ok 9 7R 8 SET

3718 011514 001403 SEQ 3% ;BRANCH IF ANY ONE SET

37.4 011516 0S2777 000040 172344 BIS #CLR, JRHCS2 sGIVE CLEAR FOR SCOPE

3red . _ sSYNC IF IN DEBUG:

3T21 011524 9013777 001124 172326 38: MOV $GDDAT,3RHCSL  ;WRITE RHCS1 REGISTER

soee 011832 017737 172322 (001126 MOV JRHCS1,$BDDAT  ;READ RHCS1 REGISTER

3r23 011540 243737 004654 00il24 BIC CLRBIT,$GDDAT  ;CLEAR ALWAYS CLEARED BITS

3724 0l1546 053737 004652 J0lig4 316 SETBIT,EGDDAT  ;SET_ALWAYS SET BITS

3725 011554 Q023737 001124 001126 CHP $GDDAT,$BDDAT  ; TEST

3726 Cl1562 0C1404 BEQ 4§ ;BRANCH IF _GOOD

3727 0Ol1SB4 013737 004060 001122 MOV RHCS1,$50ADR  ;GET REGISTER ADDRESS

3728 011572 104137 ERROR 137 ;ONE WAS BEING FLOATED

3729 ; THRU RHCS1 REGISTER

3720 ;ON RERDING RHCS1 BACK

3731 ; IT DID NOT CONTAIN WHAT

3732 s WAS EXPECTED.

3733 Q11574 000241 4§: cLC ; CLERP CARRY

3734 011576 006305 ASL RS :GET 1 ONE LEFT

g;gg 011600 1£3335 BCC 1§ ;BRANCH IF 1B NOT DONE

gggg ;FLORT A ZERO THRU RHCS! REGISTER.

3739 011802 012737 011626 001110 MOV #68, SLPERR :SET LOOP BACK POINT.

740 011810 012705 177775 MOV 8172776 RS ;GET READY 70 FLOAT A ZERC

3741 011614 (I1CS37 0Qlle4 5§: MOV RS, $GDDAT -GET READY TO WRITE DATA

3742 Q11620 Q42737 176201 001124 BIC #SCYTRE !MCPE!DVAIBITI21BIT10YRDY !GO, $GODAT : CLEAR BITS NOT WRITTEN

J743 01162k 032737 04i400 OOI140 68: BIT $BITI4'BITI!BITE, SWR ;ARE SWITCHES 14 OR 9 OR 8 &ET
3744 0ile34 001403 BEQ 78 ;BRANCH_TF ANY OF THE ABOVE SET
745 011636 012777 000040 172224 MOV #CLR, JRHCS2 ;CLEAR _FOR SCOPE AID TO

3746 ‘ ;SYNC IF IN DEBUG

3747 Q11644 013777 001124 172206 7%: MOV $GDDAT,aRHCSL  ;WRITE INTO RH'XA.

3748 011652 017737 172202 COIl26 MOV JRHCS1,$BDDAT  ;READ RHCSI

2749 011660 063737 004652 001124 BIS SETBIT,$GODAT  ;SET BITS ALWAYS SET

3750 011ebe Q43737 004654 0Ol BIC CLRBIT,3$GDOAT ;CLEAR BITS ALKWAYS O

3751 Q011674 023737 001124 001126 CMP $GODAT, $3DDAT  ; TEST

3752 011702 CO1404 BEQ 8% ;BRANCH IF GOOD

3753 011704 (0}3737 004080 001122 MOV RHCS1,$BDADR  ;GET REGISTER ADDRESS

3754 011712 10M137 ERROR 137 ; ZERO WAS BEING FLORTED

37585 s THRU RHCS1 REGISTER

3756 ;ON_RERDING IT BACK IT

3757 ;DID NOT CONTAIN WHAT

g;gg sWAS EXPECTED

3760 011714 000261 8s: SEC

3761 011716 00BI0S ROL RS

3762 011720 103735 BCS 5§

iy

3765 S FEEEERERAEEREEEEHEA AR EREE R ERE R EEE AR REERERE AR RRRERIR IR
2766 ; ¥TEST 4 BIT BANG RHCS2




MRINDEC-11-DERHAB-R
DERMAB. SRC

Zﬁg
i
3771
3772
377

012062
012064
012066

T4

030004
012706
012737

004737

052777

013777
017737
053737
023737
001404
013737
104137

000241
006305
103340

012737
012705
010837
042737
032737
001403
C12777

MRCYL1 27(732)

BIT 3ANG RHCSe

C01000
002004

40312

177740
c0c100

012002
0Q0c01
COllay
177740
041400

0ooaHe

001124
172036
004652
001124

004070

012114
177776
001ieM
177740
041400

000040

004656

004650
004ES2

001110
001leM
001140
172050
17204¢
001126
00lle4
001126

001122

001110

001124
001140

171736

LOb
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¥ TEST LORD&NG AND READING OF ALL PCSSIBLE BITS
" IN"RHCS2 REGISTER.,
¥ USE A PATTERN OF WALKING 1°S (1,2,4,10 ETC)
" AND WALKING 0°S (-g,-3,-5 ETC)
'y IN THIS TEST 177740 BItS WILL NOT BE WRITTEN INTO
¥ AND IR BITS WILL ALWAYS BE SET
Ty IF SWITCH 14 OR 9 OR 8 ARE SET FOR DEBUGGING
' THEN A RH CLEAR (RMCS2 BIT #5) WILL BE
: ¥ GIVEN TO AID SCOPE SYNCS ON THE CLEAR
% SIGNAL.
e B RABRAREENEEEEREREEEEEREEEREREENREEHRNNEENEETTNEREEEREEEEEELELE
Y&14:  SCOPE
MOV $STACK, SP :RESET STACK
MOV 9, I8TSTNN :SAVE TEST NUMBER
ISR FC, 38CLDISK GIVE RH INITIALIZE
:SETUP UNIT NUSER
:CLEAR RHUC AND FUNCTION BITS IN RHCS!
MOV 177740, WRTBIT ;177740 ARE BITS NOT WRITTEN INTO
MOV $IR, SETBIT :IR ARE BITS ALWAYS SET
:FLOAT 1’S THRU THE RHCS2 REGISTER
MO 2% . SLPERR -SET LOOP ON ERROR ADDRESS
MO", 8] RS :GETTING READY TO FLOAT R ONE

1%:

3%

4%:

cs:
B%:

MC / RS $GODAT :START WITH DATA
B:C #177740,$GDDAT  :CLEAR BITS NOT WRITTEN INTO

BIT $BITI4TBITOIBITE, SWR ;ARE SWITCHES 14 OR 9 OR 8 SET
BEG 3% :BRANCH IF ANY ONE SET
BIS #CLR, JRHCS2 :GIVE CLEAR FOR SCOPE

:SYNC IF IN DEBUG:
MOV SGDDAT,3RHCS2  ;WRITE RHCS2 REGISTER
MOV aRHCS2.$BDDAT  :READ RHCS2 REGISTER
BIS  SETBIT.3GDDAT :SET ALWAYS SET BITS
CMP  $GDDAT.$BODAT  :JEST
BEG 4§ *BRANCH IF GOOD
M)V  RHCS2,$BDADR  :GET REGISTER ADDRESS
ERROR 137 :ONE WAS BEING FLOATED
: THRU RHCSZ REGISTER
:ON READING RHCS2 BACK
: 1T DID NOT CONTAIN WHAT
! WAS EXPECTED.
CLC !CLEAR CARRY

RSL RS 'GET 1 ONE LEFT
BCC 13 :BRANCH IF 16 NOT DONE
;FLOAT A ZERO THRU RHCS2 REGISTER.

MOV %63, SLPERR +SET LOOP BACK POINT.

MOV 8177776 RS :GET READY TO FLOAT A ZERO

MOV RS, $GDDAT :GET READY TO WRITE DATA

BIC #177740, $GDDAT_ CLEAR BITS NOT WRITTEN INTO

BIT $BITI4!BITS!BITS, SWR ;ARE SWITCHES I4 OR 9 CR § SET
7% :BRANCH IF ANY OF THE ABOVE SET

MOV #CLR, JRHCS2 : CLERR FOR SCOPE AID TO




DERHRB. SRC

[ 7V ]

a0

[40)

[ea]
OO0 00
P b hmt s I s e
o rorory
be e s po e g pe
NN L LW
LML OMn

3858 012202
3859 012204

3860 012210
2861
3862 012216
3863
3864
3865 i
3866 012222
3867 012230
3868 012236
38€9
3870
3871 012244
3872 012252
3873 012256
3874 012262
3875 012270

b e [

MRINDEC- ll-DEQHRB -A

013777
017737
053737
023737
001404
013737
104137

000zt!
006105
103740

0000a4
01270t
012737

004737

012737
012737
012737

012737
012705
010537
042737
032737
001403
052777

013777

001000
000Cas

040312

177660
000000
001660

012270
000001
0Cliled
177660
041400

000040
golle4

CO4656

0Q4650
0g4es2
004654

001il0

001124
001140
171562

171616

MOB

22-5eP-7¢ 1S:11 PRGE 7S

;SYNC _IF IN DEBUG
7%: MOV $GDDAT, IRHCS2  iWRITE INTO RH'XA.
MOV JRHCS2, SBODAT  ;READ RHCS2
BIS SETBIT $GDDAT SET BITS ALWAYS SET
CMP $GDDAT,$BODAT  TEST

BEQ g% BRQNCH IF GOOD
MOV RHCS2, $BDAOR :GET REGISTER ADDRESS
ERROR 137 1 ZERO WAS BEING FLOATED

: THRU_RHCS2 REGISTER
sON READING IT BACK IT
:DID NOT_CONTAIN WHAT
i WAS EXPECTED

8%: SEC
ROL RS
BCS S8

TREERERRERRHREERREEIE SRR EEEHRRERERRLREERRREEE R EFRRE LR RERR
**EST S BIT BANG RHCS3

¥ TEST LORDING AND READING OF ALL POSSIBLE BITS
: ¥ IN RHCS3 REGISTER.
¥ USE A PATTERN 0F HQLKING 1S (1,2,4,10 ETC)
¥ AND WALKING 0°’S ( 5 ETC)
¥ IN THIS TEST 17?550 Bxfs WILL NOT BE WRITTEN INTO
L ¥ AND O BITS WILL ALWAYS BE SET
¥ AND BIT3!BITBIBITZ!BI 5'BITH BITS WILL ALWAYS BE CLEARED
by IF SWITCH {4 OR 8 OR 8 ARE SET FOR DEBUGGING
L3 THEN A RH CLEAR (RHCS2 BIT #5) WILL BE
¥ GIVEN TO ARID SCOPE SYNCS ON THE CLEAR
¥ SIGNAL.
s RFAERERREEREEEEEREEREEERELEEELEEEEREEEERE R RS AR EXRE LR L LR AR
t&7c, SCOPE
MOV #STACK, SP -RESET STACK
MOV 25, 28 TETNM :SAVE TEST NUMBER
ISR PC, %CLDISK :GIVE RH INITIALIZE
+SETUP UNIT NUBER
:CLEAR RHWC AND FUNCTION BITS IN RHCSI
MOV #177660, KRTBIT 177550 ARE BITS NOT WRITTEN INTO
MOV #0,3ETBiT '0 RE BITS ALWAYS SET
MOV #BITQ! éxrs BIT7'BITSIBITY,CLRBIT  ;BITS!BIT8*BIT7!BITS!BITY ARE BITS ALUAY
-FLOAT 1'S THRU THE RHCS3 REGISTER
oY nes $LPERR +SET LOOP ON ERROR ADDRESS
MOV 1,RS :GETTING READY TO FLOAT A ONE
18: MOV RS $GDDAT +START WITH DATA
BIC 177660, $GODAT  :CLEAR BITS NOT WRITTEN INTO
2%: 8IT $BITIYIBITS! BITB SWR :ARE SWITCHES 14 OR 9 OR 8 SET
BEQ 3% BRANCH IF ANY ONE SET
BIS #CLR, JRHCS2 GIVE CLEAR FOR SCOPE
:SYNC IF IN DEBUG:
3%: MOV $GDDAT.DRHCS3  ;WRITE RHCS3 REGISTER




MRINCEC- ll*DERHRBSR

DERHRAB.SRC
3880 012314
3881 Q012322
3852 012330
38383 012336
3834 012244
3885 (12346
3886 012354
3887
3838
3838
3890
3891 012356
3892 012350
3893 (la36e
3894
3835
3836
3897 1012364
3898 012372
3899 012376
3500 012402
3901 012410
390e¢ 012416
3903 0lese0
3904
3805 0l24e6
39C6 012434
3807 0l244e
3908 012450
3909 012456
3810 012464
3911 012466
3912 0i2474
3913
39.4
3915
3916
2917
3818 01247¢
3919 012500
3920 0123502
3521
3922
3923
3924
3925
3526
3927
=328
3328
2930
3931
3932
2933
29234
293¢

917737
Q43737
053737
823737
0C1434
013737
104137

J00241
006305
103335

012737
012705
010537
042737
032737
001403
012777

013777
017737
053737
043737
023737
001404
013737
104137

000261
006105
103735

MACYL1l 27(732)
8IT 3ANS RHCS3

171612
004654
004652
001124

004132

012410
177776
001124
177660
041400

00004C

001laY
171472
0gues2
004654
00l1eH

004132

00112s
goligH
00liay

001128
agllee

001110

001124
001140

171442
1714?5

UU& lCD
00lleyd
00114
00lles

golliz2

NOb
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MOV JRHCS3, $BODAT  ;READ RHCS2 REGISTER
BIC CLRBIT,3GDDAT  :CLEAR ALaYS CLEARED BITS
BIS SETBIT, $GDDAT SET QLNQYa SET BITS
CMP $GDDAT,¥BDDAT  :TEST
BEQ 4§ BRRNCH IF GOOD
MOV RHCS3,$BDADR  :GET REGISTER ADDRESS
ERROR 137 :ONE WAS BEING FLOATED
' THR!) RHCS3 REGISTER
:ON RERDING RHCS3 BACK
:IT DID NOT CONTAIN WHAT
: RS EXPECTED.
4§: cLC :CLEAR CARRY
ASL RS ‘GET | ONE LEFT
BCC 13 tBRANCH IF 15 NOT CONE
+FLOAT A ZERO THRU RHCS3 REGISTER.
MOV #63, SLPERR :SET LOOP BACK POINT.
MOV 8177776 RS :GET READY 10 FLOART A ZERO
5$: MOV RS, $GDDAT :GET RERDY TO WRITE DATA
BIC 177660, $GDDAT  ;CLEAR BITS NOT WRITTEN INTO
6S: BIT $BITIY! BITQ'BITB sz “ARE SWITCHES 14 OP 2 JR 8 SET
BEQ 7% ANCH TIF ANY OF THE RBOVE SET
MOV #CLR, JRHCS2 CLEQR FOR SCOPE AID TO
__ ,..Nc IF IN DEBUG
7%: MAV $=70AT,JRHCS3  SWRITE INTO RH'XA.
MOV JRHCS3,$BDDAT  *READ RHCS3
BIS SETBIT $GDDAT  :SET BITS_ALWAYS SET
BIC CLRBIT, $GDOAT :CLERR BITS ALWAYS O
CMP $GODAT.$BODAT  : TEST
BEQ 8% :BRANCH IF GOOD
MOV RHCS3,$BDADR  :GET REGISTER ADDRESS
ERROR 137 : 2ERO WAS BEING FLOATED
: THRU RHCS3 REGISTER
:ON READING IT BACK IT
:DID NOT CONTAIN WHAT
' UAS EXPECTED
8%: SEC
ROL RS
BCS c§
: L2233 32322328 33333223323 22233 SITTLIILITLIIT S P 2
L 4TEST B BIT BANG RHWC
: % TEST LORDING AND READING OF ALL POSSIBLE BITS
¥ IN RHWC REGISTER.
L {USE A PRTTERN OF NRLKING 1'S (1,2.4,10 ETC)
Ly AND WALKING 0°S (-2,-3,-5 ETC)
tx IN THIS TEST 0 BITS WILL NOT BE WRITTEN INTO
I AND O BITS WILL ALWAYS BE SET
Sa IF SWITCH 14 OR S OR B ARE SET FOR DEBUGGING
t THEN A RH CLEAR (RHCS2 BIT ¥5) WILL BE
‘a S%EFSL’° AID S-O0PE SYNCS ON THE CLEAR
. L.
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MAINEO-11-DERWA3-R  MAGVIL ETiT32) 22-SEP-TH 15:11 PAGE &l
2£43%RB. SR e B:?

kL

3§§§ *RERBERRBERRRRL R R RRERERRRRERR IR R ERRRRRDRREPR 24533423232 24092439
3938 012504 000004 tite:  ScoPE

3333 QisSCe QIET06 001009 MOV 8STACK, SP :RESET STACK

gg:; 818812 01273~ 002098 008eSH MOV 25, 98TETNN :SAVE TEST NUMBER

3348 012820 20473 QM0312 ISR PC.,a8CLDISK :GIVE RH INITIALIZE

3343 :SETUP UNIT NUBER )
§3’§ :CLEAR RHWC AND FLMCTISN BITS It &=lz!
-

3848 °12824 Ci2°37 000000 DOWesO MOV 80, unrazr :0 ARE 3ITS NOT WRITTEN INT)
§=4§ 012832 213737 00COUD 004852 MOV 80.SETBIT :0 ARE BITS ALWAYS SET

3549 :FLOAT 1°S THRU THE RMWC REGISTER

3850 £I2S4C 012737 CISEd 001110 FOV cas $LPERR ;SET_LOOP_ON ERROR nccasss_
3351 01284 01200 00000i MOV 1,RS GETTING READY TJ FLOAT A oNE
2982 (1265c 01083 201laM 18: MOV mswmr smmunumn

3683 2J1268¢ 042730 000030 00112 4 SGDDAT ZLEAR BITS NOT WRITTEN INTO
3954 (12SE4 032737 D4i400 001140 28: Bit cBiTIH'BITQ'BITB sua {ARE SWITCHES 14 OR'3 ‘R g seT
3355 012572 001403 BEQ 35 RANCH TF ANY ONE SET

3388 012574 (052777 000040 171266 BIS BCLR, 3RHCS2 ..xvs CLEAR FOP SCOPE

36E; :SYNC IF IN oOEBUG:

3988 012602 013777 00Il24 171252 38: MOV $GODAT, JRHWC  :WRITE RMWC REGISTER

3389 D12€10 CiT737 17124 OO1I2€ MOV aRMWC, 8BDDAT  :READ RHWC nscxs ER

23S Z13€is 083r3r DoYes2 00llsd BIS SETBIY, §GO0AT ;se ALWAYS SET BITS

3% 312624 023737 001124 00113 CHP §GOCAT,8BOCAT  :TEST

23g2 019632 O014OM ’ BEQ 4§ :BRANCH IF GOOD

2%E3 12634 013737 0O4de2 001122 MOV RH.C , SBDADR GET nscrgcga ADDRESS

363 f13eq2 10413* ERROR 137 NG FLOATED

3Se8 mau RHWC REGISTER

J9E€ on READING RHWC BAcK

3867 1T DID NOT CONTRIN WHA™

2368 : LIRS EXPECTED.

3363 C12euM  20%024] 4§: oLe : SLEAR CARRY

357C Qizese (008308 ASL RS :GET 1 INE LEFT

331 C1aBSC 103340 8l¢ 13 snnwvn IF 18 NOT D2NE

5333 :FLOAT A ZERO THRU RHWC REGISTER.

3975 012652 012737 012676 001110 MOV 868, SLPERR +SET LOOP BACK noxnr

3978 012680 012705 177776 MOV 2172276 RS :GET PERDY TQ FLOAT A ZERJ

3677 Cl26e4 010537 0012y 5§: MOV ns scoohT 'GET REACY TO WRITE DATA

2978 012670 042737 0000OC 091124 BIC GODAT :CLEAR BITS NOT ARITTEN INTY
3679 012676 032737 041400 00l140 &S: BIY cstrxu-axvqnaxre :NP “ARE SWITCHES I4 R § 2] § 3=~
287 012708 CGJIN03 BEQ 7§ RANCH TF ANY OF THE RSOME SET
2881 012706 12777 000ON0 171154 MOV 8CLR, JRHCS2 CLERR FOR 'SCOPE RIC T¢C

3987 ;SYNC IF IN DEBUG

683 Q12714 013777 0QL124 171140 7§: MOV §GODAT, JRHWC  :WRITE INTO RH'XA.

=864 0128722 017737 171134 0Doil28 MOV JRHWC,$BDDAT  SREAD RHWC

3%5 012730 053737 004652 001124 BIS SETBIT, SCODAT szr BITS ALWAYS SET

3986 012736 023737 001124 001126 CMP §GODRT.$BODAT  ; TEST

3887 012794 OCIMO4 BEQ as :BRANCH IF GOOD

3988 01274 013737 00402 001122 MGV RHWC , $BCADR :GET REGISTER ADDRESS

3569 12734 D437 ERROR 137 s ZERC WRS BEING FLOATED

3530 :THRU RHWC REGISTER

259. sON RERDING IT 8RCk IT
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Q0C204
218738
Liar3d7

04737

052?77

013777
Q17737
043737
083737
023737
001404
013737
104137

MACYLl 7(732)

BiT SANG RHC

8312C0
coacor

g40312

Q00330
820030
sisisiun)

013052
00009!

041400
020040
00lle4
170762
004654
CO48Se
OCLiizM

Co40864

CO4B58E

QJ4650
00465¢
Q04654

001110
oClleM
0CI140
171300
170766
QCllze
00ligH
0Cl1leH
001lee

Qatlez

co7

22-SEP-76 15:11 PRAGE 82

;DI0 NCT CONTAIN WHRT
:WAS EXPECTED

OB

DI RRRRRARRRERRRRRRRR RN B AR SRARERRRRRRRRRRFARR RIS RRR S LRI S A
(RTEST 7 BIT BANG RHBR

. TEST LOADING ANC READING OF ALL POSSIBLE B:TS
" IN RHBA REGISTER.
T 1USE A PATTERN or WALKING 1°S (1,2,4,1G ETC:
- AND_WALKING 0'S (-2,-3,-5 ETC)
L ¥ IN THIS TEST 0 817§ ux L nor BE MRITTEN INTO
s¥ AND 0 BITS WILL RLWAYS
S # AND BITO0 BITS HILL annvs BE CLEARE
S¥ IF SWITCH 14 OR 8 ARE SET ron oesuccxuc
¥ THEN R RH CLEAR ‘nﬂcsa 81T #5) WILL BE
¥ GIVEN TO RID SCOPE SYNCS ON THE CLEAR
i SIGNAL.
*RERRRERABE R R R LR R R EE R R R LR R R R RS RS R R LA R R R ER R SRR AR R SRR ECRER PR \
4717, SCOPE A
MOV #STACK, SP :RESET STACK
MOV 87, 38T4TNM : SAVE ’ES’ NUMBER
JSR PC, 38CLDISK GIVE RM INITIALIZE
.:ETUP UNIT NUBER
:CLEAR RHWC AND FUNCTION BITS IN RMCS
MOV 80, WRTB]IT :0 ARE BITS NOT WRITTEN INTO
MOV 80 SETBIT :0 ARE BITS ALWAYS SE
MOV $BITOO.CLRBIT +BITO0 ARE BITS ALWAYS CLEARED
-FLOAT 1° s rnnu THE RHMBA REGISTER
oY PERR «SET LOOP ON ERROR ADDRESS
MOV s h :GETTING READY TO FLORT R ONE
18: MOV ns scoonr ;START WITH DATA
BIC GDDAT CLEAR BITS NOT WRITTEN INTQ
zs: 817t aatrxq'axrq-exra sun “ARE SWITCHES 14 CR 9 JR § SET
BEQ 33 RANCH IF ANY ONE SET
BIS 8CLR, JRHCS2 crvs CLEAR FOR SCOPE

:SYNC IF IN DEBUG:
38: MOV SGODAT,3RHBA  :WRITE RHBA REGISTER
MOV JRHBA,$BDDAT  ;READ RHBR REGISTER
BIC  CLRBIY,SGODAT  :CLERR ALWAYS CLEAREC 8IS
BiS SETBIT.§GOCAT ssr ALWAYS SET BITS
CHP $GODAT.SBODAT  :TEST

BEQ 4§ ;BRANCH IF 390D
MOV RHBR, $BDADR :GET REGISTER ADDRESS
ERROR 137 :ONE WAS BEING FLORTED

: THRU RHBA REGISTER
s N RERDING RHBA BRCK
:IT DIC NOT CONTAIN WHAT




DO7

NRINDEC-11-DERMRE-R MACY1l 37.722) 22-SEP-T6 1S:11 PRGE €3
DERMWAB. SRS . " 81T SANG RMBA
4048 :WRS EXPECTED.
4849 212140 ggaau; 43: oLe :CLEAR CARRY
4350 Ji3iv2 BB6305 ASL RS 1GET 1 ONE LEFT
:ggé 013144 103338 8CC 18 : :BRANCH IF 16 NOT CONE
:ggg :FLOAT R ZERC THRU RHBA REGISTER.
4055 013146 Q12730 013i72 00:110 MOV 863, SLPERR :SET LOOP BACK POINT.
4258 Q13184 Q12705 It-or MV 8172776 RS :GET REAQY TQ FLOAT A ZERC
4257 Q13180 £10837 0Ol 5§: MOV RG,$GODAT :GET READY TO WRITE DATA
<388 013164 04273 000300 00112 BIC 80, $GODAT :CLEAR 3175 NOT WRITTEN INTO .
4359 013172 332737 Q41400 00il40 8S: BIT sB}T141BI791BIT8)SLR :ARE SWITCHES !4 OR 9 OR § SET
4069 C13223 20IMC3 SEQ 7§ ;BRANCH IF ANY OF THE R30VE SET
<061 13202 £i2777 0000M0 170860 MOV #CLR, JRHCS2 :CLEAR FOR SCOPE AID 10
4262 _ ) :SYNC IF IN DEBUG
<063 L3210 013777 OC0llay 170eye 78: MOV $GODAT,3RHBA  :WRITE INTO RH'XA.
40e4 (13216 017737 170642 001126 MOV 2RHBA, §BOCAT  :READ RHBA
4065 013224 053737 (0Q4ES2 Q01124 815 SETBIY §GOCAT  :SEY BITS ALWAYS SET
+0E 013932 043737 00+e&y OC118y BIZ CcLRBIT,SGDOAT :CLEAR BI™S ALWAYS O
406r 013240 82373 001la4 001126 CMP §GODAT, SBODAT  :TEST
4068 013246 OCI40M4 BEQ 13 :BRANCH IF GOOD
43e3 (Q1355C 013737 0O40e4 001122 MoV RHEA, $BCADR :GET REGISTER ADDRESS
4070 013256 104137 ERROR 137 : ZERO WAS BEING FLOATED
4371 : THRU RHBA REGISTER
4072 :ON READING IT BRCK IT
4073 DID NOT CONTAIN WHAT
38;2 :WAS -EXPECTED
4076 013260 000261 1 SEC
4g77 013262 0QE10S ROL RS
4078 013264 103738 Bes 13
5
4081 SRR FRERERE AR AR R R RERRR R AR EE R FRERRRA R R R R R AR FRR B AR R R R R R R R RRAS
:ng :ATEST 10 - BIT BANG RHBAE
4384 ¥ TEST LOADING AND READING OF ALL POSSIBLE BITS
4085 ¥ IN RHBRE REGISTER.
4586 S USE A PATTERN OF WALKING 1°'S (1,2.4,10 ETO)
4087 T3 AND WALKING 0°S (-2.-3,-5 ETC)
4088 " IN THIS TEST 177700 BItS WILL NOT BE WRITTEN INTD
4389 . AND O BITS WILL ALWAYS BE SET
4090 L ¥ AND 177700 BITS WILL ALWAYS BE CLERRED
4091 ¥ IF SWITCH I8 OR 9 OR 8 ARE SET FOR DEBUGGING
4092 " THEN A RH CLEAR (RMCS2 BIT #S) WILL BE
4093 P ¥ GIVEN TO AID SCOPE SYNCS ON THE CLEAR
zggg & SIGNAL.
4096 SRR RER SRR R SRR R R R R R ERRE R LSRR EERRERERER R ERRRERRERRERRER2 RS
4097 013266 000004 t&110:  scope ,
4098 013270 01279 001008 MOV $STACK, SP RESET STACK
:?gg 013274 012737 000010 0046S6 MOY 210, 3stSTAM :SAVE TEST NUMBER
4101 £13202 004737 0403:2 ISR PC, 38CLDISK +GIVE RH INITIALIZE
4122 :SETUP UNIT NUBER

4123 :CLERR RHWC AND FUNCTION BITS IN RHWCS!

L — .
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013502
013504

013812
013520
013526
013534
013542
C13550

710

104137

000241
006308
103335

012737
012705
013537
Q42737
0327237
001403
012777

013777
017737
053737
Q43737
023737
001404
013737
104137

00026l
006108
103735

177700

PR0%58

CO00N0

CCllig4
170524
004654
00465¢c
00lla4

0C4130

013474
177776
00lleH
177700
041400

000040

001124
170404
004652
004654
0CileM

004130

2
ogqséﬁ
001110
001124
001140
170476
170530
001136
001124
001134
001126

CQl12¢e

001110

Q0lled
CC1140

170356

170410
001126
g0llz4
Q01lgH
001128

colle2

EOQ7

22-SEP-7B6 15:11 PRGE B4

13:
28:

38:

+3:

cs:
es:

7%:

MoV 8177700, WRTBIT ;177700 ARE BITS NOT WRITTEN INTC

MOV 80,SETBIT 0 _ARE B]TS ALWAYS SET
n8v :177780,§L8$17 ;177750 ARE B&Ts 2LHEYS CLEARED
:FLOAT 1'S THRU THE RHBRE REGISTER
MOV #2$, SLPERR +SET LOOP ON ERROR ACCRESS
MOV s],RS +GETTING READY TO FLOAT A CNE
MOV RS, $GDCAT :START WITH DATA
BIC #177700,SGDDAT :CLEAR BITS NOT WRITTEN INTO
BIT 8BITI4IBITI!BITS, SWR {ARE SWITCHES 14 OR 9 OR 8 SET
BEQ K} ; BRANCH IF ANY ONE SET
31§ sCLR, IRHCS2 :GIVE CLEAR FOR SCOPE
-SYNC IF IN DEBUG:
MOV §GODAT,IRHBAE  :WRITE RHMBAE REGISTER
MOV JRHBAE  $BDOOAT  :READ RHBAE REGISTER
BIC CLRBIT.$GDDAT  ;CLEAR ALWAYS CLEARED BI'S
315 SETBIT.$GDDAT  :SET ALWAYS SET BITS
CMP $GODAT.$BODAT  ;TEST
BEQ 43 :BRANCH IF GOCD
MOV RRBRAE , SBDADR :GET REGISTER RDDRESS
ERROR 137 :ONE WAS BEING FLCATED
- THRU RHBRE REGISTER
:ON READING RMBAE BACK
1T DID NOT CONTRIN WHA™
:WAS EXPECTED.
cLe :CLEAR CARRY
ASL RS +GET | ONE LEFT
BCC 13 :BRANCH IF 16 NOT DONE
-FLOAT A ZERO THRU RHBAE REGISTER.
MOV 68, SLPERR :SET LOOP BACK POINT.
MOV 8177776 RS :GET RERDY TO FLOAT A ZERO
MOV :GET RERDY TQ WRITE DATA

RS, $GDCAT ;
BIC 8177700, 3GDDAT :CLEAR BITS NOT WRITTEN INTO
BIT $BIT14!BITI!BITE.SWUR ;ARE SWITCHES I4 OR § OR 8 SET
78 :BRANCH IF ANY OF THE ABOVE SET
MOV 8CLR, 3RHCS2 :CLEAR FOR SCOPE RID TO
:SYNC IF IN DEBUG
MOV $GDDAT,3RHBAE  :WRITE INTO RM'XA.
MOV dRHBAE, SBDDAT  :READ RMBRE
BIS SETBIT §GDDAT  :SET BITS ALWAYS SET
BIC CLRBIT,SGDOAT :CLEAR BITS ALWAYS 0
CHP $GODAT,$BPDAT  : TEST

BEQ 13 :BRANCH IF GOOD
MOV RHBAE,$BORDR  :GET REGISTER ADDRESS
ERROR 137 : ZERO WAS BEING FLORTED

: THRU RHBRE REGISTER
:ON READING IT BACK 1T
:DID NOT CONTAIN WHAT
:WAS EXPECTED

SEC
ROL RS
BCS 5§
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MAINDEC-11-DERHAB-A MICyil 27(732) 22-SEP-76 15:11 PAGE 85

DERMRB. SRC T10 27T SANG RHBAE
4160
4161
4162
4163
2
"ll&& - ;Ei;i*i!ll!ii*!iii!*i!;ili!!!ii*i!i!iiii*!*iii*i*i*!i*ii*ifi!l'i
4167 ST 1 IL NE WORD WR]TE)
4158 L ¥ &rrsn A 3 SLEEE Ié ? EN Er BIT #5 IN RHCS2)
4169 D RHCS2 IS CHECKED TO HAVE "IR“ (BIT #6) HIGH
4170 ¥ TOGETHER uiTH UN}T Ngn?gn
:izg H ons uo C OF ALL ZERO WRITTEN INTO RHDB
‘e .

3173 T » "on~ cexr 87) IS WRITED FOR BY A TRAP INSTRUCTION
AT S ¥ CALLED *WAT™ (NO TIMING IS DONE)

'75 ™ HOWEVER IF "OR"™ DOES NOT SET WITHIN "WAT™ COUNT

& t DOWN AN ERROR IS REPORTED

77 RHDB IS READ AND CHECKED TO CONTAIN ZEROS
5.8 ¥ RHCS2 WILL BE CHECKED TO HAVE “IR"™ AND UNIT NUMBER
4179 ¥ RHCS!, RHCS3, RHBA, RHBAE , RHWC, WILL BE CHECKED TO HAVE
4180 ;¥ APPROPIATE VALUES
4191 *RERREEREREEEERREEEEREREEEEREXRREEREEEEELEEEERERELREERRXEEEEEEE2E
4182 013570 0O0OOM ter11: SCOPE
4183 013572 Q12706 051009 MOV 8STACK, SP :RESET STACK
3§gg 81366 C£12737 000011 004856 MOV 211 2s1STNM 'SAVE TEST NUMBER
4186 013604 004737 (40312 JSR PC, 38CLDISK +GIVE RH INITIALIZE
4187 :SETUP UNIT NUBER
3133 :CLEAR RHMWC AND FUNCTION BITS IN RKCSI
4190 « CHECK THQT nncse HAS IR
418] 013610 012737 000100 001124 AV $GODAT :GET GOOD = 100
3135 0i3c!p 053737 0OSC0I0 001134 BIS unrf $GODAT : INCLUDE UNIT NUMBER
4194 013624 017737 170240 001126 MOV JRHCS2.$BDDAT  ;READ RHCS2 FOR COMPARISON
4igc O013c32 023737 001124 001126 CMP $GODAT, $B0DAT  ; COMPARE EXPECTED
3%39 onrgauxrn DATA READ FROM
4198 013e4C 001401 BEQ 858 :BRANCH IF GOOD
4139 013642 174008 ERROR &
4200 :AFTER SETTING CLR BIT 5
4201 :IN RHCS2 TO INIT THE RH
4202 :AND HAVING DONE NOTHING ELSE
3533 nncge SHOULD HAVE IR
4205 ! TOGETHER WITH UNIT NUMBER
4206 :BUT CONTAINED WHAT IS
4207 tGIVEN IN BRD RHCS2
:553 013644 BSS:
4210 -WRITE uNE WORD OF ALL ZEROS INTO RHDB
i1l 013 005077 170232 {LR RHDB WRITE O IN RHDB

(<4
4213 ;WAIT FOR OR BIT IN RHCS2 REGISTER 10 SET
4214 013850 10941l WAT TRAP TO WAIT.T SUBROUTINE

4215 013eS52 (004070 RHCSZ :AND WRIT FOR OR BIT IN




MRINDEC-11-DERHAB-R

DERHRB. SRC

4216
:2%7
413
4220
4c2l
422
422
4224
4225

Tl
013654 02020C

012737
Cir73?
023737

C1401
04007

013704

013704
013712

013720
0i3726

012737
053737

017737
023737

013734 Dg

0
013736 !

1401
4010

013740
013740

013746
013754

012737
017737
023737

D137¢ee
013784

001401
104011

MACY1] 37(732) 22-SEP-76
SILO TEST 1 (ONE WORC WRITE)

OR

18:11

GO7

PHGE 86

;CHECK THAT RHDB MAS O

0000G0 001124 MOV

; CHECK THAT RHCSE HARS IR

170212 301126 MOV
0C1124 001126 CMP
BEQ
ERROR
678:
000100 001124 AoV
00S010 001124 BIS
170144 001126 MOV
goila4 001136 CMP
BEQ
ERROR
69S:
004200 D0O1124 MOV
170106 001126 MOV
001124 00!126 CMP
BEQ
ERRCR

80, SGDDART
JRHDB, SBODAT
$GODAY, $80DAT

E7S
7

$IR, $GODAT
UNIY, $GODAT

JRHCS2, $BODAT
$GODAT, $BODAT

698
10

#DVR!RDY, $GDDAT
JRHCS1, $BDOART
$GDDAT, $BODRT

713
11

o

[N

- -
'

;RHCS2 REGISTER .
: 1F ERRCR OCCURS HERE

éETnEOR TH FULL CONT Y{

:DOWN OF THE WAIT.T SUBROUTINE
:THIS TIME IS APPROXIMATEL :
;LARGER THAN 500 MILLISECONDS

;GET GOOD =

:READ RHDB FOR_COMPARISON
: COMPARE EXPECTED ‘
DRTQ WITH DRTA READ FROM

RHDB
BRRNCH IF GOOD

:AFTER CLEARING THE RH
?ND NRIBéNG ALL ZEROS
s THEN RERDING IT BACK
RHDB SHOULD HARVE O

BUT CONTRINED WHAT IS
sGIVEN IN BAD RHDB

;GET GOOD = 10C
s INCLUDE UNIT NUMBER

;RERD RHCSZ2 FOR_CCMPRRISON
: COMPARE EXPECTED
DRTQ WITH DATA RERD FROM

HCS2
BRRNCH IF GOOD

Ny
RFTER CLEARING THE RH o (Qn//
!AND WRITING ALL ZEROS )
: INTO RHDB

; THEN READING IT BACK
RTBEE SHOULD HRVE IR

+ TOGETHER WITH UNIT NUMIER
:BUT CONTAINED WHAT 1S
:GIVEN IN BAD RHCS2

.~
\
.

; CHECK THRT RHCS1 HAS DVA!RDY

;GET GOOD = 4200

;RERD RHCS1 FOR COMPRRISON
s COMPARE _EXPECTED

:DRTA WITH DATA RERD FROM
tRHCS1

;BRANCH IF GOOD




DERHRB.

4272
4273
Mg
4275

4o

SRC

013766
013766

018014
014014
014022
014533

014036
g1u4gg

014042
014042
014080
01405k

014084
C140€ee

HﬂINDEC-ll-DERHﬁB-R

Tl

012737

017737
023737

012737
017737
023737

001401
104013

012737
017737
023737

001401
104014

MACY!l
SILO

718:

000200 001124

170132 QC1126
0Clig24 001126

738:

G0000C 00lled

170036 001126
COll24 001126

758:

000000 O0C1leM

170054 001i26
COll24 001126

HO?

1 g7(732) 22-SEP-76_15:11 PAGE 87
TEST | (ONE WORD WRITED

«CHECK THAT RHCS3 HAS O
AoV #0, SGDDAT

A0V JRHCS3, $B0DAT
CMP $GODAT, $80DAT

:CHECK THAT RHBA HAS O
MOV 80, $GDDAT

MOV "JRHBA, $BODAT
CMP $GDOAY, $80CAT

BEG 75§
ERROR 13

. CHECK THAT RHBRE HAS O
MOV 80, $GDOFT

MOV JRHBAE , $BDDAT
CMP $GDDAT, SBODAT

8EQ 77%
ERROR 14

;AFTER CLERRING THE RH
QND WRITING ALL ZERJS

: INTO RHOB

: THEN READING IT BACK
Rﬁggé SHOULD HAVE DVA!RDY
:BUT CONTAINED WHAT 1S
:GIVEN IN BAD RHCSI

;GET GOJD = 0

;RERD RHCS3 FOR COMPARISON
: COMPARE EXPECTED
DﬂggaﬂlTH DATR RERD FROM

sBRANCH IF GOOD

;AFTER CLERRING THE RH
: AND NRITING ALL ZEROS
: INTO RHDB

s THEN READING IT BACK
:RHCS3 SHOULD HAVE O
:BUT_CONTAINED WHAT IS
:GIVEN IN BAD RHCS3

;GET GOOD =

;READ RHBA FOR_COMPARISON
s COMPARE _EXPECTED
DQTQ WITH DRTA RERAD FRCM

RHBA
BRRNCH IF GOOD

;AFTER CLEARING THE RH
:AND WRITING ALL ZEROS
; INTO RHDB

: THEN RERDING IT BACK
RHBQ SHOULD HRVE G

.BUT CONTAINED WHAT IS
; GIVEN IN BRD RHBR

;GET GOOD =

;RERD RHBAE FOR CCMPARISCN
: COMPARE_EXPECTED
EHTQ WITH DATA READ FRIOM

HBAE
:BRANCH IF GOOD
;AFTER CLEARING THE RH

tAND WRITING ALL ZEROS
; INTO RHDB




MRINDEC-11-DERHRB-A
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4328
5
Ll
332
4333
4334
4335
4335
4337
H338
%339
4349
4341
4342
4343
Y344
434S
4346
4347

C14370
014070

J1407E
Q14104

014116

0o
—
¥ ol B
e poa
nons—
Lo

0i4i3e

C14136
014144

Tl

01737

) g
023737

001401
124018

Q000CH
§12706
012737

004737

012737
053737

MACYll E7(732
SILO TEST 1 ¢

J00000 Q0llzM
167760 001126

0011z4

001000
000012

C40312

000100
0CsCl0

Q31128

004656

001124
001124

)
ON

107

22-SeP-76 15:11 PAGE €8

€ WORD WRITE)

; THEN READING IT BACK
RHBQE SHOULD HAVE O

BUT CONTRINED WHAT IS
:GIVEN IN BAD RHBAE

778:
- CHECK THAT RWWC HARS O
ROV 80, $GODAT :GET GOOD =
MOV SRHWC , $BDDAT -READ RHWC FOR COMPARISON
CMP $GODAY,$80DAT I COMPARE EXPECTED
gﬁag WITH DATA READ FROM
BEQ 79§ *BRANCH IF GOOD
ERPOR 15
sAFTER CLEARING THE RM
'AND WRITING ALL ZEROS
: INTO RHDB
: THEN READING IT BACK
RHHC SHOULD HAVE 0
BUT CONTRINED WHAT IS
233 :GIVEN IN BAD RHWC

cEREEREREAEEREEEEE SR EERRLEEEEEEEEEREREELER XL LR LR ECRREEEEE

ivssr 12 SILO TEST 2 (ONE WORD WRITE)

AFTER A RH CLEAR IS GIVEN (SET BIT #5 IN RHCS2)

RHCS2 IS CHECKED TO HAVE "IR" (BIT #6) HIGH

TOGETHER WITH UNIT NUMBER

gvsugegg OF ALL ONES IS WRITTEN INTO RHDB

“OR” (BIT #7) IS WAITED FOR BY A TRAP INSTRUCTION

CALLED "WAT™ (NO TIMING IS DONE)

HOWEVER IF “OR™ DOES NOT SET WITHIN “WAT™ COUNT

DOWN AN ERROR 1S REPORTED

RHDB IS RERD AND CHECKED TO CONTAIN ALL ONES

RHCS2 WILL BE CHECKED TO HAVE “IR" AND UNIT NUMBER

RHCSI, RHCS3, RHBR, RHERE ,RHWC, WILL BE CHECKED TO HAVE

APPROPIATE VALUES

. #Ts***;ES;E****i*i***i*******!*****************i************i**
MOV $5TACK, SP :RESET STACK
MOV 212, astSTAM :SAVE TEST NUMBER

JSR PC,a8CLDISK ;GIVE RH INITIALIZE
tSETUP UNIT NUBER
:CLEAR RHWC AND FUNCTION BITS IN RHCS!

L xR LR TR LR LR LI LI TR Y AR ¥ BT I XY

ue *********#***

- CHECK anr anse HAS IR
fov $GODAT :GET GOOD = 100
BIS unzf $GODAT : INCLUDE UNIT NUMBER




4384
4385

014182
0141860

0iv166
01N170

014172

014172

014200
01420¢
014204

0i4236
Ci4214
0i4222

Q14230
814232

014234

014234
04242

014250
0l42s8

HRINDEC-!I-DERHQB-Q
DERHAB. SRC T1e

017737
023737

0C1401
104006

012777

104411
0Q4070
000200

012737
Q17737
023737

001401
134007

C12737
053737

017737
023737

MRCY1]l 27(732) 22-SEP-76 1S:1!
SILO TEST 2 (ONE WORD WRITE)
167712 301136 MOV
001124 Q01126 CHP
BEG
ERROR

Jov7

PAGE 89

gRHCSZ, $B0DAT
$GDDAT, $BDDAT

£c%
&

;WRITE ONE WORD OF ALL

#177777 ,dRHCB

;RERD RHCS2 FOR COMPRRISCM

: COMPARE _EXPECTED
SQTQ WITH DRATA READ FROM

;BRANCH IF GOOD

;RFTER SETTING CLR BIT a5
:IN_RHCS2 TO INIT THE RH
:AND_HAVING DONE NOTHING ELSE
RTSgB SHOULD HAVE IR

s TOGETHER WITH UNIT NUMBER
:BUT _CONTAINED WHAT 15

sGIVEN IN BAD RHCS2

CNES INTO RHDB
;WRITE |1

IN RHOB

;WRIT FOR OR BIT IN.RHCS2 REGISTER TO SET

STRAP T0 WAIT.T SUBRCUTINE
'AND WAIT FOR OR BIT IN

'RHCS2 REGISTER ﬂ
' IF ERROR OCCLRS MERE 5
1T MEANS “OR™ DID NOT

!SET FOR THE FULL COUNT

'DOWN OF THE WAIT.T SUBROUTINE

'THIS TIME IS APPROXIMATELY

' LARGER THAN 500 MILLISECONDS

; CHECK THAT RHDB HRS 177777

65%:
177777 167702 MOV
HAT
RHCSe
OR
177777 00112y MOV
167662 001126 MOV
001124 001126 CMP
BEQ
ERROR
£7%:
000i00 001la4 AoV
005010 001124 BIS
167614 001126 MOV
001124 001126 CMP

8177777 ,3GDDART

ARHDB, $BDDAT
$GOORY, $BODAT

678
7

; CHECK THAT RHCS2 HRS IR

#IR, SGDDAT
UNIt, $GDDAT

JRHCS2, $3DDAT
$GDDAT, §BODAT

:GET GOOD = 0

;RERD RHDSB FOR COMPARISON
s COMPARE_EXPECTED

8258 WITH DATA READ FROM
:BRANCH IF GOOD

;AFTER CLEARING THE RH
:AND WRITING ALL ONES

s INTO RHDB

:THEN RERDING IT BACK
:RHDB SHOULD HAVE 177777
:BUT _CONTRINED WHAT IS
:GIVEN IN BAD RHDB

;GET GOOD = 100
s INCLUDE UNIT NUMBER

sRERD RHCS2 FOR COMPARISON
COMPQRE EXPECTED

DRTR WITH DATR RERC FROM
RHLSE




MRINCEC-11-DERHAS-R
DERHRB.SRC T12

4440 014264 201401
4441 Ji4Zee 104010
444

44y

4444
4445
Y45
4447
4448
4449
4450
§45]
4452
4453
4454
4455
4455
4457
44EQ
4453 0l
4450 01
4461
446¢
463
444
44ES
4466
4467
4458
4469
4470
4471
4473
4473
447y
4475
4476
4477 0
4478 0
4479
4480
4481
4482
4483
4434
44B5
4485
4487
4488
4489
4450
4491
4492
4493
4494
4435

014270
014270 012737

014276 017737
014304 023737

014316
014316

014324
014332

012737

017737
023737

014344
014344

014352
014360

012737
017737
023737

01436 (001401

KO?7

MACY1] 27(732) @22-SEP-76 15:11 PRGE 90
SI.0 TEST 2 (ONE WORD WRITE)

BtQ 69%

ERROR 10

69%:
. CHECK THAT RHCS3 HAS O
000000 001124 MOV 80, $GODAT
167630 001126 MOV IRHCS3, SBDDAT
001124 00I12€ CMP §GDOAT, $BCDAT
BEQ 71%
ERROR 12
71%:
ﬂnscx THAT RHBA HAS O
000000 001124 OV %0, SGDDAT
167534 001126 MOV JRHBRA, $BODAT
Coliay 001126 CMP §GDDAY, SBODAT
BEQ 738
. ERROR 13
73%:

; CHECK THAT RHBRE HAS O

000000 001124 MOV 80, SGODAT

167552 001126 MOY JRHBAE , $80DAT

001124 001126 CMP $GDDAT, $8ODAT
BEQ 75%

;BRANCH IF GOOD

;RFTER CLERRING THE RM

QNO WRITING ALL ONES
; INTO RHDB

THEN READING IT BA

RTBSE SHOULD HAVE

s TOGETHER WITH UNIT NUMBER
:BUT_CONTAINED WHAT IS
:CTVEN IN BAD RHCS2

0-4(‘)

;GET GOOD =

;RERD RHCS3 FOR COMPARISCN
: COMPARE EXPECTED
gﬂggaulTH DATR READ FRCM

:BRANCH IF GOOD

;AFTER CLEARING THE RH
1 AND NRITING ALL ONES
: INTO RHDB

; THEN _READING IT BACK
RHCSB SHOULD HAVE O

BUT CONTRINED WHAT IS
:GIVEN IN BAD RHCS3

;GET GOOD =

:RERD RHBA FOR COMPARISON
; COMPARE _EXPECTED

:DATA WITH DATA READ FROM
: RHBA

:BRANCH IF GOOD

;AFTER CLEARING THE RH
:AND WRITING ALL ONES
:INTO RHCB

: THEN READING IT BACK
RHBR SHOULD HAVE O

BUT CONTAINED WHRT IS
:GIVEN IN BRD RHBA

;GET GOOD =

;READ RHBAE FOR COMPARISON
: COMPARE_EXPECTED
:DATA_WITH DATA READ FRCM
s RHBAE

:BRANCH IF GOOD




DERHRB

.SRC
014370

014372
014372
014400
C14406

OI4414
014416

014420

014420
Jl44ece
0i4426

014434

MRAINDEC-11-DERHAB-RA

T12
104014

212737
017737
023737

001401
104C1S

000004
0127086
012737

004737

LO7

MRCY1]l 27(732} 22-SEP-76 15:11 PRGE Sl
SILO TEST 2 (ONE WORD WRITE)

ERROR 14

758
' . CHECK THAT RHWC HAS O
000000 001124 FOV %0, SGODRT

167456 001126 MOV JRHWC, $BDDAT
001124 001126 CMP $GODAt, $BODAT

BEQ 77%
ERROR 15

778:

:AFTER CLEARING THE RH
'AND WRITING PLL ONES
: INTO RMDB

: THEN READING IT BACK

'RHBAE SHOULD HAVE G

{BUT CONTAINED WHAT IS
!GIVEN IN BAD SHBAE

;GET GOOD =

;READ RHWC FOR COMPARISON
; COMPARE EXPECTED
;DATA WITH DATA READ FROM

; RHWC
; BRANCH IF GOOD

;AFTER CLEARING THE RH
;AND WRITING ALL ONES
; INTO RHDB

: THEN READING IT BACK
:RHWC SHOULD HAVE O

:BUT CONTAINED WHAT IS
!GIVEN IN BAD RHWC

;-*******************************ii*******i*i*!*i!**!i*!!****i!**
&TEST 13 SILO TEST 3 (TWC WORD WRITE)

CONTAIN 126252

e WA ws WY BB a0 Wwe »

RFTER A RH CLEAR IS GIVEN (SET BIT #5 IN RHCS2)
RHCSZ IS CHECKED TO HAVE
TOGETHER WITH UNIT NUMBE
ONE WORD = 52525 IS WRITTEN INTO RHDB

RHCS2 IS CHECKED TO HAVE "IR™ AND UNIT NUMBER

A SECOND _WORD = 12525 IS WRITTEN INTO RHDB

“OR™ (BIT #7 IN RHCS2) IS WAITED FOR BY A TRAP
INSTRUCTION CALLED “WAT"

RHDB_IS RERD AND CHECKED TO CONTRIN 52525

RHCS2 IS CHECKED TO HAVE “IR™, "OR™ AND UNIT NUMBER
RHDB 15 READ A SECOND TIME AND CHECKED TO

R“IR" (BIT #6) HIGH,

RHCS2 1S CHECKED TO HAVE "IR™ AND UNIT NUMBER
THEN ALL REGISTERS RHCSI
ARE CHECKED TO HAVE APPROPIATE VALUE

RHCS3, RHBA, RHBAE, RHWC

P RREERERLREEEREEEEREREXEREEREE R EEEREAREEERERAEER R ERRRERR RS 2R

—
U+ o o i MK I i R R K K i i K ol MK

T13: SCOPE
001000 MOV $STACK, SP
000013 004656 MOV $13,3ut5TONM

040312 JSR PC,d#CLDISK

;RESET STACK
; SAVE TEST NUMBER

;GIVE RH INITIALIZE




MRINDEC-11-DERHRB-R
DERHRB. SRC

4552
4553
4554
4555
4556
485?
4559

4594
4535

4597
4538
4599
4600
460]
4602
4603
4£04
4605
HEJE
4607

014440
Cl4446

014454
014462

014470
018472

T13

012737
CS3737
017737
023737

J01401
104008

01277

104411
004970
gocz00

012737
053737

017737
023737

001401
104018

QC0i00
005010

167410
001teH

0S2525

000330
005610

167340
0011le4

00lle4
00i1e4

001126
0C11es

167400

2e-SEP-76_ 1S:11
(TWO WORD WRITE)

6SS:

s CHECK THART RHCS2 HRS IP

MOV
BIS

MOV
chP

BEQ
ERROR

MO?7

PHGE 92

2IR, $GODAT
UNIt, $GDDAT

JRHCSZ, $BODAT
$GDDAT, $BODAT

653
&

; SETUP UNIT NUBER
:CLEAR RHWC AND FUNCTION BITS IN RHCS!

;GET GOOD = 100
: INCLUDE UNIT NUMBER

;READ RHCS2 FOR COMPARISON
COMPRRE EXPECTED

:DATA WITH DATA RERD FROM
s RHCS2

BRQNCH IF GOGD

;RFTER SETTING "CLR™ BIT #5
: IN RHCS2 TO INIT THE RH
:AND HAVING DONE NOTHING ELSE

RHBSE SHOULD HRVE IR
: TOGETHER WITH UNIT NUMBER

:BUT CONTAINED WHAT IS
:GIVEN IN BAD RHC32

;WRITE ONE WORD = 52625 INTO_RHDB

fov

#52525, JRHDB

;WRITE IN RHDB

;WRAIT FOR OR BIT IN RHCS2 REGISTER TQ SET

WAT
RHCS2
OR

fOV
BIS

MOV
CMP

BEG
EFRCR

#IR!OR, $GDDAT
UNIT,SGDDAT

JRHCS2, $BDDAT
$GODAT